
Q1) a) Answer the following questions in one sentence (6 out of 9) [6]

i) What was Shakespeare's mother?

ii) According to Virginia Woolf. What forced Shakespeare to seek his
fortune in London?

iii) How was Marriage for Judith?

iv) What time does the story 'After Twenty years' begin?

v) Where were Jimmy and Bob Raised?

vi) Where was the man from the west learning in the story 'After twenty
years'?

vii) Who is the author of the story ' The conjuror's Revenge'?

viii) How did the audience react to the 'Quick Man'?

ix) What is the mood of the audience in 'The Conjuror's Revenge'?

b) Answer the following questions (Any 2 out of 3) [14]

i) How and why did society in the sixteenth century suppressed talented
women like Judith?

ii) Write a short note on 'Silky Bob's appearance.

iii) Write a note on the character of the Quick Man.
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Q2) a) Answer the following questions in a sentence each. (6 out of 9) [6]

i) Who is the poet of the poem 'The Man of Life Upright'?

ii) How does Upright Man consider this world?

iii) What cannot 'delude' the Upright Man?

iv) How is the money madness according to D.H. Lawrence?

v) How are people, without money, treated according D.H. Lawrence?

vi) According to D.H. Lawrence, what things should be made available
free of cost to the people in the world?

vii) Why was the child beaten by the father in the poem 'The Toys'?

viii) Where was the mother of the son when the poet punished his son?

ix) Why did the poet visit the bedroom of his son in the poem
'The Toys'?

b) Attempt the following questions. (Any 2 out of 3) : [14]

i) Write a note on the character of the 'Upright Man'.

ii) How does D.H. Lawrence show that the possession of money is a
kind of madness?

iii) Write a note on the character of a child depicted in the poem 'The
Toys'.

Q3) Do as directed :

a) Change the following sentences into 'yes-no' questions. (Any 3 out of 5)
[3]

i) Rajesh has taken his Medicines

ii) This is made of sugar

iii) Maya is Kunal's sister

iv) The stadium is already full

v) This food is not edible.
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b) Change the following sentences into Wh-question. (Any 3 out of 5) [3]

i) The tea tasted bitter.

ii) Prabha has three pet dogs.

iii) He left home because he felt lonely.

iv) Lata is playing cricket.

v) Mumbai is 200 K.M. from Pune

c) Change the following sentences into negative sentences. (Any 4 out of 6)
[4]

i) Put away the crockery

ii) You take your breakfast here

iii) Turn up the heat

iv) Write neatly

v) Look at the sky

vi) Give him your books

Q4) Answer the following questions in brief. (Any 2 out of 3) [10]

a) Write an email to your friend telling her how much you like the vacation
photos she posted online.

b) Write a short not on the 'use of graphs'.

c) Imagin that you are a patient suffering from sever headache and you go
to a doctor to consult him. Write a dialogue based on this situation.

Q5) Answer the following questions in brief : (any 2 out of 3) [10]

a) What are some of the effective ways of Managing stress, according to
you?

b) What are the benefits of positive attitude?

c) Explain the terms 'goal' and 'goal setting'.


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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 50 eãXmV {bhm. [10]
A) noedoH$mbrZ gm§ñH¥${VH$ nmíd©̂ y‘rMm WmoS>³¶mV AmT>mdm ¿¶m.
~) em{har dmL²>‘¶mMo ñdê$n d d¡{eï>ço WmoS>³¶mV {bhm.
H$) ~Ia dmL²>‘¶mMr àoaUm d àd¥Îmr {bhm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n¶ªV {bhm. [20]
A) g§V VwH$mam‘mÀ¶m A §̂JmÀ¶m AmYmao gm‘m{OH$ n[apñWVrMo {MÌU H$am.
~) g§V am‘XmgmÀ¶m dmL²>‘¶mMo ñdê$n gmoXmhaU {bhm.
H$) {edH$mbrZ gm‘m{OH$ d gm§ñH¥${VH$ nmíd©̂ y‘r gmoXmhaU ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§n¶ªV {bhm. [20]
A) n§{S>Vr dmL²>‘¶mMo ñdê$n ñnï> H$ê$Z n§{S>Vr dmL²>‘¶mMr d¡{eï>²¶o ñnï> H$am.
~) em{har dmL²>‘¶mÀ¶m àoaUm d àd¥Îmr ñnï> H$ê$Z ¶m dmL²>‘¶mMm n[aM¶ H$ê$Z X²¶m.
H$) "AZ§V ’§$Xr' d "hmoZmOr ~mim' ¶m em{ham§À¶m dmL²>‘¶mMm AmT>mdm ¿¶m.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr 200 eãXm§n¶ªV CÎmao {bhm. [20]
A) "~Ia' åhUOo H$m¶? Vo gm§JyZ {edH$mbrZ ~IarMo ñdê$n gmoXmhaU ñnï> H$am.
~) H¥$îUmOr AZ§V g^mgX {b{IV "g^mgXmMr ~Ia' ¶m ~IarMo {deof gmoXmhaU ñnï> H$am.
H$) am‘M§Ðn§V Am‘mË¶ ¶m§À¶m "AmkmnÌ' JÚJ«§WmMo ñdê$n gmoXmhaU ñnï> H$am.


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URDU
 DSE-1D (S-3) : Forms of Urdu Poetry

 (Study of Qaseeda & Ghazal (Old S-III)
 (2019 Pattern) (CBCS) (Semester - VI) (36071)

Time : 3 Hours] [Max. Marks : 70

 


[10]  




[15]   




[10]  

 



[15]   

 

P.T.O.
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[10]    
  

  
 





 (3

  (4

  (5

  (6

  (7

[10]    
 


 






 





 


 






 


  
 
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[6041]-604
T.Y.B.A

HINDI (qhXr)
DSE- 1 D (S-3) : qhXr gm{hË¶ H$m B{Vhmg (AmYw{ZH$ H$mb gm‘mÝ¶ n[aM¶)

(2019 Pattern) (CBCS) (Semester - VI) (36091)

g‘¶ : 2½ K§Q>o] [ nyUmªH$ : 70
gyMZmE± … 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa àíZ Ho$ nyUmªH$ h¡&

P-143

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {b{IE& [14]

A) qhXr gm{hË¶ Ho$ AmYw{ZH$ H$mb H$s Ym{‘©H$ n¥ð> ŷ{‘ na àH$me S>m{bE&

~) ~{ÐZmam¶U Mm¡Yar "ào‘YZ' H$m gm‘mÝ¶ n[aM¶ Xr{OE&

H$) ^maV|Xþ¶wJrZ H$mì¶ H$s gm‘mÝ¶ {deofVmE± {b{IE&

S>) ‘¡{WbreaU Jwá Ho$ gm{hpË¶H$ ¶moJXmZ na àH$me S>m{bE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) N>m¶mdmXr H$mì¶Ymam na g§jon ‘| àH$me S>m{bE&

~) àJ{VdmXr H$mì¶ H$s à‘wI {deofVmE± {b{IE&

H$) ‘hmXodr d‘m© Ho$ H$mì¶ ‘| {dah H$s àYmZVm h¡, ñnï> H$s{OE&

S>) à¶moJdmX ‘| Ako¶ Ho$ ¶moJXmZ H$mo ñnï> H$s{OE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {b{IE& [14]

A) qhXr JÚ Ho$ {dH$mgH«$‘ H$m gm‘mÝ¶ n[aM¶ Xr{OE&

~) qhXr I‹S>r~mobr Ho$ {dH$mg ‘| ’$moQ>© {d{b¶‘ H$m°boO Ho$ ¶moJXmZ H$mo ñnï> H$s{OE&

H$) ào‘M§Xnyd© qhXr H$hmZr Ho$ {dH$mgH«$‘ H$m {ddoMZ H$s{OE&

S>) ZmQ>H$ Ho$ CX²̂ d Am¡a {dH$mg H$mo {dñVma go à{Vnm{XV H$s{OE&

[Total No. of Pages : 3
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à.à.à.à.à.4) {Q>ßn{U¶m± {b{IE& (6 ‘| go 3) [21]

A) ^maV|Xþ h[aíM§Ð

~) A¶moÜ¶mqgh CnmÜ¶m¶ "h[aAm¢Y'

H$) O¶e§H$a àgmX

S>) am‘Ymar qgh {XZH$a

B) ’$moQ>© {d{b¶‘ H$m°boO

’$) CnÝ¶mgg‘«mQ> ào‘M§X

à.à.à.à.à.5) {ZåZ{b{IV ~hþ{dH$ënr¶ àíZm| ‘| go {H$Ýht gmV Ho$ CÎma {b{IE& [7]

i) "{à¶àdmg' Ho$ aMZmH$ma H$m¡Z h¡?

A) Ako¶ ~) A¶moÜ¶mqgh CnmÜ¶m¶ "h[aAm¢Y'

H$) ‘mohZ amHo$e S>) Y‘©dra ^maVr

ii) {H$g ¶wJ H$mo ZdOmJaU H$mb ^r H$hm OmVm h¡?

A) {ÛdoXr ¶wJ ~) Am{XH$mb

H$) ar{VH$mb S>) ^{º$H$mb

iii) ‘hmdraàgmX {ÛdoXr Or Zo {H$g n{ÌH$m H$m g§nmXZ {H$¶m?

A) h§g ~) AmbmoMZm

H$) a§J{d‘e© S>) gañdVr

iv) O¶e§H$a àgmX {H$g H$mì¶Ymam Ho$ H${d h¡?

A) N>m¶mdmX ~) {ÛdoXr ¶wJ

H$) à¶moJdmX S>) àJ{VdmX
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v) BZ‘§o go {H$g H$d{¶Ìr H$mo AmYw{ZH$ ‘ram H$hm OmVm h¡?

A) ‘‘Vm H$m{b¶m ~) AZm{‘H$m

H$) ‘hmXodr d‘m© S>) ‘¥Xþbm JJ©

vi) "VmagáH$' Ho$ g§nmXH$ H$m¡Z h¡?

A) ‘mohZ amHo$e ~) O¶e§H$a àgmX

H$) {dZmoX añVmoJr S>) Ako¶

vii) ’$moQ>© {d{b¶‘ H$m°boO H$s ñWmnZm H$hm± hþB©?

A) amOñWmZ ~) Ah‘Xm~mX

H$) H$bH$Îmm S>) {e‘bm

viii) qhXr CnÝ¶mg H$s {dH$mg ¶mÌm H$m H|$Ð q~Xÿ {H$go ‘mZm OmVm h¡?

A) ‘hmXodr d‘m© ~) ào‘M§X

H$) h[ae§H$a nagmB© S>) Ako¶

ix) "H§$H$mb' Am¡a "{VVbr' CnÝ¶mg Ho$ CnÝ¶mgH$ma H$m¡Z h¡?

A) O¶e§H$a àgmX ~) ào‘M§X

H$) Y‘©dra ^maVr S>) ‘mohZ amHo$e

x) ‘¡{WbreaU Jwá X²dmam {b{IV ‘hmH$mì¶ h¡ -

A) H$m‘m¶Zr ~) gmHo$V

H$) {à¶àdmg S>) AmYo-AYyao


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[6041]-605
T.Y. B.A.

SANSKRIT (g§ñH¥$V)
DSE-1D : Laghusiddhanta Kaumudi Vaidik Vangamyasya Itihas

(2019 Credit Pattern) (Semester - VI) (36111)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P144

à.à.à.à.à.1) A) Explain any two of the following : [10]
nwT>rbn¡H$s H$moUË¶mhr Xmohm|Mo ñnï>rH$aU H$am :

i) Z‘: ñdpñVñdmhmñdYmb§dfS²>¶moJmƒ&

ii) {dà{VfoYo na§ H$m¶©‘²&

iii) N>o M&

B) Explain any two terms of the following : [5]

nwT>rbn¡H$s H$moUË¶mhr XmoZ g§km ñnï> H$am :

i) A{YH$aU‘²

ii) H$aU‘²

iii) àm{Vn{XH$mW©:

à.à.à.à.à.2) A) Split any four of the following by quoting relevant rule : [10]

nwT>rbn¡H$s H$moUË¶mhr Mmam§Mm g§~§{YV gyÌo d dm{V©Ho$ CX²Y¥V H$ê$Z g§{Y{dJ«h H$am :

i) ^mo Xodm:

ii) ‘ZmoaW:

iii) eå^yamOVo

iv) CËWmZ‘²

v) {edmo@À¶©:

vi) {dîUwñÌmVm

[Total No. of Pages : 2
SEAT No. :
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B) Match of the following. (Any Five) : [5]
¶mo½¶ OmoS²>¶m Owidm. (H$moUË¶mhr nmM)
i) dm A) gw{Q>
ii) h{b Am) {f
iii) h{e B) VwH²$
iv) Znao B©) Z:
v) {e C) M
vi) Vmo: D$) gd}fm‘²
vii) g‘: F$) e[a

à.à.à.à.à.3) Write an essay on H$ën and {ejm doXm§J. [15]
H$ën Am{U {ejm ¶m doXm§Jm§da {Z~§Y {bhm.

OR/qH$dm
Write an essay on {Zê$º$ doXm§J.
{Zê$º$ ¶m doXm§Jmda {Z~§Y {bhm.

à.à.à.à.à.4) A) Write critical notes on any two. [10]
H$moUË¶mhr Xmohm|da {ddoMH$ Q>rnm {bhm.
i) Y‘©gyÌm{U
ii) ‘yÊS>H$mon{ZfX²
iii) AmaÊ¶H$‘²

B) Match the pairs. (Any five) [5]
¶mo½¶ OmoS>çm Owidm. (H$moUË¶mhr nmM)
i) G ½doX: A) gm‘doX:
ii) ew³b¶Owd}X: Am) ì¶mH$aUñ¶ H$mËñÝ¶©‘²
iii) H¥$îU¶Owd}X: B) àíZmon{ZfX
iv) gm‘doX: B©) O¡{‘Zr¶ Amaì¶H$‘²
v) AWd©doX: C) ‘¡Ìm¶Ur¶maì¶H$‘²
vi) {Zê$º$‘² D$) ~¥hXmaì¶H$‘²
vii) ZmaXr¶ {ejm F$) em§Im¶Z Amaì¶H$‘²

à.à.à.à.à.5) Write an essay in sanskrit (any one) [10]
Imbrbn¡H$s H$moUË¶mhr EH$mda g§ñH¥$VmV {Z~§Y {bhm.
i) Aqhgm na‘mo Y‘©:&
ii) dm½ ŷfU§ ̂ yfU‘²&
iii) àXÿfUg‘ñ¶m&


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DSE-1D : International Economics - II
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
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Q1) Answer the following questions in one or two sentence each (Any Eight):[16]

a) Write the full form of ‘SAARC’.

b) What is mean by ‘Fixed Exchange Rate’?

c) What is Foreign Direct Investment?

d) What is Free Trade?

e) When was the European Economic Community (EEC) established?

f) What is full form of ‘FEMA’?

g) What is ‘Bilateral Loans’?

h) Where is the headquarters of World Trade Organization (WTO)?

i) Write the meaning of Special Economic Zones (SEZs)?

j) State name the member countries of ‘BRICS’.

P.T.O.
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Q2) Write the answers to the following questions in brief: (Any Four) [16]

a) Explain the functions of ‘World Trade Organization’.

b) Write the salient features of India’s Foreign Trade Policy 2015-2020.

c) Write the problems of Foreign Capital in brief.

d) Explain the functions of ‘SAARC’.

e) Explain the convertibility of rupee on current account.

f) Explain the functions of ‘BRICS’.

Q3) Write the answers to the following questions in 100 words each: (Any Three)
[18]

a) Explain the role of Foreign Trade in economic development.

b) Explain the functions of Foreign Exchange Market.

c) Explain the functions of European Economic Community (EEC).

d) Explain the types of Foreign Investment.

Q4) Write the answers to the following questions in 200 words each: (Any Two)[20]

a) Explain the arguments in favour and against of Protective Trade Policy.

b) What is Flexible Exchange Rate? Explain the Merits and Demerits of
Flexible Exchange Rate.

c) State the meaning of Foreign Capital and explain the role of Foreign
Capital in Economic Development.


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Total No. of Questions : 4]

[6041]-606
T.Y.B.A.

ECONOMICS
DSE-1D : International Economics - II

(2019 Pattern) (CBCS) (Semester - VI) (36151) (Special Paper - III)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P145

à.à.à.à.à.1) Imbrb àíZm§Mr EH$ Vo XmoZ dm³¶mV CÎmao {bhm. (H$moUVohr AmR>) [16]

A) gmH©$Mo nyU© ê$n {bhm.

~) pñWa {d{Z‘¶ Xa åhUOo H$m¶?

H$) àË¶j naH$s¶ Jy§VdUyH$ åhUOo H$m¶?

S>) ‘yº$ ì¶mnma åhUOo H$m¶?

B) ¶wamo{n¶Z Am{W©H$ g‘wXm¶mMr ñWmnZm Ho$ìhm Pmbr?

’$) "’o$‘m' Mo nyU© ê$n H$m¶ Amho?

¶) {Ûnjr¶ H$O} åhUOo H$m¶?

a) OmJ{VH$ ì¶mnma g§KQ>ZoMo ‘w»¶mb¶ H$moR>o Amho?

b) {deof Am{W©H$ joÌmMm AW© {bhm.

d) {~«³gÀ¶m gXñ¶ amï´>m§Mr Zmdo gm§Jm.
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à.à.à.à.à.2) WmoS>³¶mV CÎmao {bhm. (H$moUVohr Mma) [16]

A) OmJ{VH$ ì¶mnma g§KQ>ZoMr H$m¶} WmoS>³¶mV {bhm.

~) ^maVmMo naH$s¶ ì¶mnma YmoaU 2015-2020 Mr R>iH$ d¡{eï>ço {bhm.

H$) naH$s¶ ^m§S>dbmÀ¶m g‘ñ¶m WmoS>³¶mV {bhm.

S>) gmH©$Mr H$m¶} WmoS>³¶mV ñnï> H$am.

B) Mmbw ImË¶mdarb ê$n¶mMr n[adV©{Z¶Vm ñnï> H$am.

’$) {~«³gMr H$m¶} ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) Am{W©H$ {dH$mgmVrb naH$s¶ ì¶mnmamMr ŷ{‘H$m ñnï> H$am.

~) naH$s¶ {d{Z‘¶ ~mOmamMr H$m¶} ñnîQ> H$am.

H$) ¶wamo{n¶Z Am{W©H$ g‘wXm¶mMr H$m¶} {deX H$am.

S>) naH$s¶ Jww§VdUyH$sMo àH$ma ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) g§a{jV ì¶mnma YmoaUmÀ¶m ~mOyMo Am{U {damoYr ¶w{º$dmX ñnï> H$am.

~) ~XbVm {d{Z‘¶ Xa åhUOo H$m¶ Vo gm§JyZ ~XbË¶m {d{Z‘¶ XamMo JwU-Xmof {deX H$am.

H$) naH$s¶ ^m§S>dbmMm AW© gm§JyZ Am{W©H$ {dH$mgmVrb naH$s¶ ^m§S>dbmMr ŷ{‘H$m ñnï> H$am.


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1) All questions are compulsory.
2) Figures to the right indicate full marks.

P146 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any 8 of the following (20 words): [16]

a) Meaning of Retirement.

b) Define Bureaucracy.

c) What is the meaning of Administrative Reforms.

d) What is the meaning of Formal Training.

e) Types of Recruitment.

f) Define Budget.

g) What is the Meaning of Financial Administration.

h) Explain the ways for the Judiciary control over Administration.

i) Explain the ways for the executive control over Administration.

j) Meaning of Promotion.

P.T.O.
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Q2) Attempt any 4 of the following (50 words): [16]

a) Explain the objectives of Retirement.

b) Explain the nature of Administrative Tribunals.

c) Write the importance of Personnel Administration.

d) Explain the types of Training.

e) Explain the control of Executive Branch over Administrative Functions.

f) Explain the control of Legislature over Administration.

Q3) Attempt any 3 of the following (100 words): [18]

a) Explain the features of Bureaucracy.

b) Explain the importance of Administrative Recruitment.

c) Write a note on Participatory Budget.

d) Explain the Judiciary control over Administration.

Q4) Attempt any 2 of the following (200 words): [20]

a) What is the meaning of Recruitment and write its advantages and
disadvantages.

b) Explain the implementation process of Budget.

c) What is the meaning of Administrative Reform and explain the solutions.


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[6041]-607
T.Y.B.A.

POLITICAL SCIENCE
DSE-1D : Public Administration

(2019 Pattern) (CBCS) (Semester - VI) (36161)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P146

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr AmR> àíZm§Mr àË¶oH$s 20 eãXmV CÎmao {bhm. [16]

A) godm{Zd¥Îmr åhUOo H$m¶?

~) ZmoH$aemhrMr ì¶m»¶m {bhm.

H$) àemgH$s¶ gwYmaUm åhUOo H$m¶?

S>) Am¡nMm[aH$ à{ejU åhUOo H$m¶?

B) ^aVrMo àH$ma gm§Jm.

’$) A§XmOnÌH$mMr ì¶m»¶m {bhm.

¶) {dÎmr¶ àemgZ åhUOo H$m¶?

a) àemgZmdarb Ý¶m¶mb¶rZ {Z¶§ÌUmMo ‘mJ© gm§Jm.

b) àemgZmdarb H$m¶Xo‘§S>imÀ¶m {Z¶§ÌUmMo ‘mJ© g§mJm.

d) ~T>Vr åhUOo H$m¶?
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à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao 50 eãXmV {bhm. [16]

A) godm{Zd¥ÎmrMm CÔoí¶ gm§Jm.

~) àemgH$s¶ Ý¶m¶m{YH$aUmMo ñdê$n gm§Jm.

H$) H$‘©Mmar àemgZmMo ‘hÎd {bhm.

S>) à{ejUmMo àH$ma gm§Jm.

B) àemgZmdarb H$m¶©H$mar ‘§S>imMo {Z¶§ÌU ñnï> H$am.

’$) àemgZmdarb H$m¶Xo‘§S>imMo {Z¶§ÌU ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. [18]

A) ZmoH$aemhrMr d¡{eï>¶o gm§Jm.

~) àemgH$s¶ ^aVrMo ‘hÎd ñnï> H$am.

H$) gh^mJr A§XmOnÌH$ {Q>nm {bhm.

S>) àemgZmdarb Ý¶m¶‘§S>imMo {Z¶§ÌU ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr àË¶oH$s 200 eãXmV CÎmao {bhm. [20]

A) ^aVr åhUOo H$m¶ gm§JyZ ^aVrMo JwU-Xmof {bhm.

~) A§XmOnÌH$mÀ¶m A§‘b~OmdUrMr à{H«$¶m ñnï> H$am.

H$) àemgH$s¶ gwYmaUm åhUOo H$m¶ gm§JyZ àemgH$s¶ gwYmaUogmR>rÀ¶m Cnm¶ ¶moOZm gm§Jm.


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Q1) Answer following questions in 300 words each: (Any One) [15]
a) Explain the definition nature and features of contemporary history.

OR
b) Review the archival sources of ancient Indian History.

Q2) Answer following questions in 300 words each: (Any One) [15]
a) Write in detail about World Heritage Sites in India.

OR
b) Explain in detail the various types of media.

Q3) Answer the following questions in 200 words each: (Any two) [20]
a) Explain the application of history to Economics.
b) Give information about natural heritage sites in India.
c) Review briefly the development of newspapers in India.
d) Explain the beginning and expansion of Radio in India.

Q4) Write short notes (Any Four): [20]
a) William Jones.
b) Mumbai archives.
c) World Heritage Committee.
d) Heritage Sites Conservation and Economy.
e) Balshastri Jambhekar.
f) Blog writing.


P.T.O.
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T.Y.B.A.
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.
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à.à.à.à.à.1) Imbrb àíZm§Mo 300 eãXmV CÎma {bhm. (H$moUVmhr EH$) [15]
A) g‘H$mbrZ B{VhmgmMr ì¶m»¶m ñdê$n d d¡{eï>ço ñnï> H$am.

qH$dm
~) àmMrZ ^maVr¶ B{VhmgmÀ¶m nwam{^boIr¶ gmYZm§Mm AmT>mdm ¿¶m.

à.à.à.à.à.2) Imbrb àíZm§Mo 300 eãXmV CÎma {bhm. (H$moUVmhr EH$) [15]
A) ^maVmVrb OmJ{VH$ dmagm ñWim§~m~V g{dñVa {bhm.

qH$dm
~) ‘mÜ¶‘m§Mo {d{dY àH$ma g{dñVa ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZmMr 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) B{VhmgmMo AW©emñÌmer Agbobo Cn¶moOZ ñnï> H$am.
~) ^maVmVrb Z¡g{J©H$ dmagm ñWim~m~V ‘m{hVr Úm.
H$) ^maVmVrb d¥ÎmnÌm§À¶m {dH$mgmMm WmoS>³¶mV AmT>mdm ¿¶m.
S>) ^maVmVrb Z^modmUrMm (ao{S>Amo) àma§̂  d {dñVma ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) {dë¶‘ OmoÝg
~) ‘§w~B© nwam{^boImJma
H$) OmJ{VH$ dmagm g{‘Vr
S>) dmagm ñWi g§dY©Z AmUr AW©H$maU
B) ~miemñÌr Om§̂ oH$a
’$) ãbm°J boIZ


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Q1) Write answers of the questions about 20 words each (any eight): [16]

a) Write Panchamaharrate in Jainism.

b) Write the names of Tribal Tribes found in India.

c) Which is the longest national highway in India.

d) Which are two major organization that manage and regulate air transport
in India.

e) What is non renewable resources?

f) State the favarable factors required for hydropower generation.

g) Give examples of non metalic minerals.

h) Who is called the father of Green Revolution?

i) Where was the first textile mill established in India?

j) What are agro based Industries?

P.T.O.
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Q2) Write short notes in about 50 words (any three): [18]

a) Problems of Textile Industry.

b) Thermal Energy.

c) Metro Train.

d) Buddhism.

Q3) Write the answer of questions in 100 words (any two): [16]

a) Take a detailed look at popular social media.

b) Discuss hydroelectric generating stations in India.

c) Discuss in detail the effects of dairy farming.

Q4) Write the answer of questions in 300 words (any one): [20]

a) Explain factors affecting cotton Textile Industries in India with distribution
of cotton Textile Industries in India.

b) Elaborate types of coal in India with it’s use and distribution.


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[6041]-609
T.Y.B.A.

GEOGRAPHY
DSE 1D - Gg-320 B : Geography of India - II

(2019 Pattern) (Semester - VI) (CBCS) (36201)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>oÝgrb dmnaÊ¶mg nadmZJr Amho.

P148

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) O¡ZY‘m©Vrb n§M‘hmd«Vo {bhm.

~) ^maVmV AmT>iUmè¶m Am{Xdmgr O‘mVtMr Zmdo {bhm.

H$) ^maVmVrb gdm©V bm§~ amï´>r¶ ‘hm‘mJ© H$moUVm?

S>) ^maVmV hdmB© dmhVwH$sMo ì¶dñWmnZ d {Z¶‘U H$aUmè¶m XmoZ à‘wI g§ñWm H$moUË¶m?

B) j¶ gmYZ g§nÎmr åhUOo H$m¶?

’$) Ob{dÚwV {Z{‘©Vrg Amdí¶H$ AgUmao AZwHw$b KQ>H$ gm§Jm.

¶) AYmVw I{ZOm§Mr CXmhaUo gm§Jm.

a) harV H«$m§VrMo OZH$ H$moUmg åhUbo OmVo?

b) ^maVm‘Ü¶o n{hbr H$mnS> {JaUr H$moR>o ñWmnZ H$aÊ¶mV Ambr?

d) H¥$fr AmYmarV CÚmoJ åhUOo H$m¶?
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à.à.à.à.à.2) àË¶oH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) H$mnS> CÚmoJmÀ¶m g‘ñ¶m

~) Am¡pîUH$ COm©

H$) ‘oQ´>mo Q´>oZ

S>) ~m¡Õ Y‘©

à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) à{gÕ g‘mO‘mÜ¶‘o ¶m§Mm g{dñVa AmT>mdm ¿¶m.

~) ^maVmVrb Ob{dÚwV {Z{‘©Vr H|$Ðm{df¶r {ddoMZ H$am.

H$) Xþ½Yì¶dgm¶mMo n[aUm‘ ¶m~m~V g{dñVa MMm© H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr àË¶oH$s 300 eãXmV CÎmao {bhm. (H$moUVohr EH$) [20]

A) ^maVmVrb H$mnS> CÚmoJmÀ¶m ñWm{ZH$sH$aUmda n[aUm‘ H$aUmao KQ>H$ gm§JyZ H$mnS> CÚmoJmMo
{dVaU ñnï> H$am.

~) XJS>r H$moiemMo àH$ma gm§JwZ ^maVmVrb XJS>r H$moiemMo {dVaU d Cn¶moJ ñnï> H$am.


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Q1) Write answer of the questions about 20 words each (any Eight). [16]

a) Name any two facilities that came under school physical facilities.

b) State three major levels of education system in India.

c) Mid-Day meal is a part of which plan?

d) What is Drought?

e) What is Desert Region?

f) When was the National Rural development mission started?

g) Since when Swarna Jayanti Gram Swayam Rojgar Yojana was
implemented?

h) In which District of Maharashtra Hivre - Bazar village is located?

i) Who lead chipko movement?

j) Explain the two objectives of the Hill Development Program.

Q2) Write short note in about 50 words (any Three). [18]

a) Student dropout.

b) Background of benificiary area development program.

c) Steps of setting a self-help group.

d) Dhimakka.
P.T.O.
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Q3) Write the answer of questions in 100 words each (any two). [16]

a) Explain the problems of online education in India.

b) Write the information about the difficulties faced while implementing
Drought Prone Area Development Program in India.

c) Write the characteristics of microfinance.

Q4) Write the answer of questions in 300 words each (any one). [20]

a) Explain the reasons why girls students dropout is more than boys students.

b) Write the field study of your village based on the following points.

i) Geographical

ii) Economical

iii) Social

iv) Cultural


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[6041]-610
T.Y.B.A.

GEOGRAPHY
Gg - 320(B) : DSE-1D : Geography of Rural Development - II

(2019 Pattern) (CBCS) (Semester - VI) (36202)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem ñQ>opÝgb dmnaÊ¶mg nadmZJr Amho.

P149

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 20 eãXmV {bhm. (H$moUVohr AmR>) [16]

A) embo¶ ^m¡{VH$ gw{dYm§‘Ü¶o ¶oUmè¶m H$moUË¶mhr XmoZ gw{dYm§Mr Zmdo {bhm.

~) ^maVmÀ¶m {ejU ì¶dñWoVrb à‘wI VrZ ñVa gm§Jm.

H$) ‘Ü¶mÝh ^moOZ hm H$moUË¶m ¶moOZoMm ^mJ Amho?

S>) Adf©U åhUOo H$m¶?

B) dmid§Q>r àdoe åhUOo H$m¶?

’$) amï´>r¶ J«m{‘U OdZmoÞVr A{^¶mZmMr gwê$dmV Ho$ìhm Pmbr?

¶) ñdU© O¶§Vr J«m‘ ñd¶§amoOJma ¶moOZm Ho$ìhm nmgyZ am~{dÊ¶mV Ambr?

a) {hdao~mOma ho Jmd ‘hmamï´>mVrb H$moUË¶m {OëhmV Amho?

b) {MnH$mo Am§XmobZmMo ZoV¥Îd H$moUr Ho$bo?

d) S>m§oJar {dH$mg H$m¶©H«$‘mMr XmoZ C{Ôï>o ñnï> H$am.

à.à.à.à.à.2) àË¶oH$s 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [18]

A) {dÚmWu JiVr

~) bm^joÌ {dH$mg H$m¶©H«$‘mMr nmíd©̂ y‘r

H$) ñd¶§ghmæ¶Vm ~MV JQ> ñWmnZoÀ¶m nm¶è¶m

S>) {Y‘¸$m
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à.à.à.à.à.3) Imbrb àíZm§Mr àË¶oH$s 100 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [16]

A) ^maVmVrb Am°ZbmB©Z {ejUmÀ¶m g‘ñ¶m ñnï H$am.

~) ^maVmV Adf©U àdU {dH$mg H$m¶©H«$‘ am~{dVmZm H$moUË¶m AS>MUr Amë¶m ¶mMr ‘m{hVr {bhm.

H$) gwú‘ {dÎmnwadR¶mMr d¡{eï>¶o {bhm.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 300 eãXmV {bhm. (H$moUVohr EH$) [20]

A) embo¶ {dÚmWu JiVr‘Ü¶o ‘wbm§nojm ‘wbtMr g§»¶m A{YH$ AgVo ¶mMr H$maUo ñnï> H$am.

~) Amnë¶m JmdmMm joÌmä¶mg nwT>rb ‘wÚm§À¶m AmYmao {bhm.

i) ^m¡Jmo{bH$

ii) Am{W©H$

iii) gm‘m{OH$

iv) gm§ñH¥${VH$


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[6041]-611
T.Y.B.A.

PSYCHOLOGY
DSE-1D : Experimental Psychology (Theory)

(2019 Pattern) (CBCS) (Semester - VI) (36221)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P150 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words (any 4). [20]
a) State the scientific method.
b) Explain the sources of problem statement.
c) State the sampling error.
d) Explain the Fechner’s law of psychophysics.
e) State the sampling distribution.
f) Explain the social scientific research.

Q2) Answer the following questions in 200 words (any 2). [20]
a) What is mean by hypothesis? Explain the types of hypotheses.
b) Define experiment. Explain the types of experiments.
c) What is sampling? Discuss the non-probability sampling.
d) Discuss the methods of human learning.

Q3) Answer the following questions in 400 words (any 1). [20]
a) What is psychophysics? Explain the methods of constant stimuli.
b) Define variable. Discuss the types of variables.

Q4) Short notes (any 2). [10]
a) Point of subjective equality (PSE).
b) Partial Vs. Whole learning.
c) Universal hypothesis.
d) Descriptive research.


P.T.O.
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Total No. of Questions : 4]

[6041]-611
T.Y.B.A.

PSYCHOLOGY
DSE-1D : Experimental Psychology (Theory)

(2019 Pattern) (CBCS) (Semester - VI) (36221)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) gd© àíZm§Zm g‘mZ JwU AmhoV.
3) g§X^m©gmR>r ‘wbm§Zr B§J«OrMr àíZn{ÌH$m nhmdr.

P150

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao 100 eãXm§V X¶m. (H$moUVohr Mma) [20]
A) emór¶ nÕV gm§Jm.
~) g‘ñ¶m {dYmZmMo ñÌmoV ñnï> H$am.
H$) Z‘wÝ¶mMo à‘mX gm§Jm.
S>) ’o$MZaMm ‘Zmô m¡{VH$sMm {Z¶‘ ñnï> H$am.
B) Z‘wZm {dVaU gm§Jm.
’$) gm‘m{OH$ emñÌr¶ g§emoYZ ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 200 eãXm§V X²¶m. (H$moUË¶mhr XmoZ) [20]
A) Aä¶wnJ‘ åhUOo H$m¶? Aä¶wnJ‘mMo àH$ma ñnï> H$am.
~) à¶moJmMr ì¶m»¶m X²¶m. à¶moJmMo àH$ma ñnï> H$am.
H$) Z‘wZmM¶Z åhUOo H$m¶? Ag§̂ mì¶Vm Z‘wÝ¶m~X²Xb MMm© H$am.
S>) ‘mZdr AÜ¶¶ZmMr  nÕVrMr MMm© H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 400 eãXmV X²¶m. (H$moUVohr EH$) [20]
A) ‘Zmô m¡{VH$s åhUOo H$m¶? pñWa CÔrnH$ ñnï> H$am.
~) n[adË¶mªMr ì¶m»¶m X²¶m. n[adË¶m©À¶m àH$m§amMr MMm© H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUË¶mhr XmoZ) [10]
A) ì¶{º${Zð> g‘mZVm q~Xÿ (PSE)
~) A§{eH$ d nyU©
H$) gmd©{ÌH$ Aä¶wnJ‘
S>) dU©ZmË‘H$ g§emoYZ


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[6041]-612
T.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P151 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 100 words each (Any three). [3×5=15]
a) Explain the Objectives of SAARC?
b) Explain the aims of European Union?
c) State the functions of ASEAN.
d) Explain the structure of OPEC.
e) Explain the nature of BRICS.

Q2) Answer the following questions in 300 words each (Any one). [1×15=15]
a) Explain in detail the structure, objectives and role of European Union.
b) Explain in detail the functions and objectives of BIMSTEC.

Q3) Answer the following questions in 200 words each (Any two). [2×10=20]
a) Explain the India’s role in SAARC.
b) Describe the aims and objectives of ASEAN.
c) Explain functions and objectives of OPEC?
d) Trace in detail the BRICS Summits.

Q4) Write short notes (any four). [4×5=20]
a) Future of SAARC.
b) India and European Union.
c) India and OPEC relation.
d) Role of BIMSTEC against Terrorism.
e) BRICS bank.
f) Structure of ASEAN.


P.T.O.
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Total No. of Questions : 4]

6041]-612
T.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
DSE-1D SPL.-3 : Regional Organizations

(2019 Pattern) (CBCS) (Semester - VI) (36271)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P151

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [3×5=15]
A) gmH©$Mr C{Ôï>o ñnï> H$am.
~) ¶wamo{n¶Z ¶w{Z¶ZMo hoVy ñnï> H$am.
H$) Am{g¶mZMr H$m¶} gm§Jm.
S>) AmonoH$Mr aMZm ñnîQ> H$am.
B) {~«³gMo ñdê$n ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [1×15=15]
A) ¶wamo{n¶Z ¶w{Z¶ZMr aMZm, C{Ôï>o Am{U ŷ{‘H$m g{dñVa ñnï> H$am.
~) {~‘ñQ>oH$Mr H$m¶} Am{U C{Ôï>o g{dñVa ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [2×10=20]
A) gmH©$ ‘Yrb ^maVmMr ŷ{‘H$m ñnï> H$am.
~) Am{e¶mZMo hoVy Am{U C{Ôï>o {deX H$am.
H$) AmonoH$Mr H$m¶} Am{U C{Ôï>o ñnï> H$am.
S>) {~«³gÀ¶m {eIa n[afXm§Mm g{dñVa AmT>mdm ¿¶m.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr Mma) [4×5=20]
A) gmH©$Mo ^{dVì¶
~) ^maV Am{U ¶wamo{n¶Z ¶w{Z¶Z
H$) ^maV Am{U AmonoH$ g§~§Y
S>) XheVdmX {damoYr {~‘ñQ>oH$Mr ŷ{‘H$m
B) {~«³g ~±H$
’$) Am{g¶mZMr aMZm


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[6041]-613
T.Y.B.A.
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Texts :- A) A Farewell to Arms Ernest Hemingway
B) The painter of signs R.K. Narayan

(2019 Pattern) (CBCS) (Semester - VI) (36331)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All qeustions are compulsory.
2) Figures to the right indicate full marks.

P-152 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt any THREE of the following questions. [15]
a) Comment the futility of war in ‘A Farewell to Arms’.
b) Describe the use of symbols in ‘A Farewell to Arms’.
c) Elaborate the role of Catherine Barkley in ‘A Farewell to Arms.
d) Discuss the role of Dr. Valentini in ‘A Farewell to Arms’.
e) Comment on the elements of Love is ‘A Farewell to Arms’.

Q2) Attempt any THREE of the following questions. [15]
a) Comment on the setting of the novel ‘A Farewell to Arms’.
b) Explain the narrative technique used by Ernest Hemingway in the novel

‘A Farewell to Arms’.
c) Write a note on the ending of the novel ‘A Farewell to Arms’.
d) How does Henry Suffer in the novel ‘A Farewell to Arms’.
e) Explain the symbolic significance of the title ‘A Farewell to Arms’.

Q3) Attempt any THREE of the following questions. [15]
a) How does ‘The Painter of Signs’ reflect the traditional outlook of the

Indian society?
b) How does R.K. Narayan portray Raman as a protagonist of the novel.
c) Comment on the superstitions nature of the lawyer in ‘The Painter of

Signs’.
d) Describe Daisy as a social activist in the novel ‘The Painter of Signs’.
e) Comment on the beginning of the novel ‘The Painter of Signs’.

P.T.O.
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Q4) Attempt any THREE of the following questions. [15]

a) Discuss ‘The Painter of Signs’ as a regional novel.

b) Elaborate the climatic situations reflected in ‘The Painter of Signs’.

c) How does R. K. Laxman depict Laxmi as an orthodox woman.

d) Discuss the romantic elements in ‘The Painter of Signs’.

e) Describe the minor characters depicted in ‘The Painter of Signs’.

Q5) Attempt any ONE of the following questions. [10]

a) Compare and contract the theme of love and sacrifice in ‘A Farewell to
Arms’ and ‘The Painter of Signs’.

b) How do both the heroes Henry and Raman suffer at the hands of destiny
in the novels, ‘A Farewell to Arms’ and ‘The Painter of Signs’.


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[6041]- 614
T.Y. B.A.

MATHEMATICS
DSE-1D MS - 7 : Complex Analysis

(2019 Pattern)  (CBCS) (Semester - VI) (36341)
Time : 3 Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.

P153 [Total No. of Pages : 2
SEAT No. :

Q1) Attempt any five of the following. [10]
a) Write f (z) = x2 + y2 in terms of z.

b) Find   
1

Lim 2
z i

x i x y
 

  .
c) Define analytic function.
d) State cauchy integral formula.
e) Let u(x, y) = 3x2y2. Find uxx.

f) Find residue of  f (z) = 
1

1 z
 at z = 0.

g) Show that 2 2
1 1 1 .....

2! 3!

ze z
z z z

    

Q2) Attempt any four of the following. [20]
a) Let f (z) = (1– 4 z2)3. Find ( )f z .
b) Show that f (z) = (z2–2) e–x e–iy is entire.
c) Derive the Laurent series representation

 
 
   2 2

0

11 1 1 .
2 ! 11 1

nz

n

ze
e n zz z





 
   

    


d) Find residue of f (z) = z cos 
1
z

 
 
 

 at z = 0.

e) Obtain harmonic conjugate of u(x, y) = y3 – 3x2y.

f) Evaluate ,
c

zdz  C is right half of circle.

P.T.O.



2[6041]-614

Q3) Attempt any four of the following. [20]

a) Let f (z) = ze . Show that f (z) is not differentiable.

b) Find square root of  1 3 i .

c) Find all nth root of unity.
d) Show that u(x, y) = 2x(1–y) is harmonic.

e) Evaluate  
c

f z dz , where C is semicircle and   2.zf z
z




f) Find limit of the sequence 3
1Z ,n i
n

   n = 1, 2,-----.

Q4) Attempt Any two of the following. [20]
a) Show that

 1 2 1 2 1 2Cos Cos Cos Sin Sin .z z z z z z  

b) Let f be analytic everywhere inside & a simple closed contour C taken in
a positive sense if z0 is any point inside C. Then

   
0

0

1 .
2 c

f z
f z dz

i z z




c) i) Find taylor series expansion for

  1
1

f z
z




 at z0 = 0.

ii) Evaluate 4
1

 
z

z

e dz
z

 .

d) Find the value of   3
C 4

dz
z z   taken counter clockwise around the circle

i) | z | = 2
ii) |z + 2| = 3.


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P154 [Total No. of Pages : 2
SEAT No. :

Q1) Write short note (any three). [15]
a) Meaning of survey.
b) Advantages of interview technique.
c) Concept of interpretation in social research.
d) Meaning of qualitative research.
e) Characteristics of participant observation.

Q2) Answer the following questions in 50 words each (any three). [15]
a) State the advantages of using survey method.
b) Explain the features of observation.
c) Discuss the use of narratives in data analysis.
d) Describe the steps in case study method.
e) Precaution for writing research report.

Q3) Answer the following questions in 200 words each (any two). [20]
a) Describe the disadvantages of case study.
b) Discuss in detail the different types of questionnaire.
c) State the disadvantages of median.
d) What are the limitations of quantitative research?

Q4) Answer the following question in 300 words each (any one). [20]
a) Explain questionnaire as a technique of data collection. Describe the

advantages and disadvantages of questionnaire.
b) Analyse the measures of central tendency and dispersion.


P.T.O.
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[6041]-615
T.Y.B.A.

SOCIOLOGY
DSE-1D-(S3) : Techniques of Social Research

(2019 Pattern) (CBCS) (Semester - VI) (36371)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P154

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ {Q>nm {bhm. [15]
A) gd}jUmMm AW©
~) ‘wbmIV nÕVrMo ’$m¶Xo
H$) gm‘m{OH$ g§emoYZmVrb ì¶m»¶mMr g§H$ënZm
S>) JwUmË‘H$ g§emoYZmMm AW©
B) gh^mJr {ZarjUmMo d¡{eï>ço

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]
A) gd}jU nÕVr dmnaÊ¶mMo ’$m¶Xo gm§Jm.
~) {ZarjUmÀ¶m d¡{eï>ço ñnï> H$am.
H$) VÏ¶ {díbofUmV H$WZmMm Cn¶moJ ¶mda MMm© H$am.
S>) ì¶ï>r AÜ¶¶ZmMo nÕVrVrb {d{dY nm¶è¶m ñnï> H$am.
B) g§emoYZ Ahdmb boIZ H$aVmZm ¿¶m¶Mr H$miOr.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) ì¶ï>r AÜ¶¶ZmMo VmoQ>o {deX H$am.
~) àíZmdbrÀ¶m {d{dY àH$mamMr Vnerbdma MMm© H$am.
H$) ‘Ü¶m§H$m§Mo VmoQ>o ñnï> H$am.
S>) g§»¶mË‘H$ g§emoYZmÀ¶m ‘¶m©Xm H$m¶ AmhoV?

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎma 300  eãXmV {bhm. [20]
A) àíZmdbr VÏ¶ g§H$bZmMo V§Ì åhUyZ ñnï> H$am. àíZmdbrMo ’$m¶Xo d VmoQ>o {deX H$am.
~) H|${Ð¶ àd¥ÎmrMr n[a‘mUo d An{H$aU ¶m§Mo {díbofU H$am.


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[6041]- 616
T.Y. B.A.

STATISTICS SPECIAL - III
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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicates full marks.
3) Use of Scientific calculator and statistical table is allowed.
4) Symbols and abbreviations have their usual meanings.

P155 [Total No. of Pages : 3
SEAT No. :

Q1) Attempt each of the following: [1 each]
A) Choose the correct alternative of the following:

a) If X  C (2, 4) then interquartile range of X is
i)  ii) –2
iii) 4 iv) 8

b) If X  LN(, 2) then mean of logeX is
i)  ii) 

iii)  iv) 

c) If X  L(, ) then median of X is
i)  ii) 0
iii)  iv) 

d) If x   C(0, 1) then 
1
x


i) C (0, 1) ii) C (1, 0)

iii) C ( 1
2 , 0) iv) C (0, 1

2 ,)

e) If  X  W (, ) distribution of y = Kx is
i) W (K, ) ii) W , K)
iii) W (, /K) iv) W (/K, )

P.T.O.
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B) State whether the following statement is True or False: [1 each]
a) Weibull distribution is a particular case of Exponential distribution.
b) Mean  does not exist for Cauchy distribution.
c) Quartile deviation of Cauchy distribution is l.
d) If  X  W (, ) then X2Exp(2, /2)
e) If (X, Y)  BN(


  then marginal distribution of

X  N(


Q2) Attempt any FOUR of the following. [4×5=20]
a) If X  W (, ), then find distribution function of X.

b) Let X  C (, ), find distribution of  Y = AX + B, identify the distribution
of Y.

c) Let X  L(0, 1), find P(–1 < X < 1).
d) A continuous r.v. X has Cauchy distribution with parameter = 0 and

= 1. Find distribution function of X.
e) Let X  LN (a,). Find lower and upper quartiles of X.
f) If X  W (, ), then find the distribution of Y = Y = (X)

Q3) Attempt any FOUR of the following. [4×5=20]
a) Derive the relation of log normal distribution with N(

b) Let X  C (, ) find distribution of Y = 1 Xtan 


  
 
 

.

c) Let X  L (, ), and Y = a + bX + cX2 find E(Y) and Var (Y).

d) If F(x) = 
1 ; 0
2

xe x 

   
11 ; 0
2

xe x  

Then compute P(x < 2) and P(x < 0.5).
e) If X  N() then find the distribution of Y = a + ex, identify the

distribution of Y.
f) If (X, Y)  BN (4, 3, 25, 36, 0.9) then write the joint p.d.f. of (X, Y) and

marginal p.d.f. of Y.
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Q4) Attempt any TWO of the following. [2×10=20]

a) If (X, Y)  BN (


then obtain the marginal p.d.f. of Y.

b) Let X  L (). Obtain m.g.f. of X.

c) Let X  LN (a), then find mode of X.

d) If X and Y are two independent standard Normal variates then obtain the

distribution of  Z = 
X
Y

 hence identify the distribution of  Z.


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Q1) Answer the following questions in 100 words each. (Any three) [15]
a) What is Synthetic Proposition?
b) State the criteria of verifiability.
c) State the influence of Socrates on Plato.
d) Explain the dialectical method of Socrates.
e) What is Appearance according to Russell?

Q2) Answer the following questions in 100 words each. (Any three) [15]
a) Briefly write Russell’s problem of a prior knowledge.
b) Explain class division characteristic of Plato’s ideal state.
c) Briefly describe Plato’s radical views on justice.
d) Briefly explain the concept of pragmatic Verifiability.
e) Explain Russell’s concept of Probability.

Q3) Write short notes  in 200 words each (Any two). [20]
a) Morality : A. J. Ayer.
b) Criticism of Plato’s concept of Ideal state.
c) Problem of induction: Russell.
d) The allegory of Plato’s cave.

Q4) Answer the following question in 400 words each. (Any one) [20]
a) Write in detail about Wittgenstein’s picture theory.
b) Explain any four philosophical problems faced by Russel.


P.T.O.
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[6041]-617
T.Y.B.A. (Regular)

PHILOSOPHY : THINKERS AND TEXTUAL STUDIES
DSE-1D : Textual Studies (S4)

(2019 Pattern) (CBCS) (Semester - VI) (36421)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P156

à.à.à.à.à.1) Imbrb H$moUË¶mhr VrZ àíZm§Mr 100  eãXmV CÎmao {bhm. [15]
A) g§íbofH$ {dYmZ åhUOo H$m¶?
~) à{MVrj‘VoMo {ZH$f gm§Jm.
H$) ßboQ>modarb gm°H«o${Q>gMm à^md gm§Jm.
S>) gm°H«o${Q>gMr Û§ÛmË‘H$ nÕ{V {deX H$am.
B) agobbm AZwgê$Z Am^mg åhUOo H$m¶?

à.à.à.à.à.2) Imbrb H$moUË¶mhr VrZ àíZm§Mr 100  eãXmV CÎmao {bhm. [15]
A) agobÀ¶m nwd©àmá kmZmMr g‘ñ¶m WmoS>³¶mV {bhm.
~) ßboQ>moÀ¶m AmXe© amÁ¶mÀ¶m d¡{eï>çm§n¡H$s dJ© {d^mOZ d¡{eï>çmMr ‘m{hVr Úm.
H$) ßboQ>moMm Ý¶m¶{df¶H$ CJ«dmXr {dMma WmoS>³¶mV gm§Jm.
S>) ì¶mdhm[aH$ à{M{V j‘Vm g§H$ënZm WmoS>³¶mV gm§Jm.
B) agobMr g§̂ mì¶Vm g§H$ënZm ñnï> H$am.

à.à.à.à.à.3) H$moUË¶mhr Xmohm|da àË¶oH$s 200 eãXmV Q>rnm {bhm. [20]
A) {Z{VemñÌ : E. Oo. E¶a
~) ßboQ>moÀ¶m AmXe© amÁ¶ g§H$ënZodarb Q>rH$m
H$) {dJ‘Z g‘ñ¶m : agob
S>) ßboQ>moÀ¶m JwhoMo ê$nH$

à.à.à.à.à.4)Imbrb àíZmMo 100  eãXmV CÎma {bhm. (H$moUVmhr EH$) [20]
A) {dQ²>JoÝñQ>mÝMr {MÌ CnnÎmr g{dñVa {bhm.
~) agobbm ôS>gmdUmè¶m VÎdkmZmVrb H$moUË¶mhr Mma g‘ñ¶m§Mo ñnï>rH$aU Úm.





Total No. of Questions : 4]

[6041]-618
T.Y.B.A.

PUBLIC ADMINISTRATION
DSE-1D : Financial Administration

(2019 Pattern) (CBCS) (Semester - VI) (36441)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P157 [Total No. of Pages : 4
SEAT No. :

Q1) Attempt any eight questions (20 words). [16]

a) Who is considered the pioneer of audit work?

b) Which article of the Indian Constitution provisions for the comptroller
and auditor general of India.

c) Which article of the Indian constitution provides for the formation of a
finance commission.

d) What is the equivalent status of Finance Commission?

e) At what two levels does parliament control public expenditure?

f) What is the total number of members in the estimates committee?

g) In which year was the new economic policy adopted in India?

h) State the meaning of privatization.

i) What is the main purpose of liberalization policies?

j) What is the tenure of public accounts committee?

P.T.O.
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Q2) Attempt any four questions (50 words). [16]

a) What are the provisions regarding comptroller and auditor general of
India.

b) Explain the functions of the finance commission.

c) State the composition of the public accounts committee.

d) Explain the importance of the estimates committee.

e) Explain the concept of New Economic Policy.

f) Explain the functions of the Comptroller and Auditor General of India.

Q3) Attempt any three questions (100 words). [18]

a) Explain importance of Finance Commission and its structure.

b) Explain the constitutional position and powers of the comptroller and
auditor general of India.

c) State the functions of the parliamentary committees on financial control.

d) Explain the fros and cons of globalizations.

Q4) Attempt any two questions (200 words). [20]

a) Explain the information about finance commission of India and State its
utility.

b) Discuss the usefullness of Financial committees.

c) Discuss India’s New Economic policy.


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Total No. of Questions : 4]

[6041]-618
T.Y.B.A.

PUBLIC ADMINISTRATION
DSE-1D : Financial Administration

(2019 Pattern) (CBCS) (Semester - VI) (36441)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P157

à.à.à.à.à.1) WmoS>³¶mV CÎmao Xçm. (H$moUVohr AmR>) (20 eãXmV) [16]

A) boIm narjm H$m¶m©Mm àUoVm H$moUmbm ‘mZbo OmVo?

~) {Z¶§ÌH$ d boImnarjH$ ¶m§Mr VaVwX ^maVr¶ amÁ¶KQ>ZoÀ¶m H$moUË¶m H$b‘mV Ho$br Amho?

H$) ^maVr¶ amÁ¶KQ>ZoÀ¶m H$moUË¶m H$b‘mV {dÎm Am¶moJ {Z{‘©Vr ~m~V VaVwX H$aÊ¶mV Ambr Amho?

S>) {dÎm Am¶moJmbm H$moUm g‘H$j XOm© àmá Pmbm Amho?

B) g§gX gmd©O{ZH$ IMm©~m~V H$moUË¶m XmoZ ñVamda {Z¶§ÌU H$aVo?

’$) A§XmO g{‘VrV EHy$U {H$Vr gXñ¶ AgVmV?

¶) ^maVmV H$moUË¶m dfu Zdo Am{W©H$ YmoaU ñdrH$mabo Jobo?

a) ImOJrH$aUmMm AW© gm§Jm.

b) CXmarH$aUmÀ¶m YmoaUmMm ‘w»¶ CX²Xoe H$m¶ Amho?

d) gmd©O{ZH$ boIm g{‘VrMm H$m¶©H$mb {H$Vr dfm©Mm AgVmo?
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à.à.à.à.à.2) H$moUVohr Mma àíZ gmoS>dm. (50 eãXm§V) [16]

A) ^maVmMm {Z¶§ÌH$ d ‘hmboImn[ajH$ ¶m§À¶m {df¶rÀ¶m VaVwXr gm§Jm.

~) {dÎm Am¶moJmMo H$m¶} ñnï> H$am.

H$) gmd©O{ZH$ boIm g{‘VrMr aMZm gm§Jm.

S>) A§XmO g{‘VrMo ‘hÎd {deX H$am.

B) ZdrZ Am{W©H$ YmoaU g§H$ënZm ñnï> H$am.

’$) ^maVmÀ¶m {Z¶§ÌH$ d ‘hmboImnarjH$ ¶m§Mr H$m¶} ñnï> H$am.

à.à.à.à.à.3) H$moUVohr VrZ àíZ gmoS>dm. (àË¶oH$s 100 eãXm§V)$ [18]

A) {dÎm Am¶moJmMo ‘hËd gm§JyZ aMZm ñnï> H$am.

~) ^maVmÀ¶m {Z¶§ÌH$ d ‘hmboImnarjH$mMo KQ>ZmË‘H$ ñWmZ gm§JyZ A{YH$ma ñnï> H$am.

H$) {dÎmr¶ {Z¶§ÌUmVrb g§gXr¶ g{‘Ë¶m§Mm H$m¶©̂ mJ gm§Jm.

S>) OmJ{VH$sH$aUmMo JwU-Xmof ñnï> H$am.

à.à.à.à.à.4) H$moUVohr XmoZ àíZ gmoS>dm. (àË¶oH$s 200 eãX) [20]

A) ^maVmVrb {dÎm Am¶moJmMr ‘m{hVr XoD$Z Ë¶mMr Cn¶wº$Vm gm§Jm.

~) {dÎmr¶ g{‘Ë¶m§À¶m Cn¶wº$Vo~XX²b MMm© H$am.

H$) ^maVmÀ¶m ZdrZ Am[W©H$ YmoaUmM§r MMm© H$am.





Total No. of Questions : 4]

[Total No. of Pages : 2

[6041]-619
T.Y. B.A. (Semester - VI)

MARATHI (_amR>r)
DSE - 2D : {deofñVa Aä`mgn{ÌH$m dU©ZmË_H$ ^mfm{dkmZ ^mJ - 2

(2019 Pattern) (36022)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm :- 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P-158

àíZ 1) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 50 eãXm§n ª̀V {bhm. [10]

A) ê${nHo$Mr ì`m»`m {bhÿZ ê${nHo$Mo bjU {bhm.

~) dmŠ`mMo ñdê$n {bhÿZ dmŠ`mMo XmoZ KQ>H$ ñnï> H$am.

H$) AWm©Mr H$moUVrhr EH$ ì`m»`m CXmhaUmgh ñnï> H$am.

àíZ 2) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) ê$n{dÝ`mg hr g§H$ënZm ñnï> H$am.

~) ê${n_m§Mo àH$ma gmoXmhaU ñnï> H$am.

H$) {d{Z`moJ g§H$ënZm ñnï> H$ê$Z ê${n_ {ZpíMVrMr VËdo {deX H$am.

àíZ 3) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) dmŠ` åhUOo H$m` Vo {bhÿZ dmŠ`{dÝ`mg hr g§H$ënZm ñnï> H$am.

~) dmŠ`mMo àH$ma gmoXmhaU ñnï> H$am.

H$) dmŠ`mMo KQ>H$ ñnï> H$ê$Z KQ>H$ Am{U aMZm nañnag§~§Y ñnï> H$am.

P.T.O.

SEAT No. :
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àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao àË òH$s 200 eãXm§n ª̀V {bhm. [20]

A) AWm©Mr ì`m»`m {bhÿZ AW© åhUOo H$m` Vo gmoXmhaU ñnï> H$am.

~) AWm©Mo {d{dY àH$ma CXmhaUmgh {deX H$am.

H$) AW©{dÝ`mgmMr ì`mnH$Vm {d{dY AW© KQ>H$m§À`m AmYmao ñnï> H$am.


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T.Y.B.A. (Semester - VI)

URDU (Special Paper-IV)
DSE-2D:Philology&Linguistic

36072 (CBCS) (2019 Pattern) 
 

P-159

Total No. of Questions : 5

[Time :2½ HoursTotal Marks : 70]

P.T.O.

 Note:  

1) Attempt all questions.
2) Figures to the left indicate full marks.

 

 :1 




 2 


 
 3 



 

[10]

SEAT No.

Total No. of Pages : 2

[15]
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 4 




2  5 
 (1    

 (2       

 


 (3

 (4


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àíZ àíZ àíZ àíZ àíZ 1) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) ^mfm H$s n[a^mfm {bIH$a CgH$m ñdê$n ñnîQ> H$s{OE &

~) amï´>^mfm H$m _hÎd g_PmBE &

H$) g§nH©$ ^mfm H$m gm_mÝ` n[aM` Xr{OE &

S>) ^mfm n[adV©Zerb h¡, ñnï> H$s{OE &

àíZ àíZ àíZ àíZ àíZ 2) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) AdYr ~mobr H$m gm_mÝ` n[aM` Xr{OE &

~) qhXr Ho$ {dXoer eãXm| H$mo gmoXmhaU g_PmBE &

H$) nhm‹S>r qhXr H$m n[aM` Xr{OE &

S>) amOñWmZr qhXr H$s ~mo{b`m| H$m n[aM` Xr{OE &

àíZ àíZ àíZ àíZ àíZ 3) {ZåZ{b{IV _| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE & [14]

A) XodZmJar {b{n Ho$ B{Vhmg H$mo {deX H$s{OE &

~) XodZmJar {b{n H$s {deofVmAm| H$mo ñnï> H$s{OE &

H$) XodZmJar {b{n Ho$ Zm_H$aU g§~§Yr {d{^Þ AdYmaUmAm| H$mo ñnï> H$s{OE &

S>) XodZmJar {b{n _| gwYma H$s Amdí`H$VmAm| H$mo ñnï> H$s{OE &

P.T.O.

Total No. of Questions : 5]

[Total No. of Pages : 3

[6041]-621
T.Y. B.A.

HINDI (qhXr)
DSE-2D (S - 4) : qhXr ^mfm Am¡a CgH$m {dH$mg
(2019 Pattern) (CBCS) (Semester - VI) (36092)

g_` : 2½ K§Q>o ] [ nyUmªH$ : 70
gyMZmE± :

1) g^r àíZ A{Zdm ©̀ h¢ &

2) Xm{hZr Amoa àíZ Ho$ nyUmªH$ h¢ &

P-160

SEAT No. :
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àíZ àíZ àíZ àíZ àíZ 4) {ZåZ{b{IV _| go {H$Ýht VrZ {Q>ßn{U`m| H$mo {b{IE & [21]

A) n[a{Z{ð>V ^mfm

~) ~mobr

H$) ~«O^mfm

S>) XoeO eãX

B) XodZmJar {b{n

\$) {b{n H$s AdYmaUm

àíZ àíZ àíZ àíZ àíZ 5) {ZåZ{b{IV _| go {H$Ýht gmV ~hþ{dH$ënr` àíZm| Ho$ C{MV n`m©̀  {b{IE & [7]

i) ^mfm eãX g§ñH¥$V Ho$ {H$g YmVw go ~Zm h¡?

A) ^md ~) ^mf²

H$) dX S>) AZw

ii) ............... ^mfm H$m à`moJ g§Mma Ho$ {d{^Þ _mÜ`_m| Ho$ {bE {H$`m OmVm h¡ &

A) g§Mma ~) AdYr

H$) nhm‹S>r S>) amOñWmZr

iii) 14 {gV§~a 1949 _| ^maVr` g§{dYmZ Zo {H$g ^mfm H$mo amO^mfm H$m XOm© {X`m?

A) ~«O^mfm ~) amOñWmZr

H$) qhXr S>) ~Kobr

iv) ""^mfm _mZd Ho$ CƒmaU-Ad`dm| go Cƒm[aV `mÑpÀN>H$ Üd{Z-àVrH$m| H$s dh ì`dñWm
h¡ {OgHo$ Ûmam g_mO-{deof Ho$ bmoJ Amng _| {dMma-{d{Z_` H$aVo h¢ &'' àñVwV n[a^mfm
{H$gH$s h¢?

A) ^mobmZmW {Vdmar ~) _mohZ amHo$e

H$) Yra|Ð d_m© S>) Y_©dra ^maVr

v) Bg_| go npíM_r qhXr H$s ~mobr h¡ -

A) AdYr ~) H$m¡adr

H$) ~Kobr S>) _¡{Wbr



[6041]-621 3

vi) g§ñH¥$V go {Z{_©V eãXm| H$mo Š`m H$hm OmVm h¡?

A) VX²^d eãX ~) XoeO eãX

H$) {dXoer eãX S>) VËg_ eãX

vii) AdYr {H$g joÌ H$s ~mobr h¡?

A) _hmamï´> ~) A`moÜ`m

H$) n§Om~ S>) H$Zm©Q>H$

viii) ""XodZmJar Xþ{Z`m H$s gdm©{YH$ d¡km{ZH$ {b{n h¡ &'' àñVwV H$WZ {H$gH$m h¡?

A) _mohZ amHo$e ~) Akò

H$) `enmb S>) amhþb gm§H¥$Ë`m`Z

ix) ""EH$ Üd{Z Ho$ {bE EH$ {b{n-{Mh²Z'' `h {H$g {b{n H$s {deofVm h¡?

A) XodZmJar ~) {MÌ {b{n

H$) amo_Z S>) Iamoð>r

x) ............. d¡km{ZH$ {b{n h¡ &

A) ~«m÷r ~) XodZmJar

H$) amo_Z S>) {MÌ {b{n


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[6041]-622
T.Y. B.A.

g§ñH¥$V (SANSKRIT)

DSE-2D : lr gXmZ§X`{V {da{MV doXmÝVgma
(2019 Pattern) (CBCS) (Semester - VI) (36112)

Time : 2½ Hours] [Marks : 70

gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.
All questions are compulsory.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.
Figures to the right indicate full marks.

P-161

SEAT No. :

P.T.O.

ààààà.....     1) ggÝX ©̂ ñnï>rH$aU H$am (H$moUVohr VrZ) … [15]

Write reference to content (any three) :

i) AW OrdÝ_wº$bjU_wÀ`Vo &

ii) EVXþn{hV`moarœa àmk`moa{n dZd¥jmdmÀN>oÞ & H$me`mo[ad Obme`ObJVà{V{~å~ & H$me`mo[ad
dm^oX… &

iii) Apñ_Z² dmŠ ò "Zrb_wËnb_²' B{V dmŠ`dX² dmŠ`Wm} Z g§JÀN>Vo &

iv) AndmXmo Zm_ a‚mw{ddV©ñ` gn©ñ` a‚mw_mÌËddX²dñVw-{ddV©ñ`mdñVwZmo@kmZmXo… àn#mñ`
dñVw_mÌËd_² &

ààààà.....     2) A) C{MVm{Z ẁ½_m{Z {d{MZwV (H$mÝ`{n Xe) [10]

i) {dœ a) Jwê$n{Xï>doXmÝVdmŠ òfw {dœmg…

ii) lÕm b) ñWybearaì`{ï>…

iii) gmYZMVwï>`gånÞ… c) AkmZ_²

iv) {ZË`mXrZm§ na_§ à`moOZ§ d) n#mrH¥$Vm{Z

v) {ÌJwUmË_H§$ e) YZÄO`…
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vi) {djon f) CXmZ…

vii) ñWyb ŷVm{Z g) AZŵ ddmŠ`mWm}

viii) nmofUH$a… h) {djon…

ix) H$ÊR>ñWmZr` D$Üd©J_ZdmZ² i) g{dH$ën…

x) Ah§ ~«÷mpñ_ j) AkmZe{º$…

xi) {MÎmd¥ÎmaoÝ`mdbå~Z§ k) à_mVm

xii) g_m{Y… l) ~w{Õ-ew{Õ

B) g§ñH¥$V^mfoVyZ CÎmao Xçm. (H$moUVohr nm§M) [5]

Answer into the sanskrit language (any Five)

i) doXmÝVgmaJ«ÝWñ` {df`… H$…?

ii) doXmÝVgmaJ«ÝWo {Z{X©ï>§ dñVw B{V eãXñ` AW©… H$…?

iii) n#mrH$aUñ` ñdê$n§ H$W`V &

iv) OrdmdñWm… H$W`V &

v) {Z{d©H$ëng_mYo… {d¿Zm… Ho$?

vi) CnmgZmH$_m©Zwð>mZñ` \$b§ {H$_²?

ààààà.....     3) AkmZmMo bjU gm§JyZ, Ë`mMo H$m ©̀ ñnï> H$am & [20]

Define AkmZ and explain its effects.

qH$dm/OR

_hmdmŠ` "VÎd_{g'-dmŠ`mW©{dMma ñnï> H$am.

Explain the meaning of the _hmdmŠ` "VÎd_{g'.

ààààà.....     4) Q>rnm {bhm (H$moUVrhr XmoZ) … [20]

Write short notes (any two) :

i) {Z{d©H$ëng_m{Y… &

ii) doXmÝVemóñ` A{YH$m[aU… bjU_² &

iii) AkmZñ` g_{ï>ì`m{ï>{dMma… &





Q1) Answer the following questions in 20 words each (Any Eight) : [16]

a) What is Budget?

b) Define Fiscal Policy.

c) What is deficit financing?

d) What is deficit Budget?

e) Who was the chairman of the 1st finance commission?

f) What is GST?

g) According to which section the president appoints the finance
commission.

h) What is Balanced Budget?

i) State the sources of fiscal policy.

j) State the full form of GDP.

Q2) Answer the following questions in 50 words each (Any Four) : [16]

a) State the sources of deficit financing.

b) State the objectives of Budget.

c) State the functions of finance commission.

Total No. of Questions : 4]
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d) State the objectives of Gender Budget.

e) State the disadvantages of deficit financing.

f) Explain the concept of Main Budget and Supplementary Budget.

Q3) Answer the following questions in 100 words each (any three) : [18]

a) State the objectives of fiscal policy.

b) Explain the role of finance commission.

c) State the objectives of deficit financing.

d) State the types of Budget.

Q4) Answer the following questions in 200 words each (any two) : [20]

a) Explain the favorable and unfavorable effects of deficit financing.

b) Explain the stages of preparation of Indian Budget.

c) State the causes of fiscal conflict among the central states.





Total No. of Questions : 4]

[6041]-623
T.Y. B.A.

ECONOMICS
DSE-2D : Public Finance - II (Special Paper - IV)

(2019 Pattern) (Semester - VI) (36152)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

3) CÎmao Zo_H$s H$s _wÔogyX Agmdr.

4) Amdí`H$ VoWo gw~H$ AmH¥$Ë`m H$mT>m.

5) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.

P-162

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr CÎmao 20 eãXmV {bhm (H$moUVohr AmR>) … [16]

A) A§XmOnÌH$ åhUOo H$m`?

~) amOH$mofr` YmoaUmMr ì`m»`m gm§Jm.

H$) VwQ>rMm AW©̂ aUm åhUOo H$m`?

S>) A§XmOnÌH$s` VyQ> åhUOo H$m`?

B) n{hë`m {dÎm Am`moJmMo AÜ`j H$moU hmoVo?

\$) OrEgQ>r åhUOo H$m`?

`) H$moUË`m H$b_mZwgma amï´>nVr {dÎm Am`moJmMr Zo_UyH$ H$aVmV?

a) g_Vmob A§XmOnÌH$ åhUOo H$m`?

b) amOH$mo{f` YmoaUmMr gmYZo gm§Jm.

d) Or.S>r.nr. Mo nyU© ê$n gm§Jm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXmV {bhm (H$moUVohr Mma) … [16]

A) VwQ>rÀ`m AW©̂ aÊ`mMo _mJ© gm§Jm.

~) A§XmOnÌH$mMr C{Ôï> ò gm§Jm.

H$) {dÎm Am`moJmMr H$m }̀ gm§Jm.

S>) qbJmYm[aV A§XmOnÌH$mMr C{Ôï> ò gm§Jm.

B) VwQ>rÀ`m AW©̂ aÊ`mMo VmoQ>o gm§Jm.

\$) _w»` A§XmOnÌH$ Am{U nyaH$ A§XmOnÌH$ `m g§H$ënZm ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 100 eãXmV {bhm (H$moUVohr VrZ) … [18]

A) amOH$mofr` YmoaUmMr C{Ôï> ò gm§Jm.

~) {dÎm Am`moJmMr ŷ{_H$m ñnï> H$am.

H$) VwQ>rÀ`m AW©̂ aÊ`mMr C{Ôï> ò gm§Jm.

S>) A§XmOnÌH$mMo àH$ma gm§Jm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 200 eãXmV {bhm (H$moUVohr XmoZ) … [20]

A) VwQ>rÀ`m AW©̂ aÊ`mMo AZwHy$b d à{VHy$b n[aUm_ ñnï> H$am.

~) ^maVr` A§XmOnÌH$ V`ma H$aÊ`mMo {d{dY Q>ßno ñnï> H$am.

H$) H|$Ð-KQ>H$ amÁ`m§_Ü ò {dÎmr` g§Kf© {Z_m©U hmoÊ`mMr H$maUo gm§Jm.





Q1) Answer any eight of the following questions (20 words) : [16]

a) What is neo-colonialism?

b) What is globalization?

c) Define liberalization.

d) What is terrorism?

e) What is poverty?

f) Give the names of founders of 'NAM'.

g) What is North-South divide?

h) Define global warming.

i) Name the terrorist organizations.

j) When did the Declaration of human rights adopted?

Q2) Write any four of the following short notes (50 words) : [16]

a) Colonialism.

b) South-South cooperation.

c) International Terrorism.

d) Privatization.

e) NAM

f) Environmental organizations.

Total No. of Questions : 4]
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Q3) Answer any three of the following questions (100 words) : [18]

a) Explain the principles of non-alignment movement.

b) State the nature of New International Economic order.

c) Explain the impact of globalization.

d) Discuss on poverty and hunger.

Q4) Answer any two of the following questions (200 words) : [20]

a) State the importance of human rights.

b) Discuss the environmental issues.

c) Explain the impact of colonialism and neo-colonialism.





Total No. of Questions : 4]

[6041]-624
T.Y. B.A.

POLITICAL SCIENCE
DSE-2D : International Relations

(2019 Pattern) (CBCS) (Semester - VI) (36162)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.

P-163

àíZ àíZ àíZ àíZ àíZ 1) Imbrbn¡H$s H$moUË`mhr AmR> àíZm§Mr CÎmao {bhm. (20 eãXm§V) … [16]

A) Zd-dgmhVdmX åhUOo H$m`?

~) OmJ{VH$sH$aU åhUOo H$m`?

H$) CXmarH$aUmMr ì`m»`m H$am.

S>) XheVdmX åhUOo H$m`?

B) Xm[aÐ` åhUOo H$m`?

\$) "Zm_' À`m g§ñWmnH$m§Mr Zmdo X`m.

`) CÎma-X{jU g§Kf© åhUOo H$m`?

a) "OmJ{VH$ Vmn_mZ dmT>' Mr ì`m»`m H$am.

b) XheVdmXr g§KQ>Zm§Mr Zmdo gm§Jm.

d) _mZdr h¸$m§Mm OmhraZm_m H|$ìhm ñdrH$mabm?

àíZ àíZ àíZ àíZ àíZ 2) Imbrbn¡H$s H$moUË`mhr Mma Q>rnm {bhm. (50 eãXm§V) [16]

A) dgmhVdmX

~) X{jU-X{jU ghH$m ©̀

H$) Am§Vaamï´>r` XheVdmX

3 P.T.O.
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S>) ImOJrH$aU

B) Zm_

\$) n`m©daUdmXr g§KQ>Zm

àíZ àíZ àíZ àíZ àíZ 3) Imbrbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao {bhm. (100 eãXm§V) [18]

A) A{báVmdmX MidirMr VËdo ñnï> H$am.

~) Zd Am§Vaamï´>r` AW© ì`dñWoMo ñdê$n {deX H$am.

H$) OmJ{VH$sH$aUmMo n[aUm_ ñnï> H$am.

S>) Xm[aÐ` Am{U ŷH$ `mda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrbn¡H$s H$moUË`mhr XmoZ àíZm§Mr CÎmao {bhm. (200 eãXm§V) [20]

A) _mZdr h¸$m§Mo _hÎd {deX H$am.

~) n`m©daU àíZm§Mr MMm© H$am.

H$) dgmhVdmX Am{U Zd-dgmhVdmXmMo n[aUm_ ñnï> H$am.





Q1) Answer the following questions in 300 words (any one) : [15]

a) Review the work of Maharaja Sayajirao Gaikwad.

OR

b) Discuss the future and progress of the Non-Brahmin Movement.

Q2) Answer the following questions in 300 words (any one) : [15]

a) Write the causes and impact of peasant Movement.

OR

b) Explain the contribution of Dr. Babasaheb Ambedkar in Dalit
Movement of Maharashtra.

Q3) Answer the following questions 200 words (any Two) : [20]

a) Explain the social work of Chh. Shahu Maharaj.

b) Discuss the educational work of Karmaveer Bhauraopatil.

c) Write the causes and effects of urbanization in Maharashtra.

d) Write of information of "Marathwada Muktisangram".

Total No. of Questions : 4]
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Q4) Short Notes (Any four) : [20]

a) Depressed class mission.

b) Nagpur pact.

c) Arya Samaj Satyagraha.

d) Four problems in Textile industry in Maharashtra.

e) Four factors affecting sugar Industry.

f) S.N.D.T. women's university.





Total No. of Questions : 4]

[6041]-625
T.Y. B.A.

HISTORY (Special)
DSE-2D : Maharashtra in 20th Century

({dgmì`m eVH$mVrb _hmamï´>)
(2019 Pattern) (Semester - VI) (36172)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm:

1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.

P-164

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mo 300 eãXm§V CÎma X`m. (H$moUVmhr EH$) [15]

A) _hmamOm g`mOramd Jm`H$dmS> `m§À`m H$m`mªMm AmT>mdm ¿`m.

qH$dm

~) ~«m÷UoÎma MidirMm CX` Am{U dmQ>Mmb `m§Mr MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mo 300 eãXm§V CÎma X`m. (H$moUVmhr EH$) [15]

A) _hmamï´>mVrb eoVH$ar MidirMr H$maUo Am{U n[aUm_ {bhm.

qH$dm

~) _hmamï´>mÀ`m X{bV MidirVrb S>m°. ~m~mgmho~ Am§~oS>H$a `m§Mo `moJXmZ ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) N>ÌnVr emhÿ _hmamOm§Mo gm_m{OH$ H$m ©̀ ñnï> H$am.

~) H$_©dra ^mD$amd nmQ>rb `m§À`m e¡j{UH$ H$m`m©Mr MMm© H$am.

H$) _hmamï´>mVrb ZmJarH$aUmMr H$maUo Am{U n[aUm_ {bhm.

S>) ""_amR>dmS>m _w{º$g§J«m_mMr'' _m{hVr {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) Q>rnm {bhm (H$moUË`mhr Mma) … [20]

A) {S>àoñS> Šbmgog {_eZ

~) ZmJnya H$ama

H$) Am ©̀ g_mO gË`mJ«h

S>) _hmamï´>mVrb H$mnS>CÚmoJmVrb Mma g_ñ`m

B) gmIa CÚmoJmda n[aUm_ H$aUmao Mma KQ>H$

\$) Eg.EZ.S>r.Q>r. _{hbm {dÚmnrR>





Q1) Answer the following questions in 300 words (any one) : [15]

a) Explain the important provisions of the India Act of 1858 and state its
significance in the constitutional History of India.

OR

b) Explain the important provisions and significance of the 1919
Montague - chelmsford Amendment Act.

Q2) Answer the following questions in 300 words (any one). [15]

a) State the salient features of Government of India Act, 1935 and evaluate
it.

OR

b) State the salient features of the India constitution.

Q3) Answer the following questions in 200 words (any two) : [20]

a) Explain the causes and provisions of the India Act, 1891.

b) Explain the background and provisions of the Morley-Minto
Amendment Act, 1909.

c) Discuss the background and out comes of Round Table conference.

d) Review briefly the Mountbatten Plan.

Total No. of Questions : 4]
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Q4) Short notes (any four) : [20]

a) Provisions of the Act of 1861

b) Montague's Declaration of August 1917

c) Recommendation of the Simon Commission

d) Nehru Report

e) Wavell plan

f) Indian Independence Act, 1947





Total No. of Questions : 4]

[6041]-626
T.Y. B.A. (Semester - VI)
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doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-165

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma Xçm. (H$moUVmhr EH$) … [15]

A) B.g. 1858 À`m ^maV{df`H$ H$m`XçmVrb _hËdmÀ`m VaVwXr ñnï> H$am Am{U ^maVmÀ`m
KQ>ZmË_H$ B{VhmgmVrb Ë`mMo _hËd gm§Jm.

qH$dm

~) B.g 1919 À`m _m±Q>o½ ỳ-Moåg\$moS>© gwYmaUm H$m`XçmVrb _hËdmÀ`m VaVwXr Am{U _hËd
ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma X`m. (H$moUVmhr EH$) … [15]

A) B.g. 1935 À`m ̂ maV{df`H$ H$m`XçmMo R>iH$ d¡{eîQ>ç gm§JwZ Ë`m H$m`XçmMo _wë`_mnZ
H$am.

qH$dm

~) ^maVr` amÁ`KQ>ZoMr R>iH$ d¡{eîQ>ç gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMo 200 eãXm§V CÎma Xçm. (H$moUVohr XmoZ) … [20]

A) B.g. 1891 À`m ^maV{df`H$ H$m`XçmMr H$maUo Am{U VaVwXr ñnï> H$am.

~) B.g 1909 À`m _mob}-q_Q>mo gwYmaUm H$m`XçmMr nmíd©̂ w_r Am{U VaVwXr ñnï> H$am.

H$) Jmob_oO narfXm§Mr nmíd©̂ y_r gm§JyZ Ë`m n[afXm§Mo \${bV H$m` hmoVo `mMr MMm© H$am.

S>) _mD§$Q>~±Q>Z `moOZoMm WmoS>Š`mV AmT>mdm ¿`m.

3
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUVohr Mma) … [20]

A) B.g. 1861 À`m H$m`XçmVrb VaVwXr

~) Am°JñQ> 1917 Mr _m±Q>o½ ỳ KmofUm

g) gm`_Z H${_eZÀ`m {e\$maer

X) Zohê$ Ahdmb

B) d°ìhob `moOZm

\$) ^maVr` ñdmV§Í`mMm H$m`Xm, 1947





Q1) Answer the following question in 100 words each (any three) :[3 × 5 = 15]

a) What is environmental warfare?

b) State the Objectives of Star War.

c) What is electronic warfare?

d) State the Objectives of Information warfare.

e) State the Means of Economic warfare.

Q2) Answer the following question in 300 words each (any one).[1 × 15 = 15]

a) Explain in detail the Effect of Nuclear Warfare.

b) Explain in detail the Effect of Environmental warfare.

Q3) Answer the following question in 200 words each (any two) :[2 × 10 = 20]

a) Explain in detail Origin and Development of Nuclear Warfare.

b) State the Nature and scope of electronic warfare?

c) State the Means and Methods of Economic Warfare.

d) State the Source and Effects of Information warfare.

Total No. of Questions : 4]
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Q4) Write short notes (any four) : [4 × 5 = 20]

a) Modern Warfare

b) Types of warfare

c) Warfare technology

d) Nature of Environmental warfare

e) Concept of Space Warfare

f) Information warfare





Total No. of Questions : 4]

[6041]-627
T.Y. B.A. (Semester - VI)

DEFENCE AND STRATEGIC STUDIES
DSE-2D : S-4 Modern Warfare
(2019 Pattern) (CBCS) (36272)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-166

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àým§Mr CÎmao àË òH$s 100 eãXm§V {bhm (H$moUVohr VrZ) … [3 × 5 = 15]

A) n`m©daUr` ẁÕ nÕVr åhUOo H$m`?

~) A§Vami ẁÕ nÕVrMo C{Ôï>o gm§Jm.

g) BboŠQ´>m°{ZH$ ẁÕ nÕVr åhUOo H$m`?

X) _m{hVr ẁÕmMr C{Ôï>o gm§Jm.

B) Am{W©H$ ẁÕmMr gmYZo gm§Jm.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àým§Mr CÎmao àË òH$s 300 eãXm§V {bhm (H$moUVohr EH$) … [1 × 15 = 15]

A) AmpÊdH$ ẁÕnÕVrMo n[aUm_ g{dñVa ñnï> H$am.

~) n`m©daUr` ẁÕnÕVrMo n[aUm_ g{dñVa gm§Jm.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àým§Mr CÎmao àË òH$s 200 eãXm§V {bhm (H$moUVohr XmoZ) … [2 × 10 = 20]

A) AmpÊdH$ ẁÕnÕVrMr CËnÎmr Am{U {dH$mg g{dñVa ñnï> H$am.

~) BboŠQ´>m°{ZH$ ẁÕ nÕVrMo ñdê$n Am{U ì`már gm§Jm.

g) Am{W©H$ ẁÕmMo gmYZo Am{U nÕVr gm§Jm.

X) _m{hVr ẁÕnÕVrMo òmoV Am{U n[aUm_ gm§Jm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUVohr Mma) … [4 × 5 = 20]

A) AmYw{ZH$ ẁÕnÕVr

~) `wÕ nÕVrMo àH$ma

g) ẁÕ nÕVrMo V§ÌkmZ

X) n`m©daUr` ẁÕmMo ñdê$n

B) A§Vami ẁÕmMr g§H$ënZm

\$) _m{hVr ẁÕnÕVr





Q1) Answer the following questions in about 50-60 words each (Any two) : [10]

a) Explain T.S. Eliot's theory of impersonality in literature.

b) Discuss Eliot's concept of poetic process.

c) Explain the concept of 'ambiguity', according to William Empson.

d) How does Empson differentiate between ambiguity of metaphor and
that of simile.

Q2) Answer the following questions in about 50-60 words each (Any two) : [10]
a) How does George Lukacs' define concept of realism?

b) Explain Lukacs' concept of art as a reflection of reality.

c) What is the structure of the human mind, according to Sigmund Freud?

d) Explain Freud's concept of unconscious mind.

Q3) Answer the following questions in about 150 words each (any two) : [20]

a) Discuss Allen Tate's concept of tension.

b) How does cleanth Brooks regard paradox as a quality of poetry? Discuss.

c) How does Wiarsatt and Beardsley define 'Intentional Fallacy'?

d) What is the main concern of 'New Criticism'?

Total No. of Questions : 4]
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Q4) Explain the following literary and critical terms (any five) : [20]
a) Irony
b) Diction
c) Allegory
d) Metaphor
e) Satire
f) Point of view
g) Motif and Theme

Q5) Attempt any one of the following : [10]
a) Read the following poem and answer the questions that follow :

I wander thro' each charter'd street,
Near where the charter'd Thames does flow.
And mark in every face I meet
Marks of weakness, marks of woe.
In every cry of every Man,
In every Infants cry of fear,
In every voice : in every ban,
The mind - forg'd manacles I hear

How the chimney-sweepers cry
Every blackning church appalls,
And the hapless soldiers sigh
Runs in blood down palace walls

But most thro' midnight streets I hear
How the youthful Harlots carse
Blasts the new-born Infants tear
And blights with plagues the Marriage hearse
Questions :
i) What is the central theme of the poem.
ii) What are some of the key images and symbols that the poet uses

to convey his message in the poem?
iii) How does the poet use of repetition contribute to the impact of

the poem?
iv) What is the tone of the poem?
v) Comment on the setting of the poem.

OR
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b) Read the following passage and answer the questions that follow :

Unless one is wealthy there is no use in being a charming fellow.
Romance is the privilege of the rich, not the profession of the
unemployed. The poor should be practical and prosaic. It is better to
have a permanent income than to be fascinating. These are the great
truths of modern life which Hughie Erskine never realised. Poor Hughie!
Intellectually, we must admit, he was not much of importance. He
never said a brilliant or even an ill-natured thing in his life. But then he
was wonderfully good-looking, with his crisp brown hair, his clear-
cut profile and his grey eyes. He was as popular with man as he was
with women and he had every accomplishment except that of making
money. His father had bequeathed him his cavalry sword and a History
of the peninsular war in fifteen volumes. Hughie hung the first over
his looking-glass, put the second on a shelf between Ruff's Guide and
Bailey's Magazine and lived on two hundred a year that an old aunt
allowed him. He had tried everything. He had gone on the stock
Exchange for six months; but what was a butterfly to do among bulls
and bears? He had been a tea-merchant for a little longer but had soon
tired of pekoe and souchong. Then he had tried selling dry sherry.
That did not answer; the sherry was a little too dry. Ultimately he be
came nothing, a delightful, ineffectual young man with a perfect profile
and no profession.

Questions :

i) What is the central theme of the passage?

ii) What is the significance of Hughie's looks in the story?

iii) What is the role of social class in the story?

iv) How does the passage satirize the values of modern society?

v) What is the tone of the passage?





Q1) Attempt any FIVE of the following : [10]
a) Eliminate the arbitrary function f from the equation z = 2x + f (xy).

b) Find the complementary function of the equation (D – D' )z = 0.

c) Solve : xdx + 3ydy + 4zdz = 0.

d) Eliminate the arbitrary constants a and b from the equation
z = (x – a) + (y – b).

e) Define surface.

f) True or False. Parametric equations of surface are unique.

g) Find direction ratios of the normal to the surface x2 + y + 2z = 0 at a
point P(1, 0, 1).

Q2) Attempt any four of the following : [20]

a) Verify that the differential equation x2dx + y2dy – z2dz = 0 is integrable.

b) Solve x(y2 – 1)dx + y(x2 – z2)dy – z(y2 – 1)dz = 0.

c) Prove that a Pfaffian differential equation in two variable always
possesses an integrating factor.

d) Explain a method to solve Pp + Qq = R.

e) Find integral curves of the equations 2 2 2
dx dy dz
x y z

= = .

f) Solve a(p + q) = z.

Total No. of Questions : 4]
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Q3) Attempt any FOUR of the following : [20]
a) Find the complementary function of (D2 – 4Dr2)z = 0.

b) If z = f(x + ay) + g(x – ay), then show that t = a2r, where f, g are
arbitrary functions and a is a constant.

c) If u1, u2, ..... u
n
, are solutions of the homogeneous linear differential

equation F(D, D')z = 0, then 
1

n

r r
r

c u
=
å , where Cr are arbitrary constant,

is also solution.

d) If αrD + βrD' + γr is a factor of F(D, D' ) and φr(ξ) is an arbitrary

function of the single variable ξ, then show that u
r
 = exp r

r

xg
a

æ ö- ÷ç ÷ç ÷ç ÷çè ø

φ
r
(β

r
x – α

r
y) if α

r
 ≠ 0 is a solution of the equation F(D, D' )z = 0.

e) Find a particular integral of the equation (D2 + 3DD' + 2D'2)z = x + y.

f) Find a particular integral of the equation (D2 – 2DD' + D'2)z = ex+2y.

Q4) Attempt any TWO of the following : [20]

a) Prove that a necessary and sufficient condition that there exists between
two functions u(x, y) and v(x, y) a relation f(u, v) = 0, not involving x

or y explicitly is that 
( , ) 0
( , )
u v
x y

¶
=

¶
.

b) Solve the equation (y + z)dx + (z + x)dy + (x + y)dz = 0 by Natani’s
method.

c) Reduce to canonical form r – 4s + 4t = 0.

d) Solve 
2

2
u uk

x t
¶ ¶

=
¶ ¶

 by separation of variable method.





Q1) Write short notes on (Any Three) : [15]

a) Social Movement

b) Civic Issues

c) NGO's

d) Live-in-Relationship

e) Urbanization

Q2) Answer the following questions in 50 words each (Any Three) : [15]

a) Discuss the transport issues in urban society.

b) Explain the importance of media.

c) Discuss on alternative media.

d) Discuss about population and slums.

e) Write on brief on ethics with special reference to Covid-19.

Q3) Answer the following questions in 200 words each (Any Two) : [20]

a) Elaborate the nature of Urbanization in India.

b) Explain the challenges of higher education in India.

c) Elaborate the impact of media on Indian Democracy?

d) Discuss necesisty and challenges of online teaching.

Total No. of Questions : 4]
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Q4) Answer the following questions in 300 words each (Any One) : [20]

a) Explain the features and issues of new education policy in India.

b) Define Democracy and its challenges in the contemporary Indian
Society.


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àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) gm_m{OH$ Midi

~) ZmJar g_ñ`m

H$) {~Ja emgH$s` g§ñWm

S>) gh{OdZ g§~§Y

B) eharH$aU

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]

A) ehar^mJmVrb dmhVyH$ g_ñ òda MMm© H$am.

~) àgma _mÜ`_m§Mo _hËd ñnï> H$am.

H$) n`m©̀ r àgma _mÜ`_m§da MMm© H$am.

S>) bmoH$g§»`m Am{U PmonS>nÅ>`m `m {df`r MMm© H$am.

B) H$mo{dS>-19 À`m g§X^m©V {Z{V_Îmoda WmoS>Š`mV {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ^maVmVrb eharH$aUmMo ñdê$n {deX H$am.

~) ^maVmVrb Cƒ {ejUm g_moarb AmìhmUo ñnï> H$am.

H$) ^maVr` bmoH$emhrda àgma _mÜ`_m§Mm hmoUma n[aUm_ {deX H$am.

S>) Am°ZbmB©Z AÜ`mnZmMr Amdí`H$Vm Am{U AmìhmUo `mda MMm© H$am.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr EH$) [20]

A) ^maVmVrb Z{dU e¡j{UH$ YmoaUm§Mr d¡{eï> ò Am{U àíZm§Zm ñnï> H$am.

~) bmoH$em{hMr g§H$ënUm gm§JyZ g_H$mbrZ ^maVr` bmoH$emhr g_moarb AmìhmUo gm§Jm.





Q1) Answer any Three of the following questions in 100 words : [15]
a) Briefly describe the characteristics of an ideal person.

b) Elaborate Gautama Buddha’s description of social conditions.

c) Briefly explain Cause of Suffering as one of Four Noble Truth.

d) Briefly explain the concept of Sramana as explained by Gautama
Buddha.

e) Briefly elaborate the concept of Karma.

Q2) Answer any Three of the following questions in 100 words : [15]
a) Briefly explain Gautama Buddha’s position on eternal truth.

b) Briefly explain the concept of Brahman in Buddhist philosophy.

c) What is Buddha? Discuss in brief.

d) Briefly explain Gautama Buddha's view of nature.

e) Briefly explain the problem of negligence.

Q3) Write short notes (any two) : [20]
a) Shila

b) Samadhi - Gautama Buddha

c) Craving : Gautam Baudha

d) Pradnya

Total No. of Questions : 4]

[Total No. of Pages : 4

[6041]-631
T.Y. B.A.

PHILOSOPHY
DSE-2D : Thinkers and Textual Studies (Indian) : Textual

Studies
(2019 Pattern) (CBCS) (Semester - VI) (36422)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates :

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-170

P.T.O.

SEAT No. :



[6041]-631 2

Q4) Answer any one of the following questions in 400 words : [20]

a) Explain the moral teachings of Gautama Buddha in detail.

b) Describe in detail the path of cessation of suffering practiced by Gautama
Buddha.


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1) gd© àíZ gmoS>{dUo Amdí`H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

3) g§X^m©gmR>r _yi  B§J«Or àíZn{ÌH$m nhmdr.
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àíZ àíZ àíZ àíZ àíZ 1) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) AmXe© ì`º$sMr d¡{eï>ço WmoS>Š`mV {deX H$am.

~) Jm¡V_~wÕ `m§Zr gm_m{OH$ n[apñWVrMo Ho$bobo dU©Z WmoS>Š`mV {deX H$am.

H$) Xþ…I H$maU ho Am ©̀gË` WmoS>Š`mV ñnï> H$am.

S>) Jm¡V_ ~wÕm§Zr gm§{JVbobr l_U g§H$ënZm WmoS>Š`mV {deX H$am.

B) H$_© g§H$ënZm WmoS>Š`mV ñnï> H$am.

àíZ àíZ àíZ àíZ àíZ 2) nwT>rbn¡H$s H$moUË`mhr VrZ àíZm§Mr CÎmao 100 eãXmV {bhm. [15]

A) emœV gË`{df`H$ Jm¡V_ ~wÕ `m§Zr ŷ{_H$m WmoS>Š`mV {deX H$am.

~) ~m¡Ó Xe©ZmVrb ~«m÷U g§H$ënZm WmoS>Š`mV ñnï> H$am.

H$) ~wÕ åhUOo H$m`? WmoS>Š`mV MMm© H$am.

S>) {ZgJ©{df`H$ Jm¡V_ ~wÕ `m§Mm Ñ{ï>H$moZ WmoS>Š`mV ñnï> H$am.

B) {ZîH$miOrnUm hr g_ñ`m WmoS>Š`mV ñnï> H$am.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Q>rnm {bhm (H$moUË`mhr XmoZ) … [20]

A) erb

~) g_mYr - Jm¡V_ ~wÕ

H$) bmbgm - Jm¡V_ ~wÕ

S>) àkm

àíZ àíZ àíZ àíZ àíZ 4) nwT>rbn¡H$s H$moUË`mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) Jm¡V_ ~wÕm§Mr Z¡{VH$ {eH$dU g{dñVa ñnï> H$am.

~) Jm¡V_ ~wÕ à{UV Xþ…I {ZamoY _mJm©Mo g{dñVa dU©Z H$am.


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Q1) Answer the following question write in 20 words each (any eight) : [16]
a) Who is called Guru in Management?
b) Who advocated decentralization?
c) Who said that bureaucratic polity in particular closed society?
d) Who wrote the book 'Motivation & Human behavior?
e) Name any two books written by Peter Drucker?
f) What is Maslow's theory of Motivation concerned with?
g) Name any two books written by Karl Marx?
h) Name any two Managerial tasks that Peter Drucker is asked function.
i) Who proposed the class bureaucracy?
j) Who proposed the Hierarchy of Need theory?

Q2) Answer the following question write in 50 words each (any four) : [16]
a) Knowledge society & knowledge workers.
b) New public management.
c) Pandit Nehru's Thoughts on Bureaucracy.
d) Marx's theory at.
e) Maslow's concept of Motivation.
f) Socialism & Admistration.

SEAT No. :

P.T.O.
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Q3) Answer the following question write in 100 words each (any three): [18]
a) Explain Karl Marx's class view at bureaucracy.
b) Explain Pandit Nehru's views on decentralization.
c) Explain the relationship Maslow's theory of Motivation & human behavior.
d) Explain the objects at Management.

Q4) Answer the following question write in 200 words each (any two): [20]
a) Explain Management concepts at Peter Drucker.
b) Explain Maslow's hierarchy at needs theory.
c) Explain the nature and characteristics at bureaucracy.


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àíZ 1) Imbrb àíZm§Mr CÎmao àË òH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]
A) "ì`dñWmnZmVrb "Jwê$' H$moUmg åhQ>bo OmVo.
~) {dHooooo|$ÐrH$aUmMm nwañH$ma H$moUr Ho$bm.
H$) ZmoH$aemhr amÁ`g§ñWoVrb EH$ {d{eï> ~§XrñV g_mO Amho Ago H$moU åhQ>bo.
S>) _moQ>rìhoeZ A±S> hçw_Z {~ìho{dAa hm J«§W H$moUr {bhbm.
B) nrQ>a S´>H$a `m§Zr {bhbobo H$moUVohr XmoZ J«§W gm§Jm.
\$) _mñbmoMm A{^àoaUm {gÕm§V H$emer g§~§YrV Amho.
`) H$mb© _mŠg© `m§À`m H$moUË`mhr XmoZ J«§WmMr Zmdo gm§Jm.
a) nrQ>a S´>H$aZo gm§{JVbobr ì`dñWmnZmMr H$moUVrhr XmoZ H$m ©̀ gm§Jm.
b) ZmoH$aemhr `m g§H$ënZoMm dJ©dmXr Ñï>rH$moU H$moUr _m§S>bm.
d) JaOm nXgmonZ {gÕm§V H$moUr _m§S>bm.

àíZ 2) Imbrb àíZm§Mr CÎmao àË òH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]
A) kmZ g_mO d kmZ H$m_Jma g§H$ënZm
~) ZdbmoH$ ì`dñWmnZ
H$) n§S>rV Zohê$ `m§Mo ZmoH$aemhr {df`H$ {dMma
S>) _mŠg©Mm AbJVmdmXmMm {gÕm§V
B) _mñbmoMr A{^àoaUm g§H$ënZm
\$) g_mOdmX d àemgZ g§H$ënZm

P.T.O.
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àíZ 3) Imbrb àíZm§Mr CÎmao àË òH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [18]
A) H$mb© _mŠg© `m§Mm ZmoH$aemhrMm dJ©dmXr Ñï>rH$moZ ñnï> H$am.

~) n§S>rV Zohê$ `m§Mo {dH§o$ÐrH$aU{df`H$ {dMma ñnï> H$am.

H$) _mñbmoMr A{^àoaUm d _mZdr dV©Z `mVrb g§~§Y ñnï> H$am.

S>) ì`dñWmnZmMr CÔrï>ço ñnï> H$am.

àíZ 4) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) nrQ>a S´>H$a `m§Mr ì`dñWmnZ g§H$ënZm g{dñVa ñnï> H$am.

~) _mñbmo `m§Mm JaOm nXgmonmZ {gÕm§V ñnï> H$am.

H$) ZmoH$aemhr åhUOo H$m`, Ë`mMo ñdê$n d d¡{eï>ço ñnï> H$am.


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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXmn¶ªV {bhm. [15]
A) amÁ¶KQ>ZoVrb ^mfm{df¶H$ YmoaU ñnï> H$am.
~) ‘hmamï´> amÁ¶ gm{hË¶ d g§ñH¥$Vr ‘§S>imMm n[aM¶ H$ê$Z Úm.
H$) AmYw{ZH$ ‘amR>r H${dVoMo ñdê$n {deX H$am.
S>) amO^mfm ‘amR>rMr Eo{Vhm{gH$ nmíd©̂ y‘r ñnï> H$am.
B) AmYw{ZH$ ‘amR>r H${dVoMr dmQ>Mmb WmoS>³¶mV {bhm.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXmn¶ªV {bhm. [20]
A) Adm©{MZ ‘amR>r H${dVoMr d¡{eï>ço {deX H$am.
~) ‘amR>r ^mfogmR>r H$m¶© H$aUmè¶m emgH$s¶ g§ñWm§Mr AmoiI H$ê$Z Úm.
H$) a{d{H$aU ‘§S>imÀ¶m H${dVoMo ñdê$n d dmQ>Mmb ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXmn¶ªV {bhm. [20]
A) H$dr g§Xrn Iao ¶m§À¶m "ê$n: H${dVoMo' ¶m nmR>çnwñVH$mVrb H${dVm§Mm Ame¶ ñnï> H$am.
~) H$dr àH$me hmoiH$a ¶m§À¶m "ê$n: H${dVoMo' ¶m nmR>çnwñVH$mVrb H${dVm§Mm n[aM¶ H$ê$Z Úm.
H$) H$dr Xo{dXmg Mm¡Yar ¶m§À¶m hm¶Hy$ H${dVoMo ñdê$n {deX H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZm§Mo CÎmao 300 eãXmn¶ªV {bhm. [15]
A) "ê$n: H${dVoMo' ¶m nmR>çnwñVH$mVrb H${dVm§À¶m AmYmao ^mfme¡br {deX H$am.
~) "ê$n: H${dVoMo' ¶m nmR>çnwñVH$mVrb H$dtÀ¶m H${dVm§Mo doJionU Vw‘À¶m ^mfoV ñnï> H$am.



[Total No. of Pages : 1
SEAT No. :

P.T.O.



Total No. of Questions : 4]

[6041]-634
T.Y.B.A.

MARATHI (‘amR>r)
CC-1F(3) : ì¶mdhm[aH$ d Cn¶mo{OV ‘amR>r ^mJ - 6

(2019 Pattern) (CBCS) (Semester - VI) (36024)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P173

à.à.à.à.à.1) nwT>rb ghmn¡H$s Mma àíZm§Mr CÎmao WmoS>³¶mV {bhm. [20]
A) ’o$g~wH$Mo ‘hÎd d VmoQ>o gm§Jm.
~) ãbm°JMo {d{dY àH$ma gm§Jm.
H$) do~gmB©Q> åhUOo H$m¶?
S>) Om{hamV boIZmMo ñdê$n gm§Jm.
B) Om{hamVrMm hoVy gm§Jm.
’$) Om{hamVm§À¶m ^mfoMo ñdê$n WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.2) nwT>rb VrZn¡H$s XmoZ àíZm§Mr CÎmao g{dñVa {bhm. [20]
A) EH$m§{H$H$m åhUOo H$m¶ gm§JyZ Ë¶m§Mo KQ>H$ ñnï> H$am.
~) Vwåhr nm{hboë¶m EH$m ‘amR>r {MÌnQ>mMo narjU H$am.
H$) bKwnQ>mMo narjU H$aVmZm H$moUË¶m Jmoï>r {dMmamV ¿¶mdm bmJVmV?

à.à.à.à.à.3) nwT>rb VrZn¡H$s XmoZ àíZm§Mr CÎmao g{dñVa {bhm. [20]
A) B©-d¥ÎmnÌmMo ^m{fH$ doJionU ñnï> H$am.
~) ãbm°J åhUOo H$m¶ gm§JyZ ãbm°J boIZmMo ’$m¶Xo {bhm.
H$) d¥ÎmnÌm‘Yrb Om{hamVrMo ñdê$n ñnï> H$am.

à.à.à.à.à.4) nwT>rb XmoZn¡H$s EH$m àíZmMo CÎma g{dñVa {bhm. [10]
A) Ý¶wO nmoQ>©bMr ì¶m»¶m gm§JyZ ñdê$n ñnï> H$am.
~) J«mhH$m§Zm à^m{dV H$aÊ¶mgmR>r Om{hamVr ‘Ü¶o H$moUH$moUË¶m Jmoï>rMm dmna Ho$bm OmVmo?



[Total No. of Pages : 1
SEAT No. :

P.T.O.



1[6041]-635

Total No. of Questions : 4]

[6041]-635
T.Y. B.A.

FRENCH GENERAL
CC-1F : Upper Intermediate French

(2019 Pattern) (Semester - VI) (36033)
Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compusory.
2) Answer all questions in full sentence.
3) Use of dictionary is not allowed.
4) The medium of answer is French.

P174 [Total No. of Pages : 3
SEAT No. :

P.T.O.



2[6041]-635



3[6041]-635





Total No. of Questions : 3]

[Total No. of Pages : 3

[6041]-636
T.Y. B.A.

CC-1F-GG6 : GERMAN GENERAL
(2019 Pattern) (CBCS) (Semester - VI) (36043)

Time : 2 ½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-2753

SEAT No. :

P.T.O.

Q1)

Q2)

[16]
[10]

[6]

[30]
[20]



[6041]-636 2

Q3)

[6]

[10]

[4]

[6]

[4]

[2]
[2]

[24]



[6041]-636 3



[4]

[6]



[6041]-637        
T.Y.B.A.
URDU

CC-1E : Urdu Fiction : Study of Dastan & Afsana 
(2019 Pattern) (CBCS) (Semester-VI) (36073)

Time :2½ Hours] [Max. Marks : 70

                                               
             

[10]  




[15]  




[10]   


 

[15]    




P.T.O.

P175

Total No. of Questions : 5]

[Total No. of Pages :2

SEAT No. :



[20]   
 a

 b

 c

 d

  (e

 (f

[6041]-637 -2-



Total No. of Questions : 3]

[6041]-638
T.Y.B.A.

MARATHI (‘amR>r)
SEC-2D(2) : H$m¶©H«$‘ g§¶moOZmVrb ^m{fH$ H$m¡eë¶o : ^mJ - 2

(2019 Pattern) (Semester - VI) (CBCS) (36025)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P176

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma g{dñVa {bhm. [10]

A) ‘hm{dÚmb¶mV g§nÞ Pmboë¶m "‘amR>r dmL²>‘¶ ‘§S>imÀ¶m' CX²KmQ>Z H$m¶©H«$‘mMo Ahdmb
boIZ H$am.

~) "‘amR>r ^mfm {XZ' H$m¶©H«$‘mÀ¶m Am¶moOZmgmR>r H$m¶©H«$‘ n{ÌHo$Mo boIZ H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma g{dñVa {bhm. [10]

A) ‘hm{dÚmb¶mV Am¶mo{OV Ho$boë¶m "nwñVH$ àXe©Z' H$m¶©H«$‘mÀ¶m g§¶moOZmMr ‘m{hVr {bhm.

~) ‘hm{dÚmb¶mVrb ‘amR>r {d^mJmZo Am¶mo{OV Ho$boë¶m ì¶m»¶mZ‘mboMr nyd©V¶mar H$er H$amb
Vo {bhm.

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma {bhm. [5]

A) amÁ¶ñVar¶ dH$V¥Ëd ñnY}À¶m CX²KmQ>ZmgmR>r à‘wI nmhþÊ¶m§Zm {Z‘§{ÌV H$aÊ¶mgmR>r {Z¶§ÌU nÌmMo
boIZ H$am.

~) Am^mgr (Am°ZbmB©Z) H$m¶©H«$‘ g§¶moOZmMo ’$m¶Xo {bhm.



[Total No. of Pages : 1
SEAT No. :

P.T.O.



[6041]-639        
T.Y.B.A.
URDU

SEC-2D : Introduction to Mass Media in Urdu
(2019 CBCS Pattern) (Semester-VI) (36074)

Time : 1½ Hour] [Max. Marks :25

                                               
             

[10]  




[10]  




[5]  
 (1

 (2

 (3

P177

Total No. of Questions : 3]

[Total No. of Pages :1

SEAT No. :



Total No. of Questions : 3]

[6041]-640
T.Y.B.A.

HINDI (qhXr)
SEC- 2D : SKILL ENHANCEMENT

nmR>çM¶m© … gm{hË¶ Am¡a {’$ë‘m§VaU
(2019 Pattern) (CBCS) (Semester - VI) (36096)

g‘¶ : 2 K§Q>o] [ nyUmªH$ : 25
gyMZmE± … 1) g^r àíZ A{Zdm¶© h¢&

2) Xm{hZr Amoa àíZm| Ho$ nyUmªH$ h¡&

P178

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZmo§ Ho$ CÎma {b{IE& [10]
A) "{gZo‘m' Ho$ {bE à¶wº$ hmoZo dmbo g‘mZmWu eãXm| H$m n[aM¶ Xr{OE&

~) {gZo‘m Ho$ "B{S>qQ>J' (g§nmXZ) VËd H$m g§{já n[aM¶ Xr{OE&

H$) ^maV ‘| {gZo‘m H$m Ama§̂  H¡$go hþAm?

S>) B³H$sgdt gXr ‘| ~Zr à‘wI qhXr {’$ë‘m| na àH$me S>m{bE&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [10]
A) "{’$ë‘m§VaU' H$m ñdê$n ñnï> H$s{OE&

~) "Zm¡H$a H$s H$‘rO' {’$ë‘ H$s H$Wm {b{IE&

H$) "{MÌboIm' {’$ë‘ H$m n[aM¶ Xr{OE&

S>) "Vrgar H$g‘' {’$ë‘ Ho$ Zm¶H$ "{ham‘Z' H$s Mm[a{ÌH$ {deofVmE± {b{IE&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$gr EH$ {df¶ na {Q>ßnUr {b{IE& [5]
A) "{’$Ma {’$ë‘' (H$Wm{MÌ)

~) "‘mohZXmg' {’$ë‘ H$s H$Wm&



[Total No. of Pages : 1
SEAT No. :



Total No. of Questions : 4]

[6041]-641
T.Y.B.A.

SANSKRTI (g§ñH¥$V)
SEC-2D : Sanskrit Writting Skill

(2019 Credit Pattern) (Semester - VI) (36114)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm :gyMZm :gyMZm :gyMZm :gyMZm : 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P179

à.à.à.à.à.1) ‘hm{dÚmb¶ñ¶ dm{f©H$moËgd‘² A{YH¥$Ë¶ {‘Ì§ à{V nÌ§ {bIVw& [7]

à.à.à.à.à.2) dm³¶§ ewÕ§ H¥$Ëdm {bIV& [5]
A) N>mÌm: H«$sS>m joÌo H$ÝXþH$mV² H«$sS>pÝV&

~) Ah§ nwñVH$mb¶oZ nwñVH$m{Z AmZ¶m{‘&

H$) amÁ¶m{^foH$g‘¶o MmaU: n¥WwZ¥nñ¶ ñVwqV JmVw‘wËgwH$m:&

S>) AaÊ¶o ‘¥J: H$mH$: M ñZohoZ {ZdgpÝV ñ‘&

B) {dído {dX²¶‘mZ§ àmMrZV‘ gm{hË¶§ Zm‘ doXdmL²>‘¶‘²&

à.à.à.à.à.3) H$ñ¶m{n EH$ñ¶ nwñVH$ñ¶ narjU§ ñdeãX¡: {bIV& [7]

à.à.à.à.à.4) ‘ÄOyfmV: {H«$¶mnXm{Z {MËdm [aº$ñWmZm{Z nya¶V& [6]
({ZYo{h, {dYo{h, Ohr{h, Xo{h, ^O, Mb, Hw$ê$)

A) Ëd§ {dX²¶mb¶§ ................&

~) amï´>o AZwaqº$ ................&

H$) ‘Ü¶§ Ob§ .................&

S>) ‘yR>! .............. YZmJ‘V¥îUm‘²&

B) ............... {dídoe‘²&

’$) gVV§ Ü¶o¶ñ‘aU§ ............&



[Total No. of Pages : 1
SEAT No. :

P.T.O.



Total No. of Questions : 3]

[6041]-642
T.Y.B.A.

POLITICAL SCIENCE
SEC 2D - Samyukta Maharashtra Movement

(2019 CBCS Pattern)  (Semester - VI) (36165)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P180 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any one question in the following questions in 200 words. [10]

a) Discuss on rethinking of Bilingual Bombay state.

b) Explain the formation of Samyukta Maharashtra.

Q2) Answer any one question in the following questions in 200 words. [10]

a) What is regional imbalance? Explain the demand of separate Vidarbha
state.

b) State the Aftermath of the Samyukta Maharashtra Movement on the
Politics of Maharashtra.

Q3) Write short note any one. [5]

a) Regional Development Board.

b) Marathwada Vikas Andolan.



P.T.O.



2[6041]-642

Total No. of Questions : 3]

[6041]-642
T.Y.B.A.

POLITICAL SCIENCE
SEC 2D - Samyukta Maharashtra Movement

(2019 CBCS Pattern)  (Semester - VI) (36165)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P180

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) {Û^m{fH$ ‘w§~B© amÁ¶mMm nwZ{d©Mma ¶mda MMm© H$am.

~) g§¶wº$ ‘hmamï´>mMr {Z{‘©Vr ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) àmXo{eH$ Ag‘Vmob åhUOo H$m¶? ñdV§Ì {dX ©̂ amÁ¶mMr ‘mJUr ñnï> H$am.

~) g§¶wº$ ‘hmamï´> MidirMo ‘hmamï´>mÀ¶m amOH$maUmdarb n[aUm‘ ñnï> H$am.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVrhr EH$) [5]

A) àmXo{eH$ {dH$mg ‘§S>io

~) ‘amR>dmS>m {dH$mg Am§XmobZ





Total No. of Questions : 3]

[6041]-643
T.Y.B.A.

HISTORY
SEC - 2(D) (2) : Heritage Management

(2019 CBCS Pattern)  (Semester - VI) (36176)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P181 [Total No. of Pages : 2
SEAT No. :

Q1) Write the answer to the following questions in 200 words (any one). [10]

a) State the importance of Verul - Ajantha as a world heritage site.

OR

b) Briefly explain world heritage sites in India by explaining what is world
heritage.

Q2) Write the answer to the following questions in 200 words (any one). [10]

a) Explain the measures taken by the Government for the promotion of
world heritage sits.

OR

b) Discuss the causes of deterioration of world heritage sites.

Q3) Write short note any one. [5]

a) Heritage management.

b) Saranath.



P.T.O.



2[6041]-643

Total No. of Questions : 3]

[6041]-643
T.Y.B.A.

HISTORY
SEC - 2(D) (2) : Heritage Management

(2019 CBCS Pattern)  (Semester - VI) (36176)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P181

à.à.à.à.à.1) Imbrb àíZmMo CÎma 200 eãXmV {bhm. (H$moUVohr EH$) [10]

A) doê$i-AO§R>mMo OmJVrH$ dmagm åhUyZ ‘hÎd gm§Jm.

qH$dm

~) OmJVrH$ dmagm åhUOo H$m¶ Vo gm§JyZ ^maVmVrb OmJVrH$ dmagm ñWim§Mr WmoS>³¶mV ‘m{hVr X²¶m.

à.à.à.à.à.2) Imbrb àíZmMo CÎma 200 eãXmV {bhm. (H$moUVohr EH$) [10]

A) OmJVrH$ dmagm ñWim§À¶m g§dY©ZmgmR>r gaH$maÀ¶m Cnm¶m§Mr ‘mhrVr X²¶m.

qH$dm

~) OmJVrH$ ñWim§À¶m XÿamdñWoÀ¶m H$maUm§Mr MMm© H$am.

à.à.à.à.à.3) WmoS>³¶mV Q>rn {bhm. (H$moUVohr EH$) [5]

A) dmagm ì¶dñWmnZ

~) gmaZmW





Total No. of Questions : 3]

[6041]-644
T.Y.B.A.

HISTORY
SEC-2D : Archaeology

(2019 Pattern) (CBCS) (Semester - VI) (36177)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P182 [Total No. of Pages : 2
SEAT No. :

Q1) Answer  the following questions in 200 words (any one). [10]

a) Explain the importance of Archaeology by giving various definitions.

OR

b) Write detailed information about Archaeological Survey of India.

Q2) Answer the following questions in 200 words (any one). [10]

a) What is Archaeology? Explain the objective & scope of Archaeology.

OR

b) Write detailed information about Deccan college department of
Archaeology.

Q3) Write short note. (any one) [5]

a) Tata institute of Fundamental research.

b) Cultural heritage.


P.T.O.



2[6041]-644

Total No. of Questions : 3]

[6041]-644
T.Y.B.A.

HISTORY
SEC-2D : Archaeology

(2019 Pattern) (CBCS) (Semester - VI) (36177)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P182

à.à.à.à.à.1) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) nwamVËdemñÌmÀ¶m {d{dY ì¶m»¶m gm§JyZ ‘hÎd ñnï> H$am.

qH$dm

~) ^maVr¶ nwamVËd gd}jU (ASI) Mr g{dñVa ‘m{hVr {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (’$º$ EH$) [10]

A) nwamVËdemñÌ åhUOo H$m¶ Vo gm§JyZ C{X²Xï>¶o d ì¶már ñnï> H$am.

qH$dm

~) S>o̧ $Z H$m°boO nwamVËd {d^mJmMr ‘m{hVr {bhm.

à.à.à.à.à.3) {Q>nm {bhm. (’$º$ EH$) [5]

A) Q>mQ>m ‘wb ŷV g§emoYZ g§ñWm, ‘w§~B©

~) gm§ñH¥${VH$ dmagm





Total No. of Questions : 3]

[6041]-645
T.Y.B.A.

HISTORY
SEC-2D : Numismatics

(2019 Pattern) (CBCS) (Semester - VI) (36178)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P183 [Total No. of Pages : 2
SEAT No. :

Q1) Write the answer to the following questions in 200 words. (any one) [10]
a) Explain the importance of numismatics in reconstructing Economic

History.

OR

b) Explain the Economic dimensions of Gupta Period Coins.

Q2) Write the answer to the following questions in 200 words. (any one) [10]

a) Explain about coins of Delhi Sultanate period.

OR

b) Explain the information about types of coins in independent India.

Q3) Short note  (any one) [5]

a) Karshapanas coins.

b) Indian Institute of Research in Numismatic studies (11RNS), Anjineri.



P.T.O.



2[6041]-183

Total No. of Questions : 3]

[6041]-645
T.Y.B.A.

HISTORY
SEC-2D : Numismatics

(2019 Pattern) (CBCS) (Semester - VI) (36178)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P183

à.à.à.à.à.1) Imbrb àíZm§Mo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]

A) Am{W©H$ B{VhmgmÀ¶m nwZ©aMZoV ZmUH$emñÌmMo ‘hËd ñnîQ> H$am.

qH$dm

~) JwáH$mimVrb ZmÊ¶m§Mr Am{W©H$ nar‘mUmVyZ ‘m{hVr ñnï> H$am.

à.à.à.à.à.2) Imbrb àíZm§Mo 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [10]

A) {X„r gëVZV H$mimVrb ZmÊ¶m§{df¶r ‘m{hVr ñnï> H$am.

qH$dm

~) ñdV§Ì ^maVmVrb ZmÊ¶m§À¶m àH$mam{df¶r ‘m{hVr X²¶m.

à.à.à.à.à.3) Q>rnm {bhm. (H$moUVohr EH$) [5]

A) H$fm©nZ ZmUr

~) B§S>r¶Z BpÝñQ>Q>¶wQ> Am°’$ [agM© BZ Ý¶w{‘ñ‘°{Q>H$ ñQ>S>rO (11RNS), A§{OZoar





Total No. of Questions : 3]

[6041]-646
T.Y.B.A.

GEOGRAPHY
SEC-2D : Research Methodology - II

(CBCS 2019 Pattern) (Semester - VI) (36206)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever necessary.
4) Use of map stencil is allowed.

P184 [Total No. of Pages : 2
SEAT No. :

Q1) Answer in 20 words each (any five) : [10]
a) What is mean by primary data?
b) Write the meaning of questionnaire?
c) What is structured questionnaire?
d) Define case study.
e) What is mean by article review?
f) What is mean by introduction in research report?
g) What is foot note?

Q2) Write short notes in about 100 words (any two) : [8]
a) Write the importance of collection of data.
b) Write the content of research report.
c) Write the structure of research report.

Q3) Write the answers of questions in 150 words (any one) [7]
a) Write various types of questionnaire.
b) Write the types of research report in detail.



P.T.O.



2[6041]-646

Total No. of Questions : 3]

[6041]-646
T.Y.B.A.

GEOGRAPHY
SEC-2D : Research Methodology - II

(CBCS 2019 Pattern) (Semester - VI)

(‘amR>r ê$nm§Va)

doi : 2  Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) ZH$mem nopÝgb dmnaÊ¶mg nadmZJr Amho.
5) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P184

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (H$moUVrhr nmM) [10]
A) àmW{‘H$ VÏ¶ åhUOo H$m¶?
~) àíZmdbrMm AW© gm§Jm.
H$) g§a{MV àíZmdbr åhUOo H$m¶?
S>) ì¶º$s AÜ¶¶Z - ì¶m»¶m
B) boI nwZamdbmoH$Z åhUOo H$m¶?
’$) g§emoYZ AhdmbmVrb àñVmdZm åhUOo H$m¶?
¶) ViQ>rnm åhUOo H$m¶?

à.à.à.à.à.2) n«Ë¶oH$s 100 eãXm§V Q>rnm {bhm. (H$moUVohr XmoZ) [8]
A) VÏ¶ g§H$bZmMo ‘hÎd gm§Jm.
~) g§emoYZ AhdmbmMo KQ>H$ gm§Jm.
H$) g§emoYZ AhdmbmMr aMZm ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 150 eãXm§V CÎmao {bhm. [7]
A) àíZmdbrMr {d{dY àH$ma g{dñVa ñnï> H$am.
~) g§emoYZ AhdmbmMo {d{dY àH$ma g{dñVa ñnï> H$am.





Total No. of Questions : 3]

[6041]-647
T.Y.B.A.

PSYCHOLOGY
SEC 2D : Personality Development - II

(2019 Credit Pattern) (Semester - VI) (36224)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P185 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following (any 1) : [10]

a) Discuss positive and negative self-esteem.

b) Explain personality structure as given by Carl Jung. Discuss how to
behave with extroverts and introverts.

Q2) Answer the following (any 1) : [10]

a) Discuss mind mapping and its applications in various fields.

b) Define communication. Explain non-verbal skills with examples.

Q3) Answer the following (any 1) : [5]

a) Explain characteristics of positive thinking.

b) Explain any five tips to achieve positive self-esteem.


P.T.O.



2[6041]-647

Total No. of Questions : 3]

[6041]-647
T.Y.B.A.

PSYCHOLOGY
SEC 2D : Personality Development - II

(2019 Credit Pattern) (Semester - VI) (36224)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P185

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) gH$mamË‘H$ d ZH$mamË‘H$ ñd-AmXa ñnï> H$am.

~) H$mb© ¶w§J ¶m§Mr ì¶º$s‘ËdmMr g§aMZm ñnï> H$am. ~{h‘w©I Am{U A§V‘w©I bmoH$m§er H$go dmJmdo
¶m~Ôb MMm© H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVmhr EH$) [10]

A) ~moYmË‘H$ ZH$mem ñnï> H$am d Ë¶mMo {d{dY joÌmVrb Cn¶moOZ ñnï> H$am.

~) g§àofUmMr ì¶m»¶m gm§Jm. A^m{fH$ g§àofU H$m¡eë¶o CXmhaUmgh ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao {bhm. (H$moUVohr EH$) [5]

A) gH$mamË‘H$ {dMma e¡brMr d¡{eï>²¶o gm§Jm.

~) gH$mamË‘H$ ñd-AmXa gmÜ¶ H$aÊ¶mgmR>rMr H$moUVrhr nmM ‘mJ©Xe©H$ VÎdo {bhm.





Total No. of Questions : 3]

[6041]-648
T.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
SEC-2D : Human Rights and India

(2019 Pattern) (CBCS) (Semester - VI) (36274)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P186 [Total No. of Pages : 4
SEAT No. :

Q1) Select the correct option for and rewrite the statement . [5]

a) In order to protect the rights of the bound persons as per section _____,
the High Court has the right to make various writs (archives).

i) Section 226 ii) Section 32

iii) Section 143 iv) Section 126

b) The Commission was established by the State of Maharashtra under the
State Minorities Commission Act ______

i) 2004 and 2005 ii) 2002 and 2003

iii) 2011 and 2012 iv) 2000 and 2056

c) The Supreme Court of India is here.

i) Mumbai ii) Calcutta

iii) New Delhi iv) Jaipur

d) Maharashtra State Human Rights Commission was established in ______

i) 2000 ii) 2001

iii) 2002 iv) 2003

e) The word “_____” was included in the preamble of the Constitution by
the 42nd Amendment Bill of 1976.

i) Justice and equality ii) Socialist and secular

iii) Freedom and equality iv) Brotherhood and faith

P.T.O.



2[6041]-648

Q2) Answer the following questions in 100 words each (any three) [12]

a) Explain the Fundamental Rights

b) Explain the importance of Sarvodaya

c) Explain the role of Indian Supreme Court

d) Describe the Provision in National Human Rights Commission

e) Explain the Functions of National Commission for Women

Q3) Answer the following question in 200 words each (any one) [8]

a) Explain in detail the charter of Indian Rights.

b) Describe in detail the role and functions of National Minorities
Commission.





3[6041]-648

Total No. of Questions : 3]

[6041]-648
T.Y.B.A.

DEFENCE AND STRATEGIC STUDIES
SEC-2D : Human Rights and India

(2019 Pattern) (CBCS) (Semester - VI) (36274)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nwU© JwU Xe©{dVmV.

P186

à.à.à.à.à.1) ¶mo½¶ n¶m©¶ {ZdSy>Z {dYmZo naV {bhm. [5]

A) H$b‘ .......... Zwgma ~§{YV bmoH$m§À¶m A{YH$mamMo g§ajU H$aÊ¶mgmR>r Cƒ Ý¶m¶mb¶mÀ¶m
{d{dY [aQ> (àm{YboI) Omar H$aÊ¶mMm A{YH$ma Amho.

i) H$b‘ 226 ii) H$b‘ 32

iii) H$b‘ 143 iv) H$b‘ 126

~) ‘hmamï´> amÁ¶mZo amÁ¶ Aëng§»¶m§H$ Am¶moJ A{Y{Z¶‘ ............ ‘Ü¶o A§‘bmV AmUyZ .........
‘Ü¶o Am¶moJmMr ñWmnZm H$aÊ¶mV Ambr.

i) 2004 d 2005 ii) 2002 d 2003

iii) 2011 d 2012 iv) 2000 d 2006

H$) ^maVr¶ gdm}ƒ Ý¶m¶mb¶ .......... ¶oWo Amho.

i) ‘w§~B© ii) H$bH$Îmm

iii) Zdr {X„r iv) O¶nya

S>) ‘hmamï´> amÁ¶ ‘mZdm{YH$ma Am¶moJmMr ñWmnZm .......... ‘Ü¶o H$aÊ¶mV Ambr.

i) 2000 ii) 2001

iii) 2002 iv) 2003

B) gZ 1976 ‘Yrb 42 ì¶m KQ>Zm Xþê$ñVr {dYo¶H$mÛmao amÁ¶KQ>ZoÀ¶m àñVmdZoV ........... Ago
eãX g‘m{dï> H$aÊ¶mV Ambo.

i) Ý¶m¶ d g‘Vm ii) g‘mOdmXr d Y‘©{Zanoj

iii) ñdmV§Í¶ d g‘Vm iv) ~§YwVm d AmñWm



4[6041]-648

à.à.à.à.à.2) 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [12]

A) ‘wb ŷV A{YH$ma ‘wb ŷV ñnï> H$am.

~) gdm}X¶Mo ‘hÎd ñnï> H$am.

H$) ^maVr¶ gdm}ƒ Ý¶m¶mb¶mMr ŷ{‘H$m ñnï> H$am.

S>) amï´>r¶ ‘mZdr h¸$ Am¶moJmVrb VaVwXr {deX H$am.

B) amï´>r¶ ‘{hbm Am¶moJmMr H$m¶} ñnï> H$am.

à.à.à.à.à.3) 200 eãXm§V CÎmao {bhm. (H$moUVohr EH$) [8]

A) ^maVr¶ A{YH$mam§Mr gZX g{dñVa ñnï> H$am.

~) amï´>r¶ Aëng§»¶m§H$ Am¶moJmMr ŷ{‘H$m Am{U H$m¶} g{dñVa {deX H$am.





1[6041]-649

Total No. of Questions : 3]

[6041]-649
T.Y.B.A.

ENGLISH
SEC-2D : Mastering lifeSkills and Life Values

  (2019 Pattern)  (CBCS) (Semester-VI) (36334)

Time : 1 Hour] [Max. Marks : 25
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P187 [Total No. of Pages : 1

SEAT No. :

Q1) Attempt any one of the following in about 150 words. [10]

a) Define life values and explain its significance.

b) What are human values. Explain some common values in detail.

Q2) Attempt any one of the following in about 150 words. [10]

a) Write a short note on ‘Aesthetic values’.

b) Differentiate between ‘Self-Awareness’ and ‘Self Management.

Q3) Attempt any one of the following in about 50 words. [5]

a) Explain ‘Ethical Values’ in detail.

b) ‘A moral value is a value that defines what is right and wrong’. Discuss.





Total No. of Questions : 2]

[6041]-650
T.Y.B.A.

SOCIOLOGY
SEC - 2D : Understanding and Mitigating Violence

(2019 Pattern) (CBCS) (Semester - VI) (36375)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are Compulsory.
2) Figures to the right indicate full marks.

P188 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 200 words.(any one) [10]

a) Explain the different type of reasons for violence.

b) Discuss what measures can be taken at the social, political and community
level to end violence.

Q2) Write a Short notes (any three) [15]

a) Religiou Fundamentalism

b) NGO’S dissemination and action

c) Bullying

d) Childern violence

e) Mahatma Gandhi Tanta Mukti Yojana



P.T.O.



2[6041]-650

Total No. of Questions : 2]

[6041]-650
T.Y.B.A.

SOCIOLOGY
SEC - 2D : Understanding and Mitigating Violence

(2019 Pattern) (CBCS) (Semester - VI) (36375)
(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P188

à.à.à.à.à.1) Imbrb àíZmMo CÎma 200 eãXm§V {bhm. (H$moUVohr EH$>) [10]

A) {h§gmMmamMo {d{dY H$maUo {deX H$am.

~) qhgmMma g§ndÊ¶mgmR>r gm‘m{OH$, amOH$s¶ Am{U gm‘wXm{¶H$ nmVirda H$moUË¶m Cnm¶¶moOZm
am~dVm ¶oVrb ¶mda MMm© H$am.

à.à.à.à.à.2) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]

A) Ym{‘©H$ ‘ybVËddmX

~) {~Ja emgH$s¶ g§KQ>ZmMm àgma Am{U H$m¶©

H$) Jw§S>{Jar

S>) ~mb qhgm

B) ‘hmË‘m Jm§Yr V§Q>m ‘wº$s ¶moOZm





Total No. of Questions : 2]

[6041] - 651
T.Y.B.A.

PHILOSOPHY
SEC-2D : Course onYoga and Vipassana : Way of Good Life

(2019 Pattern) (CBCS) (Semester - VI) (36425)

Time : 1 Hour] [Max. Marks :25
Instructions to the candidates:

1) All questions are Compulsory.
2) Figures to the right indicate full marks.

P189 [Total No. of Pages : 2
SEAT No. :

Q1) Write a short note on any three of the following in 50  words each. [15]

a) Meaning Of Yoga

b) Bhakti yoga

c) Buddha’s concept of ‘Samyak Vacca’

d) Health and Yoga

e) Vipassana

Q2) Answer the following question in 200 words. (Any one) [10]
a) Explain the terms ‘Jnyana Yoga’ and ‘Bhakti Yoga’ in Bhagavadgita.

b) How can one improve his/her vipassana, explain.



P.T.O.



2[6041]-651

Total No. of Questions : 2]

[6041] - 651
T.Y.B.A.

PHILOSOPHY
SEC-2D : Course onYoga and Vipassana : Way of Good Life

(2019 Pattern) (CBCS) (Semester - VI) (36425)
(‘amR>r ê$nm§Va)

doi : 1 Vmg] [ EHy$U JwU : 25
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ nyU© JyU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àý n{ÌH$m nmhmdr.

P189

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZmda 50 eãXmV Q>rnm {bhm. [15]

A) ¶moJ g§H$ënZoMm AW©.

~) ^º$s¶moJ

H$) ~wÕmMr g§H$ënZm ‘gå¶H$ dmH²$’

S>) Amamo½¶ Am{U ¶moJ

B) {dní¶Zm

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo 200 eãXmV CÎmao {bhm. [10]

A) ^JdÖrVoVrb kmZ ¶moJ Am{U ^º$s ¶moJ ñnï> H$am.

~) EImXr ì¶º$s Ë¶mMr/ {VMr {dní¶Zm H$er gwYmê$ eH$Vo, ñnï> H$am.





Total No. of Questions : 3]

[6041]-652
T.Y.B.A.

PUBLIC ADMINISTRATION
SEC - 2D : Samyukta Maharashtra Movement
(2019 Pattern) (CBCS) (Semester - VI) (36447)

Time : 2 Hours] [Max. Marks : 25
Instructions to the candidates:

1) All questions are Compulsory.
2) Figures to the right indicate full marks.

P190 [Total No. of Pages : 2
SEAT No. :

Q1) Answer any one of the following in 200 words. [10]

a) What is regional imbalance? Discuss on Regional Development Board.

b) Explain rethinking of bilingual Bombay State.

Q2) Answer any one question in the following questions (200 words) [10]

a) Discuss on formation of Samyukta Maharashtra.

b) State the after math of Samyukta Maharashtra Movement on Politics in
Maharashtra.

Q3) Write short note (any one). [5]

a) Demand of separate Vidarbha State.

b) Marathwada vikas Andolan.



P.T.O.



2[6041]-652

Total No. of Questions : 3]

[6041]-652
T.Y.B.A.

PUBLIC ADMINISTRATION
SEC - 2D : Samyukta Maharashtra Movement
(2019 Pattern) (CBCS) (Semester - VI) (36447)

(‘amR>r ê$nm§Va)

doi : 2 Vmg] [ EHy$U JwU : 25

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JyU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P190

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) àmXo{eH$ Ag‘Vmob åhUOo H$m¶? àmXo{eH$ {dH$mg ‘§S>io ¶mda MMm© H$am.

~) {Û^m{fH$ ‘§w~B© amÁ¶mMm nwZ{d©Mma ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 200 eãXmV {bhm. [10]

A) g§¶wº$ ‘hmamï´>mMr {Z{‘©Vr ¶mda MMm© H$am.

~) g§¶wº$ ‘hmamï´> MidirMo ‘hmamï´>mÀ¶m amOH$maUmdarb n[aUm‘ gm§Jm.

à.à.à.à.à.3) {Q>nm {bhm. (H$moUVohr EH$) [5]

A) ñdV§Ì {dX ©̂ amÁ¶mMr ‘mJUr

~) ‘amR>dmS>m {dH$mg Am§XmobZ





Total No. of Questions : 5]

P-191       [Total No. of Pages : 2

[6041]-653
T.Y. B.A.

HINDI (qhXr) (gm_mÝ` nona - III)
Core Course - 1F : JOb {dÚm Am¡a nÌmMma

(Gazal Vidha aur Patrachar)
(2019 Pattern) (CBCS) (Semester - VI) (36093)

g‘¶ : 2½ KÊQ>o]                      [nyUmªH$ : 70
nmRçnwñVH$ : gm ò _| Yyn-g§nm. Xþî`ÝV Hw$_ma

gyMZmE± :- 1) g^r àíZ A{Zdm¶© h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢ &

SEAT No. :

P.T.O.

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) JOb H$s n[a^mfm XoVo hþE JOb Ho$ {d{dY A§Jm| H$m n[aM` Xr{OE&

~) Xþî`ÝV Hw$_ma Ho$ ì`{ŠVËd Ed§ H¥${VËd H$m n[aM` Xr{OE&

H$) "Bg ZXr H$s Yma _| R>§S>r hdm AmVr Vmo h¡' JOb H$m ^mdmW© {b{IE&

S>) " ŷI h¡ Vmo g~« H$a, amoQ>r Zht Vmo Š`m hþAm' JOb Ho$ Ame` H$mo ñnï> H$s{OE&

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE : [14]

A) Xþî`ÝV Hw$_ma H$s JObm| _| amOZr{V H$m {MÌU {H$g àH$ma hþAm h¡? ñnï> H$s{OE&

~) Xþî`ÝV Hw$_ma H$s JObm| _| gm_m{OH$ _yë`m| H$m {MÌU {H$g àH$ma hþAm h¡?

H$) "hmo JB© h¡ nra' JOb Ho$ _mÜ`_ go Xþî`ÝV Hw$_ma Zo H$m¡Z-gm g§Xoe {X`m h¡?

S>) "amoO O~ amV H$mo ~mah H$m JOa hmoVm h¡' JOb Ho$ _mÜ`_ go H${d Š`m H$hZm MmhVo h¡?
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àíZ 3) {ZåZ{b{IV ‘| go {H$Ýht Xmo {df`m| na {Q>ßn{U`m± {b{IE : [14]
A) JOb Ho$ {d{dY àH$ma&

~) JOb H$m gm_mÝ` n[aM`&

H$) JOb H$s ^mfm&

S>) JOb H$s {d{dY n[a^mfmE±&

àíZ 4) A) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE : [7]
i) ""Bg eha _| dmo H$moB© ~mamV hmo `m dmaXmV,

A~ {H$gr ^r ~mV na IwbVr Zht h¢ {IS>{H$`m± ''&

ii) ""IwXm Zht, Z ghr AmX_r H$m »dm~ ghr,

H$moB© hgrZ ZOmam Vmo h¡ ZOa Ho$ {bE''&

~) {ZåZ{b{IV _| go {H$gr EH$ AdVaU H$s gg§X ©̂ ì`m»`m H$s{OE : [7]
i) ""A~ {H$gr H$mo ^r ZOa AmVr Zht H$moB© Xama,

Ka H$s ha Xrdma na {MnHo$ h¢, BVZo BñVhma''&

ii) ""ha gS>H$ na, ha Jbr _|, ha ZJa, ha Jm±d _|,

hmW bhamVo hþE ha bme MbZr Mm{hE''&

àíZ 5) {ZåZ{b{IV _| go {H$Ýht Xmo {df` na nÌ boIZ H$m Z_yZm V¡̀ ma H$s{OE : [14]
A) lr A{_V Jmoñdm_r emIm à~§YH$ EM. S>r. E\$. gr. dmamUgr AnZr emIm Ho$ H$_©Mm[a`m|

H$mo emIm H$s \$mBb| AnZo na Z bo OmZo g§~§Yr H$m`m©b` AmXoe Omar H$aVo h¡& nÌ H$m
Z_yZm V¡̀ ma H$s{OE&

~) ^maV gaH$ma, ImÚ _§Ìmb` Ho$ Cng{Md lr `enmb, _hmamï´> Ho$ Am{Xdmgr nr{S>V bmoJm|
H$mo AÝZ gm_J«r ôOZo Ho$ g§X ©̂ _| _hmamï´> gaH$ma H$mo gaH$mar nÌ ôOVo h¡& gaH$mar nÌ
H$m Z_yZm V¡̀ ma H$s{OE&

H$) S>m°. ñZohb ^maVr, Mr\$ H$_reZa, _mZd g§gmYZ {dH$mg _§Ìmb`, ZB© {Xëbr, g^r
{díd{dÚmb`m| Ho$ Hw$bn{V`m| H$mo H«$m§{VÁ`mo{V gm{dÌr~mB© \w$bo H$s O §̀Vr _ZmZo hoVw n[anÌ
Omar H$aVr h¡& n[anÌ H$m Z_yZm V¡̀ ma H$s{OE&

S>) H|$Ðr` qhXr {ZXoemb` Ho$ {ZXoeH$ Ûmam g^r {díd{dÚmb`m| Ho$ A§VJ©V _hm{dÚmb`m| _|
"qhXr {Xdg' _ZmZo hoVw AmXoe XoVo h¡& H$m`m©b` AmXoe H$m Z_yZm V¡̀ ma H$s{OE&


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[6041]-654
T.Y. B.A.

HINDI (qhXr)
Core Course - 1F (G - 3) : à`moOZ_ybH$ qhXr _mÜ`_ boIZ

(2019 Pattern) (Semester - VI) (36094)

g‘¶ : 3 KÊQ>o]                      [nyUmªH$ : 70

gyMZmE± :- 1) g^r àíZ A{Zdm¶© h¢ &
2) Xm{hZr Amoa {bIo A§H$ àíZm| Ho$ nyUmªH$ h¢ &

SEAT No. :

P.T.O.

àíZ 1) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) OZg§Mma _mÜ`_ H$m ñdê$n ñnï> H$s{OE&

~) Ñí` _mÜ`_ go Š`m VmËn ©̀ h¡? ñnï> H$s{OE&

H$) lì` _mÜ`_ H$m AW© Ed§ ñdê$n ñnï> H$s{OE&

S>) à`moOZ_ybH$ qhXr H$s n[a^mfm Ed§ ñdê$n g_PmBE&

àíZ 2) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) à{VdoXZ H$m AW© VWm n[a^mfmE± {b{IE&

~) n¥ð> gÁOm (_oH$An) H$mo {dñVma go g_PmBE&

H$) à{VdoXZ Ho$ {bE n¥ð> {ZYm©aU H¡$go {H$`m OmVm h¡?

S>) à{VdoXZ Ho$ {bE gm_J«r H$m g§̀ moOZ H¡$go {H$`m OmVm h¡? AnZo eãXm| _| {b{IE&
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àíZ 3) {ZåZ{b{IV ‘| go {H$Ýht Xmo àíZm| Ho$ CÎma {b{IE& [14]

A) g§Mma H«$m§{V Ed§ gyMZm àm¡Úmo{JH$s H$m ^{dî` AnZo eãXm| _| {b{IE&

~) B©-H°$e VWm {S>OrQ>b hñVmja-{dñVma go g_PmBE&

H$) gm`~a {ejm ñnï> H$s{OE&

S>) B©-H$m°_g© VWm B©-\¡$Šg H$s Cn`mo{JVm {b{IE&

àíZ 4) {ZåZ{b{IV ‘| go {H$Ýht VrZ na {Q>ßnUr {b{IE& [21]

A) OZg§Mma _mÜ`_ Am¡a qhXr&

~) Ñí` _mÜ`_ Ho$ {bE g_mMma boIZ&

H$) à{VdoXZ H$m ñdê$n&

S>) à{VdoXZ _| erf}H$ H$m _hËd&

B) gyMZm àm¡Úmo{JH$s H$s CnmXò Vm&

\$) B©-g§gmYZm| H$s gr_mE±&

àíZ 5) {ZåZ{b{IV _| go {H$gr EH$ àíZ H$m CÎma {b{IE& [7]

A) Ñí` _mÜ`_ _| H¡$gr ^mfm à ẁŠV hmoVr h¡? {dñVma go {b{IE&

~) à{VdoXZ Ho$ H$bmnj Ed§ _wÐU H$mo ñnï> H$s{OE&

H$) ZoQ> ~¢qH$J Am¡a Am^mgr H$jm go Š`m VmËn ©̀ h¡? {dñVma go ~VmBE&


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T.Y.B.A. (Semester-VI)

PERSIAN
36103:CC-1E:POETRY,POETIC TERMS & FIGURES OF SPEECH

(2019 Pattern )  

P-193

Total No. of Questions : 5

[Time : 2½ HoursTotal Marks : 70]

Instruction to candidates :

1)  All questions are Compulsory.
2) Figures to the right indicate full marks.

Q.1 Write a Short note on any three of the following Poetic terms:        [12]



Q.2  Give the definition of any five of the following with example: [10]





Q.3 Write the Summary of any two of the following Poems:  [12]



Q.4 Discuss the life and literary Contribution of any two of the 

following Poets:  [16]





SEAT No.
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Q.5 A)  Translate of Explain any seven of the following Couplets:         [14]

 (i    

   

 (ii  



  (iii

 

 (iv



 (v



 (vi



 (vii



 (viii

   

 (ix



[6041]-6552



 (x



 (xi



 (xii



B) Translate the  following English passage in to your own language: [6]

       Life is difficult to call home without friends. As it pertains to Books,

         they can be our close friends ever. We cannot feel alone in the business              

      of book. We are able to learn many nutrients while reading a good 

     book. Books published by famous and experienced people help us to

      become a better person and also teach us just how to serve society  

     in a perfect way.         

                      
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[6041]-656
T.Y. B.A.

SANSKRIT (General)
SEC - 1D : Kavi Bhartruharivirachitam N itishatakam

H${d ^V©¥h[a{da{MV§ Zr{VeVH$_²
(2019 Pattern) (Semester - VI) (36113)

Time : 2½ Hours] [Max. Marks : 70
Instructions : 1) All questions are compulsory.
gyMZm : gd© àíZ A{Zdm¶© AmhoV.

2) Figures to the right indicate full marks.
COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-194

Q1) Translate into English or Marathi (Any Three) : [15]
nwT>rbn¡H$s H$moUË`mhr {VÝhrMo B§J«Or qH$dm _amR>rV ^mfm§Va H$am.
a) {à`m Ý`mæ`m d¥{Îm_©{bZ_gŵ “mo@nmgwH$a§

ËdgÝVmo ZmÏ`Ï`m©: gwöX{n Z `mÀ`: H¥$eYZ:&
{dnYwûM¡: ñW¡̀ ª nX_Zw{dYò § M _hVm§
gVm§ Ho$Zmo{ˆßQ>§ {df__{gYmam àV{_X_²&

b) ~moÕmamo _ËgaJ«ñVm: à^d: gZ`Xÿ{fVm:
A~moYmonhVmíMmÝ ò OrU©_“o gŵ m{fV_²&

c) Ak: gwI_mamÜ`: gwIVa_mamÜ`Vo {deofVm&
kmZbdXþ{d©X½Y§ ~«÷m{n Za§ Z aÄO`{V&&

d) XmZ§ ^moJmo ZmepñVòmo JV`mo ^dpÝV {dÎmñ`&
`mo Z XXm{V Z ŵL‰>Vo Vñ` V¥Vr`m J{V ©̂d{V&&

Q2) a) Reference to the context in English or Marathi (Any Two) : [10]
gg§X ©̂ ñnï>rH$aU H$am (H$moUË`mhr Xmohm|Mo) :
i) ZmpñV òfm§ `e:H$m ò Oam_aUO§ ^`_²&
ii) ñdmZŵ yË òH$_mZm` Z_: emÝVm` VoOgo&
iii) godmY_©: na_JhVmo `mo{JZm_ß`Jå`:&

P.T.O.
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b) Write answers in Sanskrit : (Any 5) [5]

g§ñH¥$VmV CÎmao {bhm.  (H$moUVrhr nmM)

i) gËnwê$fm: g_¥{Õ{^: H$W§ ^dpÝV?

ii) gwIVa_mamÜ`: H$ñ`m§ nÕVm¡ d{U©Vm:?

iii) naYZo na`mo{f{V M ñn¥hm Ho$fm_²?

iv) {dÚ`m Ab‘¥>V: A{n H$: n[ahV©ì`:?

v) {ZpíMVmWm©X² Ho$ Z {da_pÝV?

vi) àmaãY§ Ho$ Z n[aË`OpÝV?

Q3) a) Mathch the following : [5]

C{MV§ ̀ w½_§ {d{MZwV

i) Ý`m`mV² nW: Z {dMbpÝV a) Yra:

ii) gwI§ Xþ:I§ Z JU`{V b) _yH$:

iii) _m¡ZmV² JÊ`Vo@ §̀ Xmg: c) XmZdn{V:

iv) \$bmoX²J_¡: Z_«m: d) Yra:

v) erfm© d gofrH¥$V: e) Vad:

b) Explain X¡dnÕ{V: "X¡dnÕ{V:' ñnï> H$am. [15]

OR / qH$dm

Explain {dÕËnÕ{V: "{dÕËnÕ{V:' ñnï> H$am.

Q4) Write short notes (Any Two) : [20]

Q>rnm {bhm (H$moUË`mhr Xmohm|da)

a) _yI©:

b) Yra:

c) _mZem¡̀ ©nÕ{V:


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ARABIC
36141:CC-1F-CLASSICAL POETRY&GRAMMAR 

(2019 Pattern )  

P-195

Total No. of Questions : 3

[Time : 2½ HoursTotal Marks : 70]

Instruction to candidates :

1) Attempt all questions.
2) Figures to the right  indicate full marks.

Q.1 Write Short notes on any two of the Eminent Poets in 

Eng/Urdu/Marathi of the following:          [30]

 (i 

  (ii

 (iii

Q.2  Translate and Explain the following Poem in Eng/Urdu/ Marathi:      [20] 

 (i 



 (ii



SEAT No.
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 (iii

       

  (iv



 (v



 (vi



  (vii

  

Q.3     Define and illustrate any two of the following Grammar:         [20]

                                

 (i

 (ii

 (iii

                


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Total No. of Questions : 4]

[6041]-658
T.Y.B.A.

ECONOMICS
CC- IF : Indian Economic Development - II

(2019 Pattern) (CBCS) (Semester - VI) (36153)(General Paper-III)

Time : 2½ Hours] [Max. Marks :70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Draw neat diagrams wherever is necessary.

P196 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in 20 words each. (any Eight) [16]

a) State the two characteristics of Economic planing.

b) State the meaning of economic planing.

c) Write the full form of NITI.

d) Who is the chairperson of NITI Aayog.

e) State the Zero Hunger Goal of sustainable development.

f) Write the full form of S D G.

g) State any two law of environment pretection.

h) State two objectives of National Environment policy - 2006.

i) When did establish the planing commission in India.

j) State any two principles of National Environment policy - 2006.

P.T.O.
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Q2) Answer the following questions in 50 words. (any four) [16]
a) State the importance of Economic planing.

b) State the four differences between NITI Aayog and planing commission.

c) State the current scenario of sustainable development Goals in India.

d) State the relationship between economic development and environment.

e) State the concept of sustainable development.

f) State in brief the concept of Global Warming.

Q3) Answer the following questions in 100 words. (any three) [18]

a) Explain the objectives of Indian Economic planing.

b) Explain the objectives of NITI Aayog.

c) Explain the measures for sustainable Development.

d) Explain the effects of Global Warming.

Q4 Answer the following questions in 200 words. (any two) [20]

a) Explain the functions of NITI Aayog.

b) Explain the importance of sustainable Development.

c) Explain the causes of Global Warming.


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Total No. of Questions : 4]

[6041]-658
T.Y.B.A.

ECONOMICS
CC- 1F : Indian Economic Development - II

(2019 Pattern) (CBCS) (Semester - VI) (36153) (General Paper-III)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m.
4) g§X^m©gmR>r ‘yi B§J«Or àíZ n{ÌH$m nhmdr.

P196

à.à.à.à.à.1) nwT>rb àíZm§Mr àË¶oH$s 20 eãXm§V CÎmao {bhm. (H$moUVohr AmR>) [16]

A) Am{W©H$ {Z¶moOZmMr XmoZ d¡{eï>¶o gm§Jm.

~) Am{W©H$ {Z¶moOZmMm AW© gm§Jm.

H$) NITI Mo nyU© ê$n {bhm.

S>) {ZVr Am¶moJmMm AÜ¶j H$moU AgVmo?

B) emídV {dH$mgmMo ewÝ¶ ŷH$ Ü¶o¶ gm§Jm.

’$) SDG Mo nyU© ê$n {bhm.

¶) n¶m©daU g§ajUmMo H$moUVohr XmoZ H$m¶Xo gm§Jm.

a) amï´>r¶ n¶m©daU YmoaU-2006 Mr XmoZ C{Ôï>ço gm§Jm.

b) ^maVmV {Z¶moOZ Am¶moJmMr ñWmnZm Ho$ìhm Pmbr.

d) amï´>r¶ n¶m©daU YmoaU-2006 Mr H$moUVohr XmoZ VËdo gm§Jm.
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à.à.à.à.à.2) nwT>rb àíZm§Mr àË¶oH$s 50 eãXm§V CÎmao {bhm. (H$moUVohr Mma) [16]

A) Am{W©H$ {Z¶moOZmMo ‘hÎd gm§Jm.

~) {ZVr Am¶moJ Am{U {Z¶moOZ Am¶moJmVrb H$moUVohr Mma ’$aH$ gm§Jm.

H$) ^maVmVrb emídV {dH$mgmÀ¶m bú¶m§Mr gÚpñWVr gm§Jm.

S>) Am{W©H$ {dH$mg d n¶m©daU ¶m§Vrb g§~§Y gm§Jm.

B) emídV {dH$mgmMr g§H$ënZm gm§Jm.

’$) ½bmo~b dm{‘ªJMr g§H$ënZm WmoS>³¶mV gm§Jm.

à.à.à.à.à.3) nwT>rb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [18]

A) ^maVr¶ Am{W©H$ {Z¶moOZmMr C{Ôï>ço ñnîQ> H$am.

~) {ZVr Am¶moJmMr C{Ôï>ço ñnï> H$am.

H$) emídV {dH$mgmMo Cnm¶ ñnï> H$am.

S>) ½bmo~b dm{‘ªJMo n[aUm‘ ñnï> H$am.

à.à.à.à.à.4) nwT>rb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]

A) {ZVr Am¶moJmMr H$m¶} ñnîQ> H$am.

~) emídV {dH$mgmMo ‘hÎd ñnï> H$am.

H$) ½bmo~b dm{‘ªJMo H$maUo ñnï> H$am.


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[6041]-659
T.Y.B.A.

POLITICAL  SCIENCE
CC-1F : Modern Political  Analysis

(2019 Pattern) (CBCS) (Semester - VI) (36163)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P197 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in 20 words each.  (Any eight) [16]

a) Meaning of Political Participation.

b) Define : Ruling Class.

c) Name the Proponent of the model of Political Participation.

d) Define Political Communication.

e) Define Influence.

f) Types of Authority.

g) Any 2 limitations of legitimacy.

h) Define : Power

i) Define : Authority

j) Define : Legitimacy

P.T.O.
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Q2) Write a short note in 50 words each. (any four) [16]

a) Types of political participations.

b) Causes of Political Participation.

c) Bernham’s Elitist approch.

d) Evaluation of Elitist theory.

e) Importance of social Media in Political Communication.

f) Nature of Political Communication.

Q3) Answer the following questions in 100 words each. (Any Three) [18]

a) Factors affecting on Political Participation.

b) Causer for the origin of Elite Theory.

c) Authority : Concept & Types.

d) Legitimacy : Concept & Features.

Q4) Answer the following questions in 200 words each. (Any Two) [20]

a) Write an essay on Political Elites.

b) What is Political Participation? Discuss various levels of Political
Participation.

c) What is Power? Discuss the nature of Power.


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Total No. of Questions : 4]

[6041]-659
T.Y.B.A.

POLITICAL  SCIENCE
CC-1F : Modern Political  Analysis

(2019 Pattern) (CBCS) (Semester - VI) (36163)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P197

à.à.à.à.à.1) Imbrb àíZm§Mr 20 eãXm§V CÎmao {bhm. (’$º$ AmR>) [16]

A) "amOH$s¶ gh^mJ' AW© gm§Jm.

~) "amÁ¶H$Vm© dJ©' ì¶m»¶m {bhm.

H$) amOH$s¶ gh^mJmÀ¶m AmH¥$Vr~§YmÀ¶m CXJmË¶m§Mr Zmdo {bhm.

S>) "amOH$s¶ g§gyMZ' ì¶m»¶m {bhm.

B) à^md ì¶m»¶m {bhm.

’$) A{YgÎmm: àH$ma gm§Jm.

¶) A{Y‘mÝ¶VoÀ¶m XmoZ ‘¶m©Xm {bhm.

a) "gÎmm' : ì¶m»¶m {bhm.

b) "A{YgÎmm': ì¶m»¶m {bhm.

d) "A{Y‘mÝ¶Vm' ì¶m»¶m {bhm.
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à.à.à.à.à.2) {Q>nm {bhm. (50 eãXm§V ’$º$ Mma) [16]

A) amOH$s¶ gh^mJ : àH$ma

~) amOH$s¶ gh^mJm‘mJrb H$maUo

H$) ~Z©h°‘Mm A{^OZdmXr X¥ï>rH$moZ

S>) amOH$s¶ A{^OZ {gÕm§VmMo ‘wë¶‘mnZ H$am.

B) amOH$s¶ g§gyMZmVrb g‘mO ‘mÜ¶‘m§Mo ‘hÎd

’$) amOH$s¶ g§gyMZ : ñdê$n

à.à.à.à.à.3) H$moUË¶mhr àíZm§Mr CÎmao 100 eãXm§V {bhm (H$moUVhr VrZ) [18]

A) amOH$s¶ gh^mJmda n[aUm‘ H$aUmao KQ>H$.

~) amOH$s¶ A{^OZ {gÕm§V CX¶mMr H$maUo

H$) A{YgÎmm : g§H$ënZm Am{U àH$ma

S>) A{Y‘mÝ¶Vm : g§H$ënZm d d¡{eï>¶o

à.à.à.à.à.4) nwT>rb àíZm§Mr CÎmao 200 eãXm§V {bhm (’$º$ XmoZ) [20]

A) "amOH$s¶ A{^OZ' ¶mda g{dñVa {Z~§Y {bhm.

~) amOH$s¶ gh^mJ åhUOo H$m¶? amOH$s¶ gh^mJmÀ¶m {d{dY nmVù¶m ñnï> H$am.

H$) gÎmm åhUOo H$m¶? gÎmoÀ¶m {d{dY ñdê$nmMr MMm© H$am.


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[6041]-660
T.Y.B.A.

POLITICAL  SCIENCE
CC-1F : Local Self Government in Maharashtra
(2019 Pattern) (CBCS) (Semester - VI) (36164)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P198 [Total No. of Pages : 4
SEAT No. :

Q1) Answer the following questions in 20 words.  (Any Eight) [16]

a) Mention the number of members in the Nagar Panchayat.

b) What is the tenure of Nagar Panchayat?

c) Mention the period of Nagar Parishad.

d) How many municipal corporations are there in Maharashtra?

e) How many members are there in the standing committee of
Mahanagarpalika?

f) When did the state election commission was formed in  Maharashtra?

g) Who appoints the state election commissioner?

h) Who appoints the chairman of state finance commission?

i) Mention any two challenges before the Local Self Government.

j) Who is responsible for the success and failure of local self institutions?

P.T.O.
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Q2) Answer the following questions. (Any Four) (in 50 words) [16]

a) Limitations of  Local Self Institutions.

b) Structure and Functions of State Election commission.

c) Jaiswal committee.

d) Functions of Nagar Parishad.

e) Functions of the Chief Executive Officer of Nagar Parishad.

f) Functions of the  Chairman of Nagar Panchayat.

Q3) Answer the following questions in 100 words. (Any Three) [18]

a) Discuss, the nature of Local Self Institutions in Maharashtra before 74th

constitutional amendment.

b) Explain the functions inserted in the XII schedule of  the constitution.

c) Discuss the decisions taken by State Election Commission in Maharashtra.

d) Explain the types of control over the Local Self Institutions.

Q4) Answer the following questions in 200 words. (Any Two) [20]

a) Discuss the sources of income of Municipal corporation.

b) Discuss the power, functions and structure of Nagar Panchayat.

c) Explain, the challenges before the Local Self Institutions in Maharashtra.


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Total No. of Questions : 4]

[6041]-660
T.Y.B.A.

POLITICAL  SCIENCE
CC-1F : Local Self Government in Maharashtra
(2019 Pattern) (CBCS) (Semester - VI) (36164)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P198

à.à.à.à.à.1) Imbrbn¡H$s H$moUVohr AmR> àíZ gmoS>dm. (20 eãXmV) [16]

A) ZJan§Mm¶VrMr gXñ¶ g§»¶m {H$Vr AgVo?

~) ZJan§Mm¶VrMm H$m¶©H$mb {H$Vr AgVmo?

H$) ZJan[afXoMm H$m¶©H$mb {H$Vr dfm©Mm AgVmo.

S>) ‘hmamï´>mV {H$Vr ‘hmZJanm{bH$m AmhoV?

B) ‘hmZJanm{bHo$À¶m ñWm¶r g{‘VrV {H$Vr gXñ¶ AgVmV?

’$) ‘hmamï´>mV amÁ¶ {ZdS>UyH$ Am¶moJmMr ñWmnZm H|$ìhm Pmbr?

¶) amÁ¶ {ZdS>UyH$ Am¶wº$m§Mr Zo‘UyH$ H$moUmH$Sy>Z Ho$br OmVo?

a) amÁ¶ {dÎm Am¶moJmÀ¶m AÜ¶jm§Mr Zo‘UyH$ H$moUmH$Sy>Z Ho$br OmVo?

b) ñWm{ZH$ ñdamÁ¶ g§ñWmg‘moarb H$moUVrhr XmoZ AmìhmZo gm§Jm?

d) ñWm{ZH$ ñdamÁ¶ g§ñWm§À¶m An¶emMr A§{V‘ O~m~Xmar H$moUmMr AgVo?
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à.à.à.à.à.2) Imbrbn¡H$s H$moUVohr Mma àíZ gmoS>dm. (50 eãXmV) [16]

A) ñWm{ZH$ ñdamÁ¶ g§ñWm§À¶m ‘¶m©Xm ñnï> H$am?

~) amÁ¶ {ZdS>UyH$ Am¶moJmMr aMZm Am{U H$m¶© ñnï> H$am.

H$) O¶ñdmb g{‘Vr

S>) ZJa n[afXoMr H$m¶} ñnï> H$am.

B) ZJa n[afXoÀ¶m ‘w»¶ H$m¶©H$mar A{YH$mè¶m§Mr H$m‘o gm§Jm?

’$) ZJan§Mm¶VrÀ¶m AÜ¶jm§Mr H$m¶© ñnï> H$am.

à.à.à.à.à.3) Imbrbn¡H$s H$moUVohr VrZ àíZ gmoS>dm. (100 eãXmV) [18]

A) 74 ì¶m KQ>Zm Xþê$ñVr nyduÀ¶m ‘hmamï´>mVrb ñWm{ZH$ ñdamÁ¶ g§ñWm§Mr MMm© H$am.

~) amÁ¶KQ>ZoÀ¶m ~maì¶m AZwgyMrVrb H$m‘o gm§Jm.

H$) ‘hmamï´> amÁ¶ {ZdS>UyH$ Am¶moJmZo KoVboë¶m {ZU©¶m§Mr MMm© H$am.

S>) ñWm{ZH$ ñdamÁ¶ g§ñWmdarb {Z¶§ÌUmMo àH$ma gm§Jm?

à.à.à.à.à.4) Imbrbn¡H$s H$moUVohr XmoZ àíZ gmoS>dm. (200 eãXmV) [20]

A) ‘hmZJanm{bHo$À¶m CËnÞmÀ¶m gmYZm§Mr MMm© H$am.

~) ZJan§Mm¶VrMr aMZm H$m‘o d A{YH$ma ñnï> H$am.

H$) ‘hmamï´>mVrb ñdamÁ¶ g§ñWog‘moarb AmìhmZo ñnï> H$am?





Q1) Answer the following questions in 300 words (any one) : [15]

a) How did the Integration of post-partition India and princely states work?
Take an analytical review.

OR

b) Briefly describe the main cause of the dispute between India and
Pakistan. Explain the first war between India and Pakistan.

Q2) Answer the following questions in 300 words (any one) : [15]

a) Explain the background, nature and consequences of the emergency.

OR

b) Analyze the Indian economy from 1947 to 1965.

Q3) Answer the following questions in 200 words (any two) : [20]

a) State the consequences of the partition of British India on India.

b) Explain the importance of the Non-aligned movement in contemporary
Indian foreign policy.

c) Describe the nature of the Hindu Code Bill.

d) Discuss in brief the background of bank nationalization and state the
main causes for bank nationalization in 1969.

Total No. of Questions : 4]

[Total No. of Pages : 4

[6041]-661
T.Y. B.A. (Semester - VI)

HISTORY
CC-1F : India After Independence (1947-1991)

(2019 Pattern) (CBCS) (36174)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-199

SEAT No. :

P.T.O.
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Q4) Short notes (any four) : [20]

a) Features of the Indian Constitution

b) Indo-China Panchsheel Agreement

c) Samyukt Maharashtra Movement

d) Indian Space Research

e) Concept of mixed economy

f) Globalization





Total No. of Questions : 4]

[6041]-661
T.Y. B.A. (Semester - VI)

B{Vhmg
CC-1F : ñdmV§Í`moÎma ^maV (1947-1991)

(2019 Pattern) (36174)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ A{Zdm ©̀ AmhoV.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.

P-199

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZmMo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) … [15]

A) \$miUrZ§Va ^maV Am{U g§ñWmZm§Mo EH$ÌrH$aU H$aÊ`mMo H$m`© H$go g§nÞ Pmbo?
{díbofUmË_H$ AmT>mdm ¿`m.

qH$dm

~) ^maV Am{U nm{H$ñVmZ `m§À`mVrb g§Kfm©Mo _w»` H$maU gm§JyZ, ^maV-nm{H$ñVmZ §̀m_Ü ò
Pmboë`m n{hë`m ẁÕmMo dU©Z H$am.

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMo 300 eãXm§V CÎma {bhm. (H$moUVmhr EH$) … [15]

A) AmUr~mUrMr nmíd©̂ y_r, ñdén Am{U n[aUm_ ñnï> H$am.

qH$dm

~) gZ 1947 Vo 1965 n ª̀VÀ`m ^maVr` AW©ì`dñWoMo {díbofU H$am.

àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr 200 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) … [20]

A) {~«{Q>e ^maVmÀ`m \$miUrMo ^maVmda H$moUVo n[aUm_ Pmbo, Vo gm§Jm.

~) g_H$mbrZ ^maVmÀ`m naamï´> YmoaUmVrb A{báVmdmXr MidirMo _hÎd {deX H$am.

H$) qhXÿ H$moS> {~bmMo ñdén ñnï> H$am.

S>) ~±H$m§À`m amï´>r`rH$aUmMr nmíd©^y_r WmoS>Š`mV {deX H$éZ gZ 1969 _Ü`o H$aÊ`mV
Amboë`m ~±H$m§À`m amï´>r`rH$aUmMr _w»` H$maUo {bhm.

3
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àíZ àíZ àíZ àíZ àíZ 4) {Q>nm {bhm (H$moUË`mhr Mma) … [20]

A) ^maVr` amÁ`KQ>ZoMr d¡{eï>o

~) ^maV - MrZ n§Merb H$ama

g) g§`wŠV _hmamï´> Midi

X) ^maVr` A§Vami g§emoYZ

B) {_l AW©ì`dñWm g§H$ënZm ñnï> H$am.

\$) OmJ{VH$sH$aU





Q1) Write short notes on following (Any Three) : [15]

a) Census

b) Godawari Parulekar's work for Warli Tirbes.

c) Maharshi Shinde : Social contribution

d) Dalit Panthers

e) V.D. Sawarkar - contribution in political movement.

Q2) Write the following questions in 50 words each (Any Three) : [15]
a) Write the contribution of Shahu Maharaj about social reforms in brief.

b) Write the information about ethnic Movement.

c) What is Research design?

d) Review social reforms movements in Maharashtra.

e) Write the contributions of Karmveer Bhaurao Patil in education sector.

Q3) Answer any two of the following questions in 200 words each : [20]
a) Elaborate the role of shetkari sanghatana in protest movement.

b) Discuss the contribution of Maharshi Shinde in educational sector.

c) Explain the contribution of Mahatma Jyotiba Phule and Savitribai Phule
in social and educational sector.

d) Explain the difference between qualitative and quantitative Research.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q4) Answer any one of the following questions in 300 words : [20]

a) Elaborate the History of protest movement in details.

b) Write the information about educational and social reforms of Dr.
Babasaheb Ambedkar in detail.





Total No. of Questions : 4]

[6041]-662
T.Y. B.A.

ANTHROPOLOGY
CC-1F : Movements and Social Reforms in Maharashtra

(2019 Pattern) (CBCS) (Semester - VI) (36193)
(_amR>r ê$nm§Va)

doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm :

1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ nwU© JwU Xe©{dVmV.

P-200

àíZ àíZ àíZ àíZ àíZ 1) WmoS>Š`mV {Q>nm {bhm. (H$moUË`mhr VrZ) [15]

A) OZJUZm

~) JmoXmdar VmB© nê$ioH$a `m§Mo dmabr O_mVrgmR>rMo H$m ©̀

H$) _hfu qeXo … gm_m{OH$ `moJXmZ

S>) X{bV n±Wa

B) {d.Xm. gmdaH$a - amOH$s` MidirVrb `moJXmZ

àíZ àíZ àíZ àíZ àíZ 2) Imbrb àíZmMr CÎmao 50 eãXmV {bhm (H$moUVohr VrZ) [15]

A) emhþ _hmamOm§Mo gm_m{OH$ gwYmaUm{df`H$ `moJXmZ  WmoS>Š`mV {bhm.

~) dm§{eH$ Midir ~Ôb _m{hVr {bhm.

H$) g§emoYZ AmamIS>m åhUOo H$m`?

S>) _hmamï´>mVrb gm_m{OH$ gwYmaUm MidirMm AmT>mdm ¿`m.

B) H$_©dra ^mD$amd nmQ>rb `mMo e¡j{UH$ joÌmVrb `moJXmZ {bhm.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZmMr CÎmao 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) à{VH$ma MidirVrb eoVH$ar g§KQ>ZmMr ŷ{_H$m {deX H$am.

~) _hfu H$d} `m§Mo e¡j{UH$ joÌmVrb `moJXmZmda MMm© H$am.

H$) _hmË_m Á`mo{V~m \w$bo d gm{dÌr~mB© \w$bo `m§Mo gm_m{OH$ d e¡j{UH$ joÌmVrb `moJXmZ
ñnï> H$am.

S>) JwUmË_H$ Am{U g§»`mË_H$ g§emoYZmVrb \$aH$ ñnï> H$am?

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZmMr CÎmao 300 eãXmV {bhm. (H$moUVmhr EH$) [20]

A) à{VH$ma MidirMm B{Vhmg g{dñVa {deX H$am.

~) S>m°. ~m~mgmho~ Am§~oS>H$a `m§À`m e¡j{UH$ d gm_m{OH$ gwYmaUm {df`r g{dñVa _m{hVr
{bhm.





Q1) Write answers the following questions in about 20 words (any 8) :[16]
a) What is earthquake?
b) Define deforestation.
c) What is soil degradation?
d) Write any two consequences of Tsunami.
e) What is acid rain?
f) Write any two effect of hail storm.
g) Give any two reasons of global warming
h) Give any two effects of kedarnath disaster.
i) In which country did the Fukushima disaster was happened
j) Give any two reasons of ozone depletion

Q2) Write short notes in about 50 words each : (any 3) [18]
a) Causes of forest five.
b) Characteristic of Ozone gas
c) Effects of Acid rain.
d) Hail storm in maharastra - 2014.

Q3) Write the answer of questions in 100 words : (any 2) [16]
a) Write causes of earthquake.
b) Write effects of soil erosion.
c) Write causes of Tsunami.

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q4) Write the answer of questions in 300 words : (any 1) [20]

a) Define desertification and explain causes and effects of desertification
disaster.

b) What is landslide? Explain the causes effects and management of
landslide disaster.





Total No. of Questions : 4]

[6041]-663
T.Y.B.A

GEOGRAPHY
CC - 1F GG 310(B) : Geography of

Disaster Management - II
(2019 Pattern) (Semester - VI) (CBCS) (36204)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m
4) ZH$mem ñQ>mopÝgb dmnaÊ¶mg nadmUJr Amho
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr

P-201

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr 20 eãXmV CÎmao {bhm.(H$moUVohr AmR>) [16]
A) ŷH§$n åhUOo H$m¶?
~) {Zd©UrH$aUmMr ì¶m»¶m {bhm.
H$) ‘¥Xm ìhmg åhUOo H$m¶?
S>) ËgwZm‘r ì¶dñWmnZmÀ¶m XmoZ Cnm¶ ¶moOZm {bhm.
B) Amåb nO©Ý¶ åhUOo H$m¶?
’$) JmanrQ>rMr H$moUVrhr XmoZ H$maUo {bhm.
¶) OmJ{VH$ Vmn‘mZdmT>rMr H$moUVrhr XmoZ H$maUo {bhm.
a) Ho$XmaZmW AmnÎVrMo H$moUVohr XmoZ n[aUm‘ {bhm.
b>) ’w$Hw${e‘m AmnÎVr H$moUË¶m XoemV KS>br?
d) AmoPmoZ ìhmgmMr H$moUVrhr XmoZ H$maUo {bhm.

àíZ àíZ àíZ àíZ àíZ 2) àË¶oH$s 50 eãXmV {Q>nm {bhm. (H$moUVohr VrZ) [18]
A) "dUdm' AmnÎmrMr H$maUo
~) AmoPmoZ dm¶wMr d¡{eï>Mo
H$) Amåb nO©Ý¶mMo n[aUm‘ {bhm.
S>) 2014 Mr ‘hmamï>mVrb T>J’y$Q>r.

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË¶oH$r 100 eãXmV CÎmao {bhm.(H$moUVohr XmoZ) [16]

A) ŷH§$nmMr H$maUo {bhm.

~) "‘¥XmYyn' AmnÎmrMr n[aUm‘ {bhm.

H$) ËgwZmMr AmnÎmrMr H$maUo {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË¶oH$r 300 eãXmV  CÎmao {bhm. (H$moUVohr EH$) [20]

A) dmid§Q>rH$aUmMr ì¶m»¶m gm§JyZ dmid§Q>rH$aUmMr H$maUo d n[aUm‘ ñnï> H$am?

~) ŷ{‘nmV åhUOo H$m¶? ŷ{‘nmV AmnÎmrMr H$maUo, n[aUm‘ d ì¶dñWmnZ ñnï> H$am?





Q1) Answer the following questions in about 20 words each (any Eight) : [16]
a) What is Hotel?
b) Which tourist places have floating hotels in India.
c) Write any two factors affecting choice of accommodation.
d) Write any two economic impact of tourism.
e) Write any two harmful effects of tourism on animal life.
f) What infrastructure needs to be created for the development of a tourist

center?
g) Write objectives of world tourism organization.
h) Which day is celebrated as world tourism day?
i) Write any two functions of Maharashtra tourism development

corporation.
j) Name any two traditional arts in India.
k) In which district and state Manali tourism center is situated?
l) Write any two characteristics of Mahabaleshwar tourist center.
m) Write any two attractions of Raigad Fort.

Q2) Write short note in 50 words each : (any three) [18]
a) Youth Hostel
b) Tourism and employment
c) Functions of world tourism organisation
d) Taj Mahal

Total No. of Questions : 4]

[Total No. of Pages : 4
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Q3) Answer the following questions in about 100 words each : (any two) [16]

a) Explain the role of accommodation in tourism development.

b) Describe cultural impact of tourism.

c) Write role of Maharashtra tourism development corporation in tourism
development.

Q4) Answer the following questions in about 300 words each : (any one) [20]

a) Describe in detail environmental impact of tourism.

b) Write about Kaziranga and Melghat as tourist places.





Total No. of Questions : 4]

[6041]-664
T.Y.B.A

GEOGRAPHY
CC-1F-GG-310 (B) : Geography of Tourism - II
(2019 Pattern) (Semester - VI) (CBCS) (36205)

(_amR>r ê$nm§Va)
doi : 2½ Vmg     ] [ EHy$U JwU : 70
gyMZm : 1) gd© àíZ Amdí`H$ Amho.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) Amdí¶H$ VoWo gw~H$ AmH¥$Ë¶m H$mT>m
4) ZH$mem ñQ>mopÝgb dmnaÊ¶mg nadmZmJr Amho
5) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr

P-202

àíZ àíZ àíZ àíZ àíZ 1) Imbrb àíZm§Mr àË¶oH$s  20 eãXmV CÎmao {bhm.(H$moUVohr AmR>) [16]
A) hm°Q>ob åhUOo H$m¶?
~) ^maVmV Va§JVr hm°Q>oëg H$moUH$moUË¶m n¶©Q>ZñWir AmR>iVmV?
H$) n¶©Q>Z {ZdmgñWmZmÀ¶m {ZdS>rda narUm‘ H$aUmao H$moUVohr XmoZ§ KQ>H$ {bhm.
S>) n¶©Q>ZmMo H$moUVohr XmoZ Am{W©H$ n[aUm‘ {bhm.
B) n¶©Q>Zm‘wio àmUr OrdZmda H$moUVo {dKmVH$ n[aUm‘ hmoVmV?
’$) n¶©Q>Z ñWimÀ¶m {dH$mgmgmR>r H$moUH$moUË¶m nm¶m ŷV gw{dYm§Mr {Z{‘©Vr H$amdr bmJVo?
¶) OmJVrH$ n¶©Q>Z g§KQ>ZoMo CXX²oe {bhm.
a) OmJmVrH$ n¶©Q>Z {XZ H$moUË¶m {Xder gmOam Ho$bm OmVmo.
b) ‘hmamï´> n¶©Q>Z {dH$mg ‘hm‘§S>imMo H$moUVohr XmoZ H$m¶} {bhm.
d) ^maVmVrb H$moUË¶mhr XmoZ nma§nmarH$ H$bm§Mr Zmdo {bhm.
e) ‘Zmbr ho n¶©Q>Z ñWi H$moUË¶m {Oëh¶mV d amÁ¶mV Amho.
g) ‘hm~ioída ¶m n¶©Q>Z H|$ÐmMr H$moUVrhr XmoZ d¡{eï>ço {bhm.
f) am¶JS> {H$ëbm ¶m n¶©Q>Z ñWimMr H$moUVrhr XmoZ AmH$f©Zo {bhm.

àíZ àíZ àíZ àíZ àíZ 2) àË¶oH$ 50 eãXmV {Q>nm {bhm. (H$moUVohr VrZ) [18]
A) ¶wdm dgVrJ¥ho
~) n¶©Q>Z d amoOJma

H$) OmJVrH$ n¶©Q>Z g§KQ>ZoMr H$m¶}

S>) VmO‘hb

3 P.T.O.
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àíZ àíZ àíZ àíZ àíZ 3) Imbrb àíZm§Mr àË¶oH$r 100 eãXmV CÎmao {bhm.(H$moUVohr XmoZ) [16]

A) n¶©Q>Z {dH$mgmV {ZdmgñWmZm§Mr ŷ{‘H$m {dfX H$am.

~) n¶©Q>ZmMo gm§ñH¥${VH$ n[aUm‘ ñnï> H$am.

H$) ‘hmamîQ´> n¶©Q>Z {dH$mg ‘hm‘§S>imMo n¶©Q>Z {dH$mgmVrb ¶moJXmZ {bhm.

àíZ àíZ àíZ àíZ àíZ 4) Imbrb àíZm§Mr àË¶oH$r 300 eãXmV  CÎmao {bhm. (H$moUVohr EH$) [20]

A) n¶©Q>ZmMo n¶m©daUr¶ narUr‘ g{dñVa ñnï> H$am.

~) H$mPra§Jm d ‘oiKmQ> ¶m n¶©Q>Z ñWim§Mr g{dñVa ‘mhrVr {bhm.





Total No. of Questions : 4]

[6041]-665
T.Y.B.A.

CC-1F : PUBLIC ADMINISTRATION
(2019 Pattern) (CBCS) (Semester - VI) (36445)

Time : 2½ Hours] [Max. Marks : 70
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Q1) Attempt any eight questions. (20 words) [16]

a) What is Budget?

b) Write two principles of recruitment.

c) ‘POSDCORB’ concept.

d) Write importance training.

e) Write two benefits of promotion.

f) Write two types of training.

g) Spoil system is associated with which country?

h) Personnal administration concept.

i) Lower house of the parliament state.

j) Upper house of the parliament state.

P.T.O.
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Q2) Attempt any four questions. (50 words) [16]

a) Write importance of Bureaucracy.

b) Explain concept - Budget.

c) Explain concept - Administrative accountability.

d) State importance of judicial control.

e) Importance of administration reforms.

f) Write two types of Budget.

Q3) Attempt any three questions. (100 words) [18]

a) Explain legislative control.

b) What is gender budgetting.

c) Write recruitment methods.

d) Write importance of promotion.

Q4) Attempt any two questions. (200 words) [20]

a) Discuss principles of promotion.

b) Discuss functions of personnel administration.

c) Discuss budgetary process in detail.


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Total No. of Questions : 4]

[6041]-665
T.Y.B.A.

CC-1F : PUBLIC ADMINISTRATION
(2019 Pattern) (CBCS) (Semester - VI) (36445)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P3152

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (’$º$ AmR>) [16]

A) A§XmOnÌH$ åhUOo H$m¶?

~) ^aVrMr XmoZ VÎdo {bhm.

H$) ‘POSDCORB’ g§H$ënZm gm§Jm.

S>) à{ejUmMo ‘hÎd {bhm.

B) ~T>VrMo XmoZ bm^ gm§Jm.

’$) à{ejUmMo XmoZ àH$ma {bhm.

¶) byQ> nÕVr hr H$moUË¶m Xoemer {ZJ{S>V Amho?

a) H$‘©Mmar àemgZ g§H$ënZm gm§Jm.

b) g§gXoMo H${Zð> g^mJ¥h gm§Jm.

d) g§gXoMo darð> g^mJ¥h gm§Jm.
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) ZmoH$admXrMo ‘hÎd {bhm.

~) A§XmOnÌH$ g§H$ënZm ñnï> H$am.

H$) "àemgH$s¶ CÎmaXm{¶Ëd' g§H$ënZm ñnï> H$am.

S>) Ý¶m¶mb¶rZ {Z¶§ÌUmMo ‘hÎd gm§Jm.

B) àemgH$s¶ gwYmaUmMo ‘hÎd gm§Jm.

’$) A§XmOnÌH$mMo XmoZ àH$ma gm§Jm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) H$m¶Xo‘§S>i {Z¶§ÌU ñnï> H$am.

~) qbJ A§XmOnÌH$

H$) ^aVr nÕVr {bhm.

S>) ~T>VrMo ‘hÎd

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) ~T>VrMr VÎdo MMm© H$am.

~) H$‘©Mmar àemgZmMr H$m¶} MMm© H$am.

H$) A§XmOnÌH$ à{H«$¶m g{dñVa MMm© H$am.


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Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P-203

Q1) Solve any Eight questions (20 words each) : [16]
a) Who is called father of Local Self Governement.
b) What are the sources of income of Panchayat Samiti.
c) How many years is the tenure of Sarpanch.
d) When did the implementation of the 73rd Amendment begin.
e) In which year the Mumbai Gram Panchayat Act was passed.
f) State two functions of Block Development Officer.
g) Who is the link between Gram Panchayat and Zilla Parishad.
h) Which constitutional amendment provided for state Finance Commission?
i) How many subjects are covered in 11th Scheduled.
j) What is democratic decentralization.

Q2) Solve any Four questions (50 words) : [16]
a) Sources of income of Zilla Parishad.
b) Gram Sabha.
c) Three tier system of Panchayat Raj.
d) Composition of Panchayat Samiti.
e) Collector.
f) State Election Commission.

SEAT No. :

P.T.O.
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Q3) Solve any Three questions (100 words) :  [18]
a) Explain the function of Zilla Parishad.
b) Explain the reservation in Panchayat Raj.
c) Write the duties of a Gram Sevek.
d) Explain the State Government's control over Panchayat Raj.

Q4) Solve any Two questions (500 words) : [20]
a) State the features of the 74th Amendment.
b) Explain the challenges faced by Urban Local Self Government.
c) Write an essay on the process of democratization in Panchayat Raj.


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Total No. of Questions : 4]

[6041]-667
T.Y. B.A.

PUBLIC ADMINISTRATION
Local Self Government in India

(2019 Pattern) (Semester - VI) (36446)
(_amR>r ê$nm§Va)

doi : 2½ Vmg]                      [EHy$U JwU : 70

gyMZm : 1) gd© àíZ gmoS>{dUo Amdí`H$ Amho.
2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P-203

àíZ 1) H$moUVohr AmR> àíZ gmoS>dm. (20 eãXm§V>) [16]
A) ñWm{ZH$ ñdamÁ` g§ñWmMm OZH$ H$moUmg åhUVmV.
~) n§Mm`V g{_VrÀ`m CËnÝZmMr gmYZo H$moUVr AmhoV.
H$) gan§Mm§Mm H$m ©̀H$mb {H$Vr df} AgVmo.
S>) 73 ì`m KQ>ZmXþê$ñVrMr A§_b~OmdUr H$Yr gwê$ Pmbr.
B) _§w~B© J«m_n§Mm`V A{Y{Z`_ H$moUË`m dfu g_§V Pmbm.
\$) JQ> {dH$mg A{YH$mè`mMr XmoZ H$m_o gm§Jm.
`) J«m_n§Mm`V d {Oëhm n[afX `m§Zm OmoS>Umam Xþdm åhUyZ H$moU H$m_ H$aVo.
a) amÁ` {dÎm Am`moJmMr VaVyX H$moUË`m KQ>ZmXþê$ñVrZo Ho$br.
b) AH$amì`m n[a{eð>mV {H$Vr {df` g_m{dð> AmhoV.
d) bmoH$emhr {dH|$ÐrH$aU åhUOo H$m`?

àíZ 2) H$moUVohr Mma àíZ gmoS>dm (50 eãXm§V>) [16]
A) {Oëhm n[afXoÀ`m CËnÝZmMr gmYZo
~) J«m_g^m
H$) n§Mm`V amOMr {ÌñVar` aMZm
S>) n§Mm`V g{_VrMr aMZm
B) {Oëhm{YH$mar
\$) amÁ` {Zdm©MZ Am`moJ

P.T.O.
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àíZ 3) H$moUVohr VrZ àíZ gmoS>dm (100 eãXm§V>) [18]
A) {Oëhm n[afXoMr H$m }̀ ñnï> H$am.

~) n§Mm`V amO_Yrb AmajU ñnï> H$am.

H$) J«m_godH$mMr H$m_o {bhm.

S>) n§Mm`V amOd[ab amÁ` gaH$maMo {Z §̀ÌU ñnï> H$am.

àíZ 4) H$moUVohr XmoZ àíZ gmoS>dm (500 eãXm§V>) [20]
A) 74 ì`m KQ>Zm Xþê$ñVrMr d¡{eï>ço gm§Jm.

~) ehar ñWm{ZH$ ñdamÁ` g§ñWonyT>rb AmìhmZo ñnï> H$am.

H$) n§Mm`V amO_{Yb bmoH$emhrH$aUmÀ`m à{H«$ òda {Z~§Y {bhm.


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Q1)Answer the following questions in 100 words each (any Four) [20]

a) Describe the DSM-5 in short.

b) Explain ‘Love’.

c) Explain the EEG technique.

d) Explain the intellectual disabilities.

e) Explain the psychological adjustment of adolecents.

f) Explain the nature of foransic psychology.

Q2) Answer the following questions in 200 words each. (any two) [20]

a) Explain any two techniques of cognative neuro-sciences.

b) Explain the scope of educational psychology.

c) State the love and Relationship in details.

d) Define psychology of terror and describe types of volience.

P.T.O.



2[6041]-668

Q3) Answer the following question in 400 words (any one) [20]

a) What is educational psychology & describe the effective teaching-learning
methods.

b) Explain the investagative process. Describe the role of psychologist in
investagative process.

Q4) Write short notes on (any two) [10]

a) Health psychology

b) MRI technique

c) Marital problems

e) Break - up


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(‘amR>r ê$nm§Va)
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P204

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr CÎmao àË¶oH$s 100 eãXm§V {bhm. [20]

A) DSM-5 Mr WmoS>³¶mV ‘m{hVr {bhm.

~) ào‘ g§H$ënZm ñnï> H$am.

H$) {dÚwV‘pñVîH$mboI V§Ì (EEG) ñnï> H$am.

S>) ~m¡{ÕH$ Aj‘Vm ñnï> H$am.

B) {H$emoad¶rZm§Mo ‘mZgemór¶ g‘m¶moOZ ñnï> H$am.

’$) Ý¶m¶d¡ÚH$ ‘mZgemómMo ñdén ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXm§V {bhm. [20]

A) ~moY{ZH$ ‘‚mmemómer g§~§{YV H$moUVohr XmoZ V§Ìo ñnï> H$am.

~) e¡j{UH$ ‘mZgemómMr ì¶már ñnï> H$am.

H$) ào‘ Am{U ZmVog§~§Y ¶{df¶r g{dñVa ‘m{hVr {bhm.

S>) AmV§H$dmXmMo ‘mZgemó åhUOo H$m¶ ho gm§JyZ qhgoMo àH$ma ñnï> H$am.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]

A) e¡j{UH$ ‘mZgemó åhUOo H$m¶ ho gm§JyZ à^mdr/ n[aUm‘H$maH$ AÜ¶mnZ - AÜ¶¶Z nÕVr
ñnï> H$am.

~) VnmgmË‘H$/ AÝdofUmË‘H$ à{H«$¶m ñnï> H$ê$Z Ë¶m‘Yrb ‘mZgemókm§Mr ŷ{‘H$m ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr XmoZda WmoS>³¶mV {Q>nm {bhm. [10]

A) Amamo½¶ ‘mZgemó

~) E‘. Ama. Am¶. V§Ì

H$) d¡dm{hH$ g‘ñ¶m

S>) ào‘ §̂J (~o«H$An)


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Q1) Answer any three of the following questions in 50 words each. [15]

a) Briefly explain the role of Anna Hajare in Right to Information.

b) Briefly explain the nature of Women Empowerment Movement.

c) Briefly explain the limitations of Gandhian Movement.

d) Briefly explain the influence of Gandhian Thought on P.R. Damle’s life.

e) What is Imperialism ? Explain in brief.

Q2) Write short notes on any three of the following. [15]

a) Chipko Movement - Sundarlal Bahuguna.

b) Anti- Racist Movement - Nelson Mandela.

c) Peasant Movement - Sharad Joshi

d) Gandhian Thought and L.B.Kurkure.

e) Right to Information and corruption.

P.T.O.
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Q3) Answer any two of the following questions in 200 words each [20]

a) Explain the background of labour movement in detail.

b) Explain the role of Medha Petkar in Narmada Bachao Movement.

e) Explain in detail the strength’s and limitations of Gandhian movement.

d) Explain the influence of Gandhian Thought on the life of Dr.Surendra
Barlinge.

Q4) Answer any one of the following question in 400 words [20]

a) Explain the role of Martin Luther King in the Anti - Imperialist movement.

b) Explain the importance of Gandhian Thought in the life of Nagorao
Kumbhar.


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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXmV {bhm. [15]

A) ‘m{hVr A{YH$mamVrb AÊUm hOma|Mr ŷ{‘H$m WmoS>³¶mV ñnï> H$am.

~) ‘{hbm g~brH$aU MidirMo ñdê$n WmoS>³¶mV {deX H$am.

H$) Jm§Yr MidirÀ¶m ‘¶m©Xm WmoS>³¶mV ñnï> H$am.

S>) nr.Ama. Xm‘bo ¶m§À¶m OrdZmdarb Jm§Yr {dMmam§Mm à^md WmoS>³¶mV ñnï> H$am.

B) gm‘«mÁ¶dmX åhUOo H$m¶? WmoS>³¶mV ñnï> H$am.

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZda Q>rnm {bhm. [15]

A) {MnH$mo Am§XmobZ - gw§Xabmb ~hþJwUm

~) dU©Ûof{damoYr Midi - ZoëgZ ‘§S>bm

H$) eoVH$ar Midi - eaX Omoer

S>) Jm§YrdmXr {dMma Am{U Eb.~r.Hw$aHw$ao

B) ‘m{hVr A{YH$ma d «̂ï>mMma
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. [20]

A) H$m‘Jma MidirMr nmíd©̂ y‘r g{dñVa ñnï> H$am.

~) Z‘©Xm ~Mmd Am§XmobZmVrb ‘oYm nmQ>H$a ¶m§Mr ŷ{‘H$m g{dñVa {deX H$am.

H$) Jm§Yr MidirVrb ~bñWmZo d ‘¶m©Xm g{dñVa ñnï> H$am.

S>) S>m°. gwa|Ð ~maqbJo ¶m§À¶m OrdZmdarb Jm§Yr {dMmam§Mm à^md ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXmV {bhm. [20]

A) gm‘«mÁ¶dmX{damoYr MidirVrb ‘m{Q>©Z ë¶wWa qH$J ¶m§Mr ŷ{‘H$m ñnï> H$am.

~) ZmJmoamd Hw§$^ma ¶m§À¶m OrdZmVrb Jm§Yr {dMmam§Mo ‘hËd {deX H$am.


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Q1) Answer any five of the following questions in one sentence. [5]

a) Name the two standing asanas?

b) What is the bandha applied in the anus?

c) In which pranayama does the whistling sound of the cooker occur?

d) What is the kriya of drinking two to three liters of water?

e) Which asana looks like a plough?

f) Which meditative asana looks like a lotus flower?

g) What is avidya ?

Q2) Write the short note (Any two) [10]

a) Pranayama

b) Asana

c) Mudra

P.T.O.
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Q3) Answer any two of the following questions in 150 words. [20]

a) Write how many types of Shudhikriyas, which ones and their benefits?

b) Explain the types and importance of Yama-Niyamas?

c) Give detailed information about Pranav Omkar Sadhana?

Q4) Answer any one of the following questions in detail. [15]

a) Explain the utility of yoga in promoting mental health?

b) What is spiritual health? Explain the role of yoga in promoting spiritual
health?

… … …
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à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr Mma àíZm§Mr EH$m dm³¶mV CÎmao Úm. [05]

A) XmoZ Cä¶m pñWVrVrb AmgZm§Mr Zmdo gm§Jm.

~) JwXÛmamV bmdbm OmUmam ~§Y H$moUVm?

H$) Hw$H$aÀ¶m {eÅ>rMm AmdmO H$moUË¶m àmUm¶m‘mV ¶oVmo?

S>) XmoZ Vo VrZ {bQ>a nmUr {nD$Z nwÝhm ~mhoa H$mT>Uo hr {H«$¶m H$moUVr?

B) Zm§JamgmaIo {XgUmao AmgZ H$moUVo?

’$) H$‘imÀ¶m ’w$bmgmaIo {XgUmao Ü¶mZmË‘H$ AmgZ H$moUVo?

¶) A{dÚm H$m¶ Amho?

à.à.à.à.à.2) Q>rnm {bhm. (H$moUVohr XmoZ) [10]

A) àmUm¶m‘

~) AmgZ

H$) ‘wÐm
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àým§Mr 150 eãXm§V CÎmao Úm. [20]

A) ewÕrH«$s¶m§Mo àH$ma {H$Vr, H$moUVo d ’$m¶Xo {bhm.

~) ¶‘ - {Z¶‘m§Mo àH$ma d ‘hËd ñnï> H$am.

H$) àUd › H$ma gmYZoMr g{dñVa ‘m{hVr Úm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àýmMo g{dñVa CÎma Úm. [15]

A) ‘mZ{gH$ Amamo½¶ g§dY©ZmV ¶moJmMr Cn¶mo{JVm ñnï> H$am.

~) AmÜ¶mpË‘H$ Amamo½¶ åhUOo H$m¶? AmÜ¶mpË‘H$ Amamo½¶ g§dY©ZmV ¶moJmMr ŷ{‘H$m ñnï> H$am.

… … …



Q1) Answer the following question in 300 words (any one) [15]

        a) State the social contribution of Greek civilization.

OR

b) Discuss the economic and cultural life of Arab civilization.

Q2) Answer the following question in 300 words (any one) [15]

a) Explain the Philosophy and social life of Roman civilization.

OR

b) Write the importance of world Heritage sites.

Q3) Answer the following question in 200 words (any two) [20]

a) State the contribution of Arabs to Historiography.

b) Write the importance of church in ancient world civilization.

c) Examine the Impact of Feudalism on European Society.

d) State about the Great Wall of China.

P.T.O.
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Q4) Short Notes (any Four) [20]

a) Roman Law code

b) The Imperial Age

c) Renaissance Period

        d) Catholic Sect.

 e) Pyramids

 f) The Taj Mahal.


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à.à.à.à.à.1) Imbrb àíZmMo 300 eãXm§V CÎma X²¶m. (H$moUVmhr EH$) [15]

A) J«rH$ g§ñH¥$VrMo gm‘m{OH$ ¶moJXmZ gm§Jm.

qH$dm

~) Aa~ g§ñH¥$VrMo Am{W©H$ d gm§ñH¥$VrH$ OrdZ {deX H$am.

à.à.à.à.à.2) Imbrb àíZmMo 300 eãXm§V CÎma X²¶m. (H$moUVmhr EH$) [15]

A) amo‘Z gä¶VoMo VËdkmZ d gm‘m{OH$ OrdZ {deX H$am.

qH$dm

~) OmJVrH$ dmagm ñWim§Mo ‘hËd {bhm.

à.à.à.à.à.3) Imbrb àíZmMo 200 eãXm§V CÎma X²¶m. (H$moUVohr XmoZ) [20]

A) Aa~m§Mo B{VhmgboIZmVrb ¶moJXmZ gm§Jm.

~) MM©Mo àmMrZ OJmÀ¶m g§ñH¥$VrVrb ‘hËd {bhm.

H$) ¶wamonr¶Z g‘mOmda ga§Om‘emhrMm à^md Vnmgm.

S>) MrZÀ¶m q^Vr{df¶r ‘mhrVr gm§Jm.
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à.à.à.à.à.4) Q>rnm {bhm. (H$moUVohr Mma) [20]

A) amo‘Z H$m¶Xog§hrVm

~) gm‘«mÁ¶dmXr ¶wJ

H$) à~moYZ ¶wJ

S>) H°$Wm°brH$ n§W

B) {na°{‘S>

’$) VmO‘hmb


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Q1) Write the answers to the following questions in 20 words each (Any eight)[16]

a) Define family.

b) State the two characteristics of family.

c) What is family change ?

d) State the two psychological functions of the family.

e) What is dowry system ?

f) What is devorce ?

g) Define Marriage ?

h) What is passive deviation ?

i) What is comformity ?

j) State the types of inter marriage ?

P.T.O.
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Q2) Write the answers to the following questions in 50 words each (Any four)[16]

a) Explain the concept of deviation.

b) Explain the difference between active deviation and passive deviation.

c) Explain the biological functions of the family.

d) Explain the types of family.

e) Explain the concept of adoption system.

Q3) Write the answers to the following questions in 150 words each (Any three)[18]

a) Explain the relationship between marriage and sexuality.

b) Explain the causes of dowry system.

c) Explain the characteristics of the family.

d) Explain the nature of social deviation.

Q4) Write the answers  to the following questions in 300 words each (Any two)[20]

a) Explain the causes of deviant behavior ?

b) Explain the reasons for famliy changes ?

c) Explain the place of woman in Indian society?


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P208

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 20 eãXm§V {bhm. (H$moUVohr AmR>) [16]

A) Hw$Q>§w~mMr ì¶m»¶m Úm.

~) Hw$Qw>§~mMr XmoZ d¡{eï>¶o gm§Jm.

H$) H$m¡Q>§w{~H$ nardV©Z åhUOo H$m¶?

S>) $Hw$Qw>§~mMr XmoZ ‘mZgemór¶ H$maUo gm§Jm.

B) hþ§S>m nÕVr åhUOo H$m¶?

’$) KQ>ñ’$moQ> åhUOo H$m¶?

¶) {ddmhmMr ì¶m»¶m Úm.

a) {ZpîH«$¶ {dMbZ åhUOo H$m¶?

b) AZwMbZ åhUOo H$m¶?

d) Am§Va {ddmhmMo àH$ma gm§Jm.
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à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. (H$moUVohr Mma) [16]

A) {dMbZmMr g§H$ënZm ñnï> H$am.

~) g{H«$¶ d {ZpîH«$¶ {dMbZ ¶mVrb ’$aH$ ñnï> H$am.

H$) Hw$Qw>§~mMr O¡{dH$ H$m¶} ñnï> H$am.

S>) Hw$Qw>§~mMo {d{dY àH$ma ñnï> H$am.

B) XÎmH$ nÕVr hr g§H$ënZm ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 150 eãXm§V {bhm. (H$moUVohr VrZ) [18]

A) {ddmh Am{U b¢{JH$Vm ¶mVrb nañna g§~§Y ñnï> H$am.

~) hþ§S>m nÕVrMr H$maUo ñnï> H$am.

H$) Hw$Qw>§~mMr d¡{eîQ>ço ñnï> H$am.

S>) gm‘m{OH$ {dMbZmMo ñdê$n ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXm§V {bhm. (H$moUVohr XmoZ) [20]

A) {dMbZmË‘H$ dV©ZmMr H$maUo ñnï> H$am.

~) H$m¡Qw>§{~H$ nardV©ZmMr H$maUo ñnï> H$am.

H$) ^maVr¶ g‘mOmVrb ór¶m§Mm gm‘m{OH$ XOm© ñnï> H$am.


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Q1) Answer the following questions in 100 words each. (Any Three) [15]

a) State the India’s maritime policy.

b) State the India’s Naval Strategy.

c) State the India’s Look East policy.

d) What are the aims of Non-alignment Movement.

e) What are the objective of India’s East Look policy?

Q2) Answer the following Questions in 300 words each. (Any One) [15]

a) State the historical background of India’s policy in South Asia.

b) Explain the America role in South Asia.

Q3) Answer the following questions in 200 words each. (Any Two) [20]

a) State the Russia’s role in South Asia.

b) Describe the relation India and Nepal.

P.T.O.
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c) Explain the India’s role in the Non-Aligned Movement.

d) Explain the Defense agreement between India and Russia.

Q4 Write Short notes (Any Four) [20]

a) Meaning of Non-alignment

b) Strategic importance of the Indian Ocean

c) Aims of India’s East Look policy

d) India and Bhutan

e) Act East policy

f) Objectives of the Non-Aligned Movement

 
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DEFENCE & STRATEGIC STUDIES
CC-1F - G-3 : India’s National Security Policy and Strategy - II

(2019 Pattern) (CBCS) (Semester - VI) (36273)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZmMo nyU© JwU Xe©{dVmV.

P209

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË¶oH$s 100 eãXmV {bhm. (H$moUVohr VrZ) [15]

A) ^maVmMo gmJar YmoaU gm§Jm.

~) ^maVmMo Zm{dH$ S>mdnoM gm§Jm.

H$) ^maVmMo nyd}H$S>o nhm YmoaU gm§Jm.

S>) A{báVm MidirMo hoVy H$moUVo?

B) ^maVmMo nyd}H$S>o nhm YmoaUmMo CÔoe H$moUVo?

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË¶oH$s 300 eãXmV {bhm. (H$moUVohr EH$) [15]

A) ^maVmÀ¶m X{jU Am{e¶mVrb YmoaUmMr Eo{Vhm{gH$ nmíd©̂ y‘r gm§Jm.

~) X{jU Am{e¶mV A‘o[aHo$Mr ŷ{‘H$m ñnîQ> H$am.



4[6041]-674

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË¶oH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]

A) X{jU Am{e¶mV a{e¶mMr ŷ{‘H$m gm§Jm.

~) ^maV d Zonmi g§~§Y {deX H$am.

H$) A{bßVVm MidirV ^maVmMr ŷ{‘H$m ñnîQ> H$am.

S>) ^maV d a{e¶m g§ajU H$ama ñnîQ> H$am.

à.à.à.à.à.4) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr Mma) [20]

A) A{báVoMm AW©

~) qhXr ‘hmgmJamMo gm‘[aH$ ‘hËd

H$) ^maVmMo nyd}H$S>o nhm YmoaUmMo hoVy

S>) ^maV d ŷVmZ

B) H$m¶Xm nyd© YmoaU

’$) A{bßVVm MidirMr C{ÔîQ>o

 



Total No. of Questions : 4]

[6041]-675
T.Y.B.A.

SOCIAL WORK
CC-1F : Public  Policy
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Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.

P210 [Total No. of Pages : 2
SEAT No. :

Q1)Write short notes on (Any three) [15]
a) Welfare policies
b) Bureaucracy
c) Public policy

        d)    Agenda.
e) Implementation

Q2) Answer the following questions in 50 words each (any three) [15]
a) State the nature of public policy.
b) What is the role of legislature.
c) Discuss - “Bureaucracy is the medium of implementation of public policiers”
d) Explain the policies for OBCs
e) Discuss - “shaping publicy policy”

Q3) Answer the following questions in 200 words each (Any two) [20]
a) Explain the scope of public policy
b) State the procedure of bringing public policies in to action.
c)    Discuss - ‘Evolution of public policy’
d) Critically evaluate - women policy.

Q4) Answer the following question in 300 words each (Any one) [20]
a) Explain the nature of implementation of public policies.
b) Public policies & social development - Discuss.


P.T.O.



2[6041]-675

Total No. of Questions : 4]

[6041]-675
T.Y.B.A.

SOCIAL WORK
CC-1F : Public  Policy

(2019 Pattern) (CBCS) (Semester - VI) (36433)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P210

à.à.à.à.à.1) {Q>nÊUr {bhm. (H$moUË¶mhr VrZ) [15]
A) H$ë¶mUH$mar YmoaUo
~) ZmoH$aemhr
H$) gmd©O{ZH$ YmoaU
S>) {df¶ n{ÌH$m
B) A§‘b~OmdUr

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]
A) gmd©O{ZH$ YmoaUmMo ñdê$n ñnï> H$am.
~) H$m¶Xo‘§S>imMr ŷ{‘H$m H$m¶?
H$) MMm© H$am - ZmoH$aemhr hr EH$ gmd©O{ZH$ YmoaUmÀ¶m A§‘b~OmdUrMo ‘mÜ¶‘ hmo¶.
S>) BVa ‘mJmgdJu¶mgmR>r AdbrH$s YmoaUo {deX H$am.
B) MMm© H$am - ""gmd©O{ZH$ YmoaUmg AmH$ma XoUo''

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎmao 200 eãXm§V {bhm. [20]
A) gmd©O{ZH$ YmoaUmMr ì¶már ñnï> H$am.
~) gmd©O{ZH$ YmoaU H$m¶©dmhr‘Ü¶o AmUÊ¶mMr H$m¶© nÕVr Z‘yX H$am.
H$) gmd©O{ZH$ YmoaUmMm CJ‘ - MMm© H$am.
S>) {Q>H$mË‘H$ n[ajU H$am - ‘{hbm YmoaU

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 300 eãXm§V {bhm. [20]
A) gmd©O{ZH$ YmoaUmÀ¶m A§‘b~OmdUrMo ñdê$n {deX H$am.
~) gmd©O{ZH$ YmoaUo Am{U gm‘m{OH$ {dH$mg - MMm© H$am.


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[6041]-676
T.Y. B.A.
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1) All questions are compulsory.
2) Figures to the right indicate full marks.

P3163 [Total No. of Pages : 4
SEAT No. :

Q1) a) Fill in the blanks by selecting proper words from brackets : [7]

i) Management is ______ function.

(Dynamic, Controlling, Directing, Planning)

ii) Organising process involves _______

(Division of work, Grouping of Identical Work, All of these, None
of these)

iii) An important aspect of staffing is _______

(Selection, Training, Recruitment, All of the above)

iv) Direction is _______

(Order, Supervision, Communication, None of these)

v) Functional planning is done by ______

(Top level, Middle level, Lower level, All of the above)

vi) ____ is the heart of management.

(Direction, Co-ordination, Planning, None of these)

vii) Planning process begains with ______

(Setting objectives, Identify alternatives, Developing planning
premise, Selecting alternatives)

P.T.O.
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b) State True or False : [7]
i) Directing decision create a long term impact on the efficiency of

organisation.
ii) Recruitment is a positive activity.
iii) There is no difference between training and development
iv) Human resource is an important managerial Function.
v) F. W. Taylor was named as the Father of scientific management.
vi) Managers who are able to earn the respect and co-operation of

employees are known as leaders.
vii) Organization is a base of management.

Q2) Answer the following questions in one or two sentence. [14]
a) State any two objectives of management.
b) State any two advantages of Planning.
c) What is direction.
d) Give two examples of internal sources of recruitment.
e) What is organising?
f) What are the three levels of management?
g) Define the planning.

Q3) Answer the following questions. (any two) (in 300 words) [14]
a) Define planning explain the nature of planning.
b) Explain the functions of management.
c) Define organisation? Explain the organisation process.
d) What is decision making? Explain the process or steps of decision

making.

Q4) Answer the following questions. (in 500 words) [14]
a) What is controlling and explain the steps in control process.

OR
b) Explain the need of management.

Q5) Write short note on (any two) [14]
a) Nature of management
b) Staffing
c) Motivation
d) Leadership


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Total No. of Questions : 5]

[6041]-676
T.Y. B.A.

G - III : COMMERCE
CC-1F : Business Management

(2019 Pattern) (CBCS) (Semester - VI) (36293)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.

2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P3163

à.à.à.à.à.1) A) H§$gmVrb ¶mo½¶ eãX {ZdSy>Z [aº$ OmJm ^am. [7]

i) ì¶dñWmnZ ho .............. H$m¶© Amho.

(J{V‘mZ, {Z¶§ÌU, {X½Xe©Z, {Z¶moOZ)

ii) g§KQ>Z à{H«$¶oV ................. g‘m{dï> AgVo.

(H$m‘mMr {d^mJUr, g‘mZ H$m¶m©Mo g‘whrH$aU, darb gd©, ¶mn¡H$s Zmhr)

iii) H$‘©Mmar g§KQ>ZmMm ‘hÎdnyU© n¡by åhUOo .............. H$m¶?

({ZdS>, à{ejU, ^aVr, darbn¡H$s gd©)

iv) {ZX}eV åhUOo .................

(AmXoe, n¶©dojU, g§no«fU, darbn¡H$s H$moUVohr Zmhr)

v) H$m¶m©Ë‘H$ {Z¶moOZ ho ............. Ûmao Ho$bo OmVo.

(CƒñVa, ‘Ü¶‘ñVa, {ZåZñVa, darb gd©)

vi) .............. ho ì¶dñWmnZmMo öX¶ Amho.

({X½Xe©Z, g‘Ýd¶, {Z¶moOZ, darbn¡H$s Zmhr)

vii) {Z¶moOZ à{H«$¶m .............. nmgyZ gwê$ hmoVo.

(C{Ôï>ço {ZpíMV H$aUo, AmoiI n¶m©¶, {Z¶moOZ n[aga {dH${gV H$aUo, n¶m©¶ {ZdS>Uo)
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~) MyH$ H$s ~amo~a gm§Jm. [7]
i) {XemXe©H$ {ZU©¶m‘wio g§ñWoÀ¶m H$m¶©j‘Voda XrK©H$mbrZ à^md nS>Vmo.
ii) ^aVr hr EH$ gH$mamË‘H$ {H«$¶m Amho.
iii) à{ejU Am{U {dH$mg ¶mV ’$aH$ Zmhr.
iv) ‘mZd g§gmYZ ho EH$ ‘hÎdmMo ì¶dñWmnH$s¶ H$m¶© Amho.
v) F. W. Taylor ¶m§Zm d¡km{ZH$ ì¶dñWmnZmMo OZH$ åhUyZ Zmd XoÊ¶mV Ambo Amho.
vi) Oo ì¶dñWmnH$ H$‘©Mmè¶mMm AmXa Am{U ghH$m¶© {‘idy eH$VmV Ë¶m§Zm ZoVo åhUyZ AmoiIbo

OmVo.
vii) g§KQ>Zm hm ì¶dñWmnZmMm nm¶m Amho.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao EH$ qH$dm XmoZ dm³¶mV Úm. [14]
A) ì¶dñWmnZmMr H$moUVrhr XmoZ CÔrï>¶o gm§Jm.
~) {Z¶moOZmMo H$moUVohr XmoZ ’$m¶Xo gm§Jm.
H$) {X½Xe©Z åhUOo H$m¶?
S>) ^aVrÀ¶m A§VJ©V ñÌmoVm§Mr XmoZ CXmhaUo Úm.
B) g§KQ>Z åhUOo H$m¶?
’$) ì¶dñWmnZmMo VrZ ñVa H$moUVo AmhoV?
¶) {Z¶moOZmMr ì¶m»¶m gm§Jm.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao Úm. (H$moUVohr XmoZ) [14]
A) {Z¶moOZ åhUOo H$m¶? {Z¶moOZmMo ñdê$n ñnï> H$am.
~) ì¶dñWmnZmMr H$m¶© ñnï> H$am.
H$) g§KQ>Z åhUOo H$m¶? g§KQ>Z à{H«$¶m ñnï> H$am.
S>) {ZU©¶ à{H«$¶m åhUOo H$m¶? {ZU©¶ à{H«$¶oMo Q>ßno ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao Úm. [14]
A) {Z¶§ÌU åhUOo H$m¶? {Z¶§ÌU à{H«$¶oVrb Q>ßno {dfX H$am.

qH$dm
~) ì¶dñWmnZ Aä¶mgmMr JaO ñnï> H$am.

à.à.à.à.à.5) {Q>nm {bhm. (H$moUVohr XmoZ) [14]
A) ì¶dñWmnZmMo ñdê$n
~) H$m‘Jmam§Mr ^aVr {ZdS>
H$) àoaUm
S>) ZoV¥Ëd


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P211 [Total No. of Pages : 2
SEAT No. :

Q1) Answer the following questions in 50 words. each (any three) [15]
a) What are the characteristics of emotional development in adolsance stage.
b) Write an educational importance of perception.
c) What are the areas of individual difference.
d) Write an educational importance of heredity.
e) Write an educational importance of creativity.

Q2) Answer the following questions in 100 words each (any two): [20]
a) Explain the characteristics of physical and mental development in infancy stage.
b) Explain the causes of individual differences.
c) What is sensation? Explain an educational importance of sensation.
d) Explain an educational importance of environment.

Q3) Answer any one question in 300 words. [20]
a) Explain the characteristics of physical, mental Emotional and social

development in childhood stage.
b) Explain factors affecting on personality in details.

Q4) Write short notes in 50 words. each (any three) [15]
a) Meaning of Individual difference.
b) Meaning of heredity.
c) Educational importance of concept for mantion.
d) Educational importance of personality.
e) Characteristics of development process.


P.T.O.
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Total No. of Questions : 4]

[6041]-677
T.Y.B.A.

EDUCATION
CC1E : Education Psychology

(2019 Pattern) (CBCS) (Semester - VI) (36303)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb AmH$S>o nyU© JwU Xe©{dVmV.

P211

à.à.à.à.à.1) Imbrb àíZm§Mr 50 eãXm§V CÎmao {bhm. (H$moUVohr VrZ) [15]
A) Hw$‘mamdñWoVrb ^md{ZH$ {dH$mgmMr d¡{eï>ço H$moUVr?
~) AdUmoYmMo e¡j{UH$ ‘hÎd {bhm.
H$) ì¶{º$ ôXmMr joÌo H$moUVr?
S>) AZwd§emMo e¡j{UH$ ‘hÎd {bhm.
B) gO©ZerbVoMo e¡j{UH$ ‘hÎd {bhm.

à.à.à.à.à.2) Imbrb àíZm§Mr 100 eãXm§V CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) ~më¶mdñWoVrb emar[aH$ d ‘mZ{gH$ {dH$mgmMr d¡{eï>o ñnï> H$am.
~) ì¶º$s^oXmMr H$maUo ñnï> H$am.
H$) g§doXZm åhUOo H$m¶? g§doXZoMoo e¡j{UH$ ‘hÎd ñnîQ> H$am.
S>) n[apñWVrMo e¡j{UH$ ‘hÎd ñnï> H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr 300 eãXm§V CÎmao {bhm. (H$moUVmhr EH$) [20]
A) {H$emoamdñWoVrb emar[aH$, ‘mZ{gH$, ^md{ZH$, gm‘m{OH$ {dH$mgmMr d¡{eîQ>ço ñnï> H$am.
~) ì¶{º$‘Îdmda n[aUm‘ H$aUmao KQ>H$ g{dñVa ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) ì¶{º$ ôXmMm AW©
~) AZwd§emMm AW©
H$) g§H$ënZm {Z{‘©VrMo e¡j{UH$ ‘hÎd
S>) ì¶{º$‘ËdmMo e¡j{UH$ ‘hÎd
B) {dH$mg à{H«$¶oMr d¡{eï>o


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T.Y.B.A.

MATHEMATICS
CC-1F, MG-6 : Ring Theory

  (2019 Pattern)  (CBCS) (Semester-VI) (36343)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

P212 [Total No. of Pages : 2

SEAT No. :

Q1) Attempt Any five of the following: [10]
a) State factor theorem.
b) Find characteristic of 2
c) Define primitive polynomial.
d) Determine whether the polynomial f (x) = x2 – 2 is reducible in Q[x]?

Justify.
e) Show that unity element ‘1’ (if exist) in a ring R is unique.

f) Find all maximal ideals of 6 .

g) Find all zeros of x2 + 2x + 3 in 6 .

Q2) Attempt any four of the following: [20]

a) Is the factor ring 3
5[ ] / 3 2x x x+ +  a field? Justify.

b) Show that if R is an integral Domain then R[x] is also an Integral Domain

c) Let R be a ring, ( )N Rφ≠ ⊆  is an ideal of R if and only if

i) . N; , Nx y x y∈ ∀ ∈

ii) , N; , N, Rrx xr x y r∈ ∀ ∈ ∈
d) Find the remainder of 8103 when divided by 13.

e) Find the quotient and remainder when 4 3 2( ) 3 2 4 1f x x x x x= − + + −  is

divided by 2
5( ) 2 3in [ ]g x x x x= − + 

f) Show that every finite integral domain is a field.

P.T.O.
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Q3) Attempt any four of the following: [20]

a) Prove that every non zero non unit element of a P.I.D is a product of
irreducibles.

b) If R is a ring with unity and N is an ideal of R containing a unit then prove
that N=R.

c) Determine whether the map 12 30:f →   defined by f (x)=15x is a

homomorphism.

d) Prove that in a P.I.D if an irreducible P divides ab then either P/a or P/b.

e) Show that 3 is irreducible element of 5 −  .

f) Prove that an element Fa ∈  is a zero of ( ) F[ ]f x x∈  if and only if x–a is

a factor of ( ) F[ ]f x x∈ .

Q4) Attempt any two of the following: [20]

a) Using Eucledian algorithm find g.c.d (greatest common divisor) of

8 6iα = + and 5 15iβ = −  in  [i]

b) If R is a commutative ring with unity and M is an ideal of R then prove
that R/M is a field if and only if M is a maximal ideal.

c) Show that every P.I.D is a UFD. Also give an example of a UFD which is
not a P.I.D.

d) i) Let ( ) ( )f x f x∈ . Let f (x) be of degree 2 or 3 then prove that f (x)

is reducible over F if and only if it has a zero in F.

ii) Show that polynomial 1 2( ) ........ 1P p
p x x X xφ − −= + + + +  is

irreducible over Q for any prime P.


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Total No. of Questions : 4]

[6041]-679
T.Y.B.A.

MATHEMATICAL STATISTICS (General-IV)
CC-2F-ST-33276 : Testing of Hypothesis

  (CBCS 2019 Pattern)  (Semester-VI) (36383)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All question are compulsory.

2) Figures to the right indicates full marks.

3) Use of scientific calculator and statistical table is allowed.

4) Symbols and abbreviations have their usual meanings.

P213 [Total No. of Pages : 3

SEAT No. :

Q1) Attempt each of the following:
A) Choose the correct alternative of the following. [1 each]

a) Power of a test is the probability of
i) Rejecting H

0
 when it is false

ii) Accepting H
0
 when H

1
 is true

iii) Rejecting H
0
 when H

1
 is true

iv) Accepting H
0
 when H

0
 is true

b) Which of the following is simple hypothesis?
i) H

1 
: μ > μ0 ii) H

1
 : μ < μ0

iii) 1 0H :μ μ≠ iv) H
1
 : μ = μ1

c) In case of N (μ,σ2), σ2 is known the UMP critical region for testing.
H

0
 :  μ = μ0v/s   H

1
 : μ >μ0is of the form

i) X K< ii) X K>
iii) 2X K< iv) 2X K>

d) To decide about acceptance of H
0
, SPRT involves

i) One region only ii) Two region only
iii) Three regions iv) Four regions

e) For testing the goodness of fit of a distribution, following test is
used
i) Run test ii) Kolmogorov-smirnov test
iii) Sign test iv) Mann-whitney test.

P.T.O.
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B) State whether the following statement is true or false: [1 each]
a) MP test is always UMP test.
b)  LRT can be used to test a simple null hypothesis against a simple

alternative hypothesis.
c) The probability of rejecting H

0
 when it is not true is known as level

of significance.
d) The likelihood ratio test is used for testing composite null against

composite alternative hypothesis.
e) In Wald’s SPRT, Sample size is fixed.

Q2) Attempt any four of the following: [4×5=20]

a) Explain the advantages of  Non-parametric tests.

b) Define each with examples.

i) Hypothesis

ii) Simple hypothesis

iii) Composite hypothesis

c) Explain type I and type II error along with their probabilities (i.e.α and β).

d) Explain the procedure for Run Test for 2 samples.

e) Prove that : if T (x) is a sufficient statistic for θ and λ*(t) and λ (x) are the
LRT statistics based on T and X respectively, then λ ∗ (T(x)) = λ(x) for
every x in the sample space.

f) Following data gives length of a certain variety of wheat-

11.3, 10.4, 10.7, 8.6, 9.3, 8.8, 10.7, 8.2, 11.5, 9.7,

10.3, 11.2, 9.0, 9.8, 9.3, 9.9, 10.1, 10.0, 9.6, 9.7

Test whether population median is 10 at 1% L.O.S.

Q3) Attempt any four of the following: [4×5=20]

a) Construct LRT for variance of normal distribution when μ known.

b) Explain the procedure of Mann-Whitney U test.

c) The following is the arrangement of defective (d) and non-defective (n)
pieces produced in the give order by a certain machine-

n n n n d d d n n n n n  d d n n n n d d n n d d d d

Test for Randomness 1% L.O.S.
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d) X is  a discrete random variable following.

X 1 2 3 4 5 6 7

f(x|H
0
) 0.01 0.02 0.03 0.04 0.05 0.07 0.78

d(x|H
1
) 0.03 0.09 0.10 0.10 0.20 0.18 0.30

Based on single observation x for testing H
0
 against H

1
, write all possible

CR’s of size α = 0.10 and find the most powerful CR among them to
obtain a MP test.

e) Let X→ E Exp (θ). Construct SPRT of strength (α,β) to test

H
0
 : θ = θ 

0 
against H

1
 : θ = θ1

f) Explain SPRT (Sequential probability Ratio Test).

Q4) Attempt any two of the following: [2×10=20]

a) Let X→ N (μ,σ 2),μ known. Construct SPRT of strenght (α,β) to test

H0: 
2 2

0σ σ= against H1:
2 2

1σ σ=

b) A random sample of size 10 is drawn from B (n=10,p) distribution. To
test H

0 
: p=0.4v/x H

1
 : p>0.4 α = 0.05 =5% LOS. By Neyman pearson

lemma find BCR.

c) Construct SPRT (Sequential Probability Ratio Test) for Poisson distribution.

d) Suppose that an engineer wishes to compare the number of complaints
per week files by union stewards for two different shifts at a  manufacturing
plant. 100 independent observations on the number of complaints gave

means x 20=  for shift 1 and  y 22=  for shift 2. Assume that number of

complaints per week on the ith shift has a poisson distribution with  mean
θ i for i=1,2. Use the likelihood ratio method to test H

0
:θ1=θ2 v/s

H
1
: 1 2θ θ≠ with significance level α = 0.01.


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Q1) Attempt any five of the following : [10]
a) Define a set of measure zero.

b) If f(x) = 5x, 0 < x < 1 and , , ,    
 

1 2
0 1
3 3

 is a subdivision of [0, 1] then

find L[ f ; ].

c) If A is not of measure zero, B A  and B is of measure zero then prove
that A – B is not of measure zero.

d) Show that the improper integral 
/

cos x
dx

x
1

1 3
0

 is convergent.

e) Define absolute convergence of improper integral.

f) Let   sin
,n

x
f x x

n
  0 1 , n = 1, 2, ..... Prove that   n n

f x


1
 is

converges pointwise to 0.
g) Define uniform convergence of series of real functions.

Q2) Attempt any four of the following : [20]

a) If each of the sets E
1
, E

2
, E

3
, ...... of   is of measure zero then prove that

En n

1  is also of measure zero.

b) Consider f(x) = x3, (0 < x < 1) and a subdivision , , ,.......,n
n

n n n
    

 
1 2

0

of [0, 1]. Find  lim U ; n
n

f 


.

P.T.O.
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c) If f  R [a, b], g  R [a, b] then prove that f + g  R [a, b] and

b b b

a a a

f g f g     .

d) Consider the function

 
, is rational in [0, 1];

, is irrational in [0, 1];

x
f x

x





1

0

Is f  Riemann integrable on [0, 1]? Justify your answer.

e) Evaluate : lim .....
n

n n n
n e e en

     
     
     



 
     

3 6 31
.

f) If 0 < x < 1 then prove that 
x

dx
x

 


1 2

0

1 1

33 2 1
.

Q3) Attempt any four of the following : [20]

a) Show that the integral 
x x

1

0

1

1
 is convergent.

b) Prove that the improper integral 
a

dx

x



 , where a > 0 converges if and only

if  > 1.

c) Prove that the integral m xx e dx


  1

0

 is convergent if and only if m > 0.

d) By using the integral test prove that the series 
n n



  2
1

1

3 5
 is convergent.

e) Examine the convergence of 
px

dx
x




1 1

0
1

.

f) Let    ,n

x
f x x

nx
  


0

1
 then prove that f

n
(x) converges uniformly

to 0 on  ,0 .



3[6041]-681

Q4) Attempt any two of the following : [20]

a) Let f be a bounded function on closed and bounded interval [a, b].

Prove that f  R [a, b] if and only if for each 0  there exists a

subdivision  of [a, b] such that    U ; L ;f f  .

b) Let  n n
f



1
 be a sequence of real valued functions on a set E. Prove that

 n n
f



1
 converges uniformly to a function F on E if and only if given

0  there exists a natural number N such that     ,m nf x f x 

, N; Em n x   .

c) Prove that the improper integral 
sin x

dx
x




0

 is convergent. Also show that

sin x
dx

x




0

 is divergent.

d) State and prove Weierstrass M-test for uniform convergence of the series

of functions. Hence prove that the series 
n n x



  2 2
1

1
 converges uniformly

on  ,0 .


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Q1) Answer any Three of the following questions in 50 words. [15]

a) Explain the concept of statistical model.

b) Define natural sciences with examples.

c) What is a common sense explanation?

d) Explain the means of inductive.

e) What are social institutions in social sciences?

Q2) Write short notes on any Three of the following in 50 words. [15]

a) Functional Model

b) Derivative laws

c) Value - neutrality

d) Social sciences

e) The laws of nature

P.T.O.
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Q3) Answer any Two of the following questions in 200 words. [20]

a) Explain the Classification of Laws of Nature.

b) What is objectivity? Explain in detail

c) Explain D.N. model of scientific explanation.

Q4) Answer any One of the following questions in 400 words. [20]

a) Explain in detail the primary and secondary Laws.

b) Elaborately explain the teleological and probabilistic model of scientific
explanation.

… … …
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T.Y.B.A.
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G3 : Logic and Principles of Reasoning
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(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or  àíZn{ÌH$m nhmdr.

P215

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao 50 eãXm§V {bhm. [15]

A) g§»¶mË‘H$ àménMr g§H$ënZm {deX H$am.

~) Z¡g{J©H$ emóo åhUOo H$m¶? CXmhaUmgh ñnï> H$am.

H$) ì¶mdhm[aH$ CnnmXZ åhUOo H$m¶?

S>) {dJ‘Z gmYZo H$moUVr ñnï> H$am.

B) gm‘m{OH$ emómVrb gm‘m{OH$ g§ñWm åhUOo H$m¶?

à.à.à.à.à.2) Imbrbn¡H$s H$moUË¶mhr VrZ Q>rnm 50 eãXm§V {bhm. [15]

A) H$m¶m©Ë‘H$ àmê$n

~) VX²^d {Z¶‘

H$) ‘yë¶{ZaonojVm

S>) gm‘m{OH$ emñÌo

B>) {ZgJ© {Z¶‘



4[6041]-682

à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àíZm§Mr CÎma 200 eãXm§V {bhm. [20]

A) {ZgJ© {Z¶‘m§Mo dJuH$aU {deX H$am?

~) dñVy{Zð>Vm åhUOo H$m¶ g{dñVa {deX H$am.

H$) d¡km{ZH$ ñnï>rH$aUmMo S>r.EZ. àmén gm§Jm.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m àíZmMo CÎma 400 eãXm§V {bhm. [20]

A) ‘wb ŷV d Xþæ¶‘ {Z¶‘ g{dñVa ñnï> H$am.

~) d¡km{ZH$ ñnï>rH$aUmMo à¶moOZmË‘H$ d g§̂ mì¶mË‘H$ àmê$n g{dñVa {deX H$am.

… … …
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Q1) Write short notes (Any three). [15]
a) Aadhar.
b) Secularism.
c) Right to privacy.
d) Principles of social justice.
e) Social justice and caste system.

Q2) Answer the following questions in 50 words each (Any three). [15]
a) Write the characteristics of Human Rights.
b) Describe the types of social justice.
c) Explain the importance of preamble.
d) Explain the relationship between social justice and sexual groups.
e) Describe the problems of the aged.

Q3) Answer the following questions in 200 words each (Any two): [20]
a) Explain the relationship between Human Rights and social justice.
b) Elaborate the right to Public Health.
c) Describe social justice and diversity.
d) Describe the role of government in implementing social justice.

Q4) Answer the following question in 300 words each. (Any one) [20]
a) Describe the Human Rights in the constitution of India.
b) Write the importance of Universal Declaration of Human Rights.


P.T.O.
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[6041]-683
T.Y. B.A.

SOCIOLOGY
CC1D, G - 3 : Introduction to Human Rights and Social Justice

(2019 Pattern) (Semester - VI) (CBCS) (36373)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘yi B§J«Or àíZn{ÌH$m nhmdr.

P216

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUVohr VrZ) [15]
A) AmYma
~) Y‘©{ZanojVm
H$) Jmon{Z¶VoMm A{YH$ma
S>) gm‘m{OH$ Ý¶m¶mMr VÎdo
B) gm‘m{OH$ Ý¶m¶ Am{U OmVrì¶dñWm

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao 50 eãXm§V {bhm. (H$moUVohr VrZ) [15]
A) gm‘m{OH$ h¸$m§Mr d¡{eï>ço {bhm.
~) gm‘m{OH$ Ý¶m¶mÀ¶m àH$mam§Mo dU©Z H$am.
H$) gaZmå¶mMo ‘hÎd ñnï> H$am.
S>) gm‘m{OH$ Ý¶m¶ d b¢{JH$ JQ>mVrb g§~§Y ñnï> H$am.
B) d¥Õm§À¶m g‘ñ¶mMo dU©Z H$am.

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao 200 eãXm§V {bhm. (H$moUVohr XmoZ) [20]
A) gm‘m{OH$ Ý¶m¶ d ‘mZdr h¸$ ¶m§À¶mVrb g§~§Y ñnï> H$am.
~) gmd©O{ZH$ Amamo½¶m§Mm A{YH$ma {deX H$am.
H$) gm‘m{OH$ Ý¶m¶ Am{U {d{dYVm ¶m§Mo dU©Z H$am.
S>) gm‘m{OH$ Ý¶m¶mÀ¶m A§‘b~OmdUr ‘Ü¶o emgZmÀ¶m ŷ{‘Ho$Mo dU©Z H$am.

à.à.à.à.à.4) Imbrb àíZm§Mr CÎmao 300 eãXm§V {bhm. (H$moUVohr EH$) [20]
A) ^maVmVrb amÁ¶KQ>ZoVrb ‘mZdr h¸$m§Mo dU©Z H$am.
~) ‘mZdr h¸$m§Mr gmd©{ÌH$ KmofUoMo ‘hÎd {bhm.


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Q1) Write short notes on (Any three). [15]
a) Forestry.
b) Service sector and class.
c) Tourism.
d) Mining labour.
e) Service sector and gender.

Q2) Answer the following questions in 50 words each. (Any three) [15]
a) Discuss the nature of social security in the informal sector in India.
b) Write the problems of the workers working in the hotel Business
c) Explain the impact of caste on service sector workers in India.
d) Describe the impact of Religion and Region on service sector in India.
e) Write the nature of the work of the workers in the service industry.

Q3) Answer the following questions in 200 words each. (Any two) [20]
a) Write the types of Hospitality.
b) Explain the impact of the new economic policy on fishing sector workers.
c) Write the growth in Hospitality sector in India.
d) Explain the problems of workers in BPO sector.

Q4) Answer the following questions in 300 words each. (Any one) [20]
a) Discuss the impact of the new economic policy on agricultural labour.
b) Discribe the impact of increasing workers in informal sector on trade

unions in India.



P.T.O.
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[6041]-684
T.Y. B.A.

SOCIOLOGY
CC-2E : Work and Society in India

(2019 Pattern) (Semester - VI) (CBCS) (36374)
(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àíZn{ÌH$m nhmdr.

P217

à.à.à.à.à.1) WmoS>³¶mV {Q>nm {bhm. (H$moUË¶mhr VrZ) [15]
A) dZCÚmoJ
~) godmjoÌ Am{U dJ©
H$) n¶©Q>Z
S>) ImU‘Oya
B) godm joÌ Am{U qbJ^md

à.à.à.à.à.2) Imbrb àíZm§Mr 50 eãXmV CÎmao {bhm. (H$moUVohr VrZ) [15]
A) ^maVmVrb AZm¡nMm[aH$ joÌmVrb gm‘m{OH$ gwajoÀ¶m ñdê$nmda MMm© H$am.
~) hm°Q>ob ì¶dgm¶mV H$m‘ H$aUmè¶m H$m‘Jmam§À¶m g‘ñ¶m {bhm.
H ) ^maVmVrb godm joÌmVrb H$m‘Jmam§darb OmVrMm n[aUm‘ ñnï> H$am.
S>) ^maVmVrb godm joÌmVrb H$m‘Jmam§darb Y‘© Am{U àXoemMm n[aUm‘ {deX H$am.
B) godm CÚmoJmVrb H$m‘Jmam§À¶m H$m‘mMo ñdê$n {bhm.

à.à.à.à.à.3) Imbrb àíZm§Mr 200 eãXmV CÎmao {bhm. (H$moUVohr XmoZ) [20]
A) AmXam{VÏ¶mMo àH$ma {bhm.
~) ZdrZ Am{W©H$ YmoaUmMm ‘mgo‘mar joÌmVrb H$m‘Jmam§da Pmbobm n[aUm‘ ñnï> H$am.
H$) ^maVmVrb AmXam{VÏ¶ joÌmVrb dmT> {bhm.
S>) ~rnrAmo g|Q>a‘Ü¶o H$m‘ H$aUmè¶m H$m‘Jmam§À¶m g‘ñ¶m ñnï> H$am.

à.à.à.à.à.4) Imbrb àíZmMo CÎma 300 eãXmV {bhm. (H$moUVohr EH$) [20]
A) ZdrZ Am{W©H$ YmoaUmMm eoVr joÌmVrb ‘Oyam§da Pmboë¶m n[aUm‘mMr MMm© H$am.
~) ^maVmVrb AZm¡nMm[aH$ joÌmVrb dmT>Ë¶m H$m‘Jmam§Mm H$m‘Jma Midirdarb n[aUm‘ {deX H$am.





Total No. of Questions : 4]

[6041]-685
T.Y.B.A.

STATISTICS (General - III)
CC-1F, ST - 33876 : Operations Research

(2019 Pattern) (CBCS) (Semester - VI) (36385)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of Scientific calculator and Statistical tables is allowed.
4) Symbols and abbreviations have their usual meaning.
5) Graph paper will be provided on request.

P218 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt the following : [5 × 1 = 5]
A) Choose the correct alternative of the following :

a) For balanced assignment problem with four machines should have
_______ jobs.
(i) 7 (ii) 8
(iii) 6 (iv) 4

b) Number of basic cells in Transportation problem with 3 origins and
3 destinations is :
(i) 7 (ii) 5
(iii) 6 (iv) 8

c) LPP is solved by graphical method if number of decision variable
are :
(i) more than one (ii) more than two
(iii) less than three (iv) exactly two

d) In LPP, if primal problem has three constraints then number of
variable in dual LPP is :
(i) two (ii) three
(iii) four (iv) more than three

e) In Transportations problem (T.P.), the Vogel’s Approximation method
is used :
(i) to remove degeneracy
(ii) to find the optimum solution
(iii) to find alternative solution
(iv) to find initial basic feasible solution

P.T.O.
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B) State whether the following statements are true or false : [5 × 1 = 5]

a) Assignment problem is a particular case of Transportation Problem.

b) The region satisfying all constraints given in LPP is known as feasible
region.

c) PERT is deterministic in nature.

d) Hungarian method is used to solve transportation problem.

e) Unbalanced Assignment Problem has equal number of machines
and jobs.

Q2) Attempt any four of the following : [4 × 5 = 20]

a) Prepare initial simplex table to solve the following LPP.

Maximize Z = 4x + 10y,

Subject to :

x + y > 20

4x + 6y < 24

x, y > 0.

b) Write the procedure of graphical method to solve LLP.

c) Discuss Hungarian method solve Assignment problem.

d) Obtain initial basic feasible solution with respective cost of transportation
to the following transportation problem by North-West corner method.

Destination D
1

D
2

D
3

D
4

Capacity

S
1

9 3 5 1 7

S
2

7 3 4 6 9

S
3

4 8 7 2 14

Demand 5 8 7 10

e) Explain the term artificial variable with its need in L.L.P.

f) Describe Monte Carlo method of simulation.

Q3) Attempt any four of the following : [4 × 5 = 20]

a) Describe matrix minima method to find IBFS of Transportation problem.

b) Obtain the critical path with its duration for following network diagram.
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c) A person wants to decide the constitutions of a diet which will fulfill his
daily requirements of proteins, fats and carbohydrates at the minimum
cost. The choice is to be made from four different types of foods. The
yields per unit of these foods are given in table below :

Food type Yield per unit Cost per unit

Proteins Fats Carbohydrates

A 3 2 6 45

B 4 2 4 40

C 8 7 7 25

D 6 5 4 65

Minimum 800 200 700
Requirement

Formulate the problem as LPP.

d) Obtain an optimal assignment for the following problem.

Machines

Jobs M
1

M
2

M
3

J
1

1 4 3

J
2

4 3 2

J
3

3 2 2

J
4

5 1 2

e) Write a note on various time factors related to PERT.

f) Explain the term ‘Activity’ with its types in Network analysis.

Q4) Attempt any two of the following : [2 × 10 = 20]

a) A small project involves 7 activities with their time duration are listed in
the following table. Activities are identified by their beginning (i) and
ending (j) node numbers :

Activity (i-j) : 1-2 1-3 1-4 2-5 3-5 4-6 5-6

Duration in weeks : 2 4 3 1 6 5 7

i) Construct a network diagram of the activities in the project.

ii) Find the earliest and latest duration for each event.

iii) Obtain critical path with the project length.
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b) Write dual to the following LPP. Solve the dual problem using simplex
method :

Minimize Z = 3X + Y

Subject to :

X + Y > 1

2X + 3Y > 2

X > 0 and Y > 0

c) A bakery keeps stock of a popular brand of a cake. The past experience
shows the daily demand for the popular brand of a cake as below :

Daily demand 0 5 10 15 20 25 30

Number of days 3 12 15 35 20 7 8

Simulate the demand for next ten days by using random numbers 25, 39,
65, 76, 12, 05, 73, 89, 19, 49. Also, estimate the average daily demand
and Standard deviation for the popular brand of cakes.

d) Obtain the optimal solution to the following T.P. by using IBFS of least
cost method.

Destination

Origin D
1

D
2

D
3

Availability

O
1

5 8 3 18

O
2

4 5 7 30

O
3

6 2 4 12

Requirement 35 15 10


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Q1) Answer the following questions in 300 words each. [15]
 a) Discuss the types of Heritage.

OR
b) Describe the socio-cultural importance of Heritage tourism.

Q2) Answer the following questions in 300 words. [15]
a) Explain the concept of cultural resource management.

OR
b) Which are the types of Museum?

Q3) Answer the following questions in 200 words each (any two). [20]
a) What do you know about Badami-Pattadakal Complex?
b) How to preserve Ancient coins?
c) Write in-brief on Salar Jung Museum at Hydrabad.
d) Explain the importance of Junnar and Karle Caves.

Q4) Write notes on (any four) [20]
a) Sanchi.
b) Gharapuri.
c) Concept fo Documentation.
d) Indian Museum (Kolkata)
e) Concept of Heritage Tourism.
f) Naneghat.


P.T.O.
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[6041]-686
T.Y.B.A.

ANCIENT INDIAN HISTORY CULTURE AND ARCHAEOLOGY
CC-1F : Ancient Heritage and Heritage Management

(2019  CBCS Pattern) (Semester - VI) (36183)

(‘amR>r ê$nm§Va)
doi : 2½ Vmg] [ EHy$U JwU : 70

gyMZm …- 1) gd© àíZ A{Zdm¶© AmhoV.
2) COdrH$S>rb A§H$ àíZm§Mo nyU© JwU Xe©{dVmV.

P219

à.à.à.à.à.1) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXmV {bhm. [15]
A) "dmagm' `mÀ`m àH$mam§Mr MMm© H$am.

qH$dm
~) "dmagm n ©̀Q>Z' `mMo gm_m{OH$-gm§ñH¥${VH$ _hÎd dU©Z H$am.

à.à.à.à.à.2) Imbrb àíZm§Mr CÎmao àË òH$s 300 eãXmV {bhm. [15]
A) gm§ñH¥${VH$ g§gmYZ ì`dñWmnZ hr g§H$ënZm {deX H$am.

qH$dm
~) g§J«hmb`mMo àH$ma H$moUVo?

à.à.à.à.à.3) Imbrb àíZm§Mr CÎmao àË òH$s 200 eãXmV {bhm. (H$moUVohr XmoZ) [20]
A) ~Xm_r-nÅ>S>H$b g§Hw$b `m {df`r Vwåhm§g H$m` _m{hVr Amho?
~) àmMrZ ZmÊ`m§Mo OVZ H$go H$aVmV?
H$) h¡Ðm~mX òWrb gmbma-O§J g§J«hmb` `m {df`r WmoS>Š`mV {bhm.
S>) OwÝZa Am{U H$mb} boUr `m§Mo _hÎd ñnï> H$am.

à.à.à.à.à.4) {Q>nm {bhm. (H$moUVohr Mma) [20]
A) gm§Mr
~) Kmamnwar
H$) XñVEodOrH$aU hr g§H$ënZm
S>) B§S>r`Z å ỳ{P`_ (H$mobH$mVm)
B) Eo{Vhm{gH$ n ©̀Q>ZmMr g§H$ënZm
’$) ZmUoKmQ>


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Total No. of Questions : 4]

[6041]-687
T.Y.B.A.

MATHEMATICS
SEC-1D  FMG-6 : Financial Mathematics

  (2019 Pattern)  (CBCS) (Semester-VI) (36345)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All question are compulsory.

2) Figures to the right indicates full marks.

P220 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt any five of the following: [10]

a) Let D={(q,p): q=2p2–3p–2} be the demand set for a particular good.
Find the demand at p = 5.

b) Let D={(q,p): q+5p = 40} and S={(q,p) : 2q–15p = –20} be demand
and supply set for a market respectively. Find the equilibrium set for the
given market.

c) Define the term ‘Annuity’.

d) Find rank of matrix 
7 13

A
49 90

 
=  
 

.

e) If  
3 2

A
2 11

− 
 
 

.Determine the Leontief matrix for A.

f) If the cost function for a commodity is C (q)=q3+2q+33 then find the
average variable cost function.

g) Define the term ‘Startup point’.

P.T.O.
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Q2) Attempt any four of the following: [20]

a) You have offered a gift of either rupees 6000 now or rupees 10000 after
seven years. Which will you accept assuming fixed interest rate of 8%.
justify your answer.

b) An amount of rupees 25000 is invested at an interest rate 6% per annum.
Find the total after 3 year if the interest is compounded.

i) Semi-annually

ii) Monthly

c) Find the rank of the matrix 
1 2 3

A 3 6 9

4 2 4

− − − 
 =  
 − 

.

d) Let 
0.2 0.2

A
0.1 0.3

 
=  
 

represents the matrix of coefficients for an input-

output model with two industries. Write the equation that determine the

production schedule x in terms of external demand d .

e) Prove that at the break-even point marginal cost is equal to average cost.

f) Solve the following system of equations:

–x + 2y + 2z = 7,

x– 4z = – 14,

2x + 2y – z = 4.

Q3) Attempt any four of the following: [20]

a) Find the maximum and minimum value of the function f (x) = x sin x + cos x
in the interval [0,2].

b) Let S={(q,p) / 2p – 3q = 12} and D={(q,p) / 2p + q = 20} be supply and
demand sets respectively, for a particular market. If an excise tax of
rupees 2 per unit is imposed then find the new equilibrium market price
and quantity.



3[6041]-687

c) The supply and demand functions for a commodity are

qs (p) = 3p – 21500, qD (p) = 8500 – p.

Assume that the supplier operate according to the cobweb model.
Determine the recurrence equation for the sequence p

t
 of prices and find

the explicit solution if p0=7499.

d) The supply function for a good is qs(p) = ap2+bp+c, for some constants
a, b and c. When p = 1, the quantity supplied is 3, when p = 2, the
quantity supplied is 9 and when p = 3, the quantity supplied is 21. determine
the value of constants a,b and c.

e) An amount of rupees 7000 is deposited in a bank account at 5% annual
interest for 10 years. find the value of amount after 10 years.

f) Write a note on elasticity of demand.

Q4) Attempt any two of the following: [20]

a) A factory makes three products X,Y and Z. To Produce $1 worth of X
requires $0.05 worth of X,$0.1 of Y and $ 0.1 of Z. To produce $1 worth
of Y requires $0.4 worth of X and $0.1 of Z. to produce $1 worth of Z
requires $0.1 worth of X and $0.2 of Y. Each week the external demand
for X,Y and Z are $200, $500 and $1500 units respectively. Determine the
total production of each commodity.

b) MK pipes limited is an efficient small firm that can not produce more
that 10 units of its product per week. If their cost function is
C(q) = 800+70q–12q3+q3. Determine their

i) Fixed cost

ii) Profit function.

iii) Startup point

iv) Break-even point.
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c) The market for a commodity is governed by supply set S = {(q,p)/ 2p–3q = 12}
and demand set D={(q,p)/2 p + q =20}. Then determine

i) The equilibrium set

ii) Supply and demand functions

iii) Inverse supply and inverse demand functions.

iv) Sketch supply set S and demand set D.

d) Suppose an investor invests money in three different assets land, bonds
and stocks and three possible states can occur. If the return matrix of the
above investment is

1.05 1.20 1.10

R 1.05 1.05 1.05

0.9 1.05 0.95

 
 =  
 
 

Then show that there is no vector of state prices. Also find an arbitrage
portfolio.


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[6041]-688
T.Y.B.A.

APPLIED STATISTICS (General)
SEC-1D-ST-34176 : Design of Experiments, Non-Parametric Tests and

 Statistical Quality Control
  (2019 CBCS Pattern)  (Semester-VI) (36413)

Time : 2½ Hours] [Max. Marks : 70
Instructions to the candidates:

1) All question are compulsory.
2) Figures to the right indicates full marks.
3) Use of statistical table and calculator is allowed.
4) Symbols and abbreviations have their usual meanings.
5) Graph paper will be provided on request.

P221 [Total No. of Pages : 4

SEAT No. :

Q1) Attempt each of the following:

A) In each of the following cases, choose the correct alternative: [1each]

a) Total degrees of freedom (d.f.) in RBD with 4 treatments and 5
blocks is

i) 4 ii) 5

iii) 20 iv) 19

b) The completely randomised design (CRD) is

i) one-way design ii) two-way design

iii) three-way design iv) four-way design

c) Which of the following test is not a non-parametric test?

i) Sign test ii) t-test

iii) Run test iv) Wilcoxon’s sign rank test

d) Which of the following is a dimension of quality?

i) Hazard rate ii) Process Capability

iii) Control Limits iv) Performance

P.T.O.
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e) If a point is out of control in R-chart then we
i) Take one more sample and recalculate the control limits
ii) Eliminate the out-of-control points and the nearest two points,

and recalculate the control limits
iii) Eliminate the out-of-control points and recalculate the control

limits
iv) Take no action

B) State whether each of the given statement is true of false:
a) The precision of design is directly proportional to the number of

replicates.
b) Sign test is not used to test the equality of two population variances.
c) The p-chart is used for the fraction defectives.
d) In an analysis of variance, the treatment sum of squares is always an

unbiased estimator  of error variance.
e) The chance causes in the manufacturing can be discovered and

corrected.

Q2) Attempt any four of the following: [5 each]
a) Explain in brief the meaning and purpose of statistical quality control.
b) State the hypotheses to be, tested in L.S.D. Obtain the expected value of

the error mean sum of squares in it.
c) Describe the procedure of construction of the c-chart.
d) What is a uniformity trail? Describe its use in the design of experiment.
e) The following is the observed sequence of 8 cold days (C) and 12 warm

days (W), during 20 consecutive days of a winter season at a particular
place. Use α = 0.05 to test the hypothesis that the sequence of days is
random by using run test.
W C W W W W C C W C W C C C W W C W C C

f) Complete the following analysis of the variance table.

Source of Degree of Sum of Mean sum F-

Variation freedom squares of squares ratio
Treatment 4 125 31.25 ?

Block ? 250 62.5 ?

Error 16 ? ?

Total 24 600
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Q3) Attempt any four of the following: [5 each]

a) State and explain at least three real-life situations where quality control
charts are used.

b) Explain chance causes and assignable causes of variations.

c) Explain a non-parametric sign test.

d) Obtain the partition of the total sum of squares and the total degree of
freedom in LSD.

e) Obtain the least square estimates of parameters in CRD.

f) State the hypotheses to be tested in R.B.D. Obtain the expected value of
error mean sum of squares in it.

Q4) Attempt any two of the following:

a) Three varieties of coal were analyzed by taking four samples each. The
ash content (gm/kg) in the varieties was found as: [10]

Varieties Samples

1 2 3 4

A 8 7 6 7

B 7 6 4 5

C 3 6 5 5

Carry out a one-way analysis of variance and test whether the varieties
differ significantly in their ash content at 5% level of significance.

b) The following data indicates the percentage of defectives in a sample of
size 50 taken at equal intervals of a production process: [10]

Sample No. 1 2 3 4 5 6 7 8 9 10

% of defective 0.09 0.11 0.13 0.05 0.14 0.6 0.2 0.12 0.7 0.4

Sample No. 11 12 13 14 15 16 17 18 19 20

% of defective 0.13 0.06 0.18 0.14 0.17 0.14 0.15 0.8 0.10 0.16

Draw the p-chart to check whether the production process is under control.
Suggest the control limits for future use.
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c) The following data indicates the sample mean and range values for 10
subgroups of size 5 items each. [10]

Subgroup No. 1 2 3 4 5 6 7 8 9 10

Average ( )X 18.8 19.2 18.9 19.3 19.1 18.6 10.8 19.2 18.7 19

Range (R) 0.9 1.2 1.6 1 2 1.8 1.7 0.7 2.1 1.9

Set up X  and R-charts, and examine the state of control of the given
process. Comment on your results.

d) i) A heath club advertised a weight-reducing program and claimed that
on average a participant in the program loses his/her weight in 6
months. To  verify the claim 10 participants in the program were
randomly selected. Their weights  before and after the program
were recorded. [7]

Participant No. 1 2 3 4 5 6 7 8 9 10

Weight (in lb)

before joining the

program 123 129 123 116 127 121 129 130 125 123

Weight (in Ib)

after 6 months

from joining the

Program 115 111 109 112 117 110 108 119 112 115

Do the data above support the claim of the health club? (Use 5% level of
significance)

ii) State the advantages of non-parametric tests over parametric tests.[3]


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P222 [Total No. of Pages : 4
SEAT No. :

Q1) Answer any Three of the following questions in 50 words each. [15]

a) Briefly discuss on M.G. Rande’s concept of ‘Liberalism’.

b) How is Ethics related to Social Philosophy?

c) Briefly explain the interrelation between ‘Truth’ and ‘Non-violence’.

d) What are the basic features of Feminism?

e) Explain the notion of Historical materialism.

Q2) Write short notes on any Three of the following. [15]

a) Relation between sociology and social philosophy.

b) Discuss ‘Liberal Feminism’.

c) Concept of Liberty.

d) Relation between politics and political philosophy.

e) M.G. Ranade’s the notion of providence of God.

P.T.O.



2[6041]-689

Q3) Answer any two of the following questions in 200 words each. [20]

a) Explain, Mill’s concepet of Right.

b) Discuss about social democracy according to Dr. B.R. Ambedkar.

c) What is classless society? According to Marx.

d) State, Social Philosophy : A branch of Philosophy.

Q4) Answer any One of the following questions in 400 words. [20]

a) Explain fully, Mahatma Gandhiji’s concept of Satyagraha and give the
kinds of Satyagraha.

b) Discuss fully the nature and scope of Political Philosophy.

… … …



3[6041]-689

Total No. of Questions : 4]

[6041]-689
T.Y.B.A.

PHILOSOPHY - (G3)
CC - 1F : Socio - political philosophy

(2019 Pattern) (CBCS) (Semester - VI) (36423)

(‘amR>r ê$nm§Va)

doi : 2½ Vmg] [ EHy$U JwU : 70
gyMZm …- 1) gd© àíZ gmoS>{dUo Amdí¶H$ Amho.

2) COdrH$S>rb A§H$ nyU© JwU Xe©{dVmV.
3) g§X^m©gmR>r ‘wi B§J«Or àýn{ÌH$m nhmdr.

P222

à.à.à.à.à.1) Imbrbn¡H$s H$moUË¶mhr VrZ àíZm§Mr CÎmao àË¶oH$s 50 eãXm§V {bhm. [15]

A) E‘. Or. amZS>o ¶m§À¶m ‘CXa‘VdmX’ g§H$ënZoMr WmoS>³¶mV MMm© H$am.

~) gm‘m{OH$ VÎdkmZmer Zr{VemñÌ H$em àH$mao g§~§{YV Amho?

H$) ‘gË¶’ Am{U ‘Aqhgm’ ¶m§À¶mVrb Am§Vag§~§Y WmoS>³¶mV ñnîQ> H$am.

S>) órdmXmMr ‘yb ŷV d¡{eï²>¶o H$moUVr?

B) Eo{Vhm{gH$ ^m¡{VH$dmXmMr g§H$ënZm ñnï> H$am.

à.à.à.à.à.2) H$moUË¶mhr VrZ g§{já {Q>nm§Mr CÎmao {bhm. [15]

A) gm‘m{OH$ VÎdkmZ d g‘mOemñÌ ¶mVrb g§~§Y.

~) CXma‘VdmXr órdmX.

H$) ñdmV§Í¶ g§H$ënZm.

S>) amÁ¶emñÌ d amOH$s¶ VÎdkmZ ¶m§À¶mVrb Am§Vag§~§Y.

B>) E‘. Or. amZS>|À¶m X¡dr g§H$ënZoMo ñdén.
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à.à.à.à.à.3) Imbrbn¡H$s H$moUË¶mhr XmoZ àým§Mr CÎmao 200 eãXm§V {bhm. [20]

A) {‘bMr A{YH$ma h¸$ hr g§H$ënZm ñnï> H$am.

~) S>m°. ~r. Ama. Am§~oS>H$am§À¶m gm‘m{OH$ bmoH$emhrMr MMm© H$am.

H$) ‘m³g©À¶m ‘Vo, dJ©{dhrZ g‘mO åhUOo H$m¶?

S>) gm‘m{OH$ VÎdkmZ : VÎdkmZmMr EH$ emIm Amho, ñnï> H$am.

à.à.à.à.à.4) Imbrbn¡H$s H$moUË¶mhr EH$m  àým§Mo CÎma 400 eãXmV§ {bhm. [20]

A) ‘hmË‘m Jm§YrOtMr gË¶mJ«hmMr g§H$ënZm g{dñVa gm§JyZ gË¶mJ«hmMo àH$ma Úm.

~) amOH$s¶ VÎdkmZmMo ñdê$n d ì¶már g{dñVa ñnï> H$am.

… … …
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P223 [Total No. of Pages : 3

SEAT No. :

Q1) Choose the correct alternatives, (any ten) [10]

a) By nature, he is an introvert and speaks very little

i) Sullen ii) Reticent

iii) Shy iv) Gullible

b) The acrobat put up a Masterly show during the circus.

i) Brilliant ii) Cunning

iii) Detailed iv) Joyful

c) We find his behaviour inexplicable

i) sad ii) happy

iii) understandable iv) complicated

d) I hand a dog. It ________ me to the market one day.

i) Follows ii) Followed

iii) Following iv) Had followed

e) Gaurav _________ his lunch when the pilot asked him to fly the plane.

i) have ii) has

iii) had iv) was having

f) The ice was carved __________ (by, with) a sharp knife______

(by, with) the mountaineer.

g) The country is in a highly situation following the army trumph.

i) excited ii) dangerous

iii) protected iv) confused

P.T.O.
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h) The body of words used in a particular language is referred to as its
vocabulary.

i) False ii) True

iii) Mostly true iv) Partly false

i) __________ provides a host of synonyms and antonyms for eah word.

i) Vocabulary ii) Collocations

iii) Thesaurus iv) Dictionary

j) _________ refer to two or more words which usually occur or are used
together.

i) Dictionary ii) Word families

iii) Synonyms iv) Collocations

k) Cultivating the habit of __________ is indispensable for vocabulary
building

i) Listening ii) Speaking

iii) Reading iv) Writing

l) Tejas cannot be a good leader because he is someone who always puts
himself first.

i) egoistical ii) eccentric

iii) exceptional iv) effervescent

m) We are too tired to light the fire

i) see ii) dark

iii) expand iv) extinguish

n) The principal made a terse speech during the morning assembly today

i) lengthy ii) brief

iii) kind iv) precise

Q2) Answer any one of the following in about 150 words. [10]

a) Explain the principle of plagiarism and academic integrity while writing a
research paper.

b) Why is it important to develop one’s skills in writing research proposals?
Draft a format of research proposal in detail.



3[6041]-690

Q3) Answer any three of the following in about 100 words. [15]

a) Explain the commercial value of content writing.

b) list out of the strategies for writing impactful online articles.

c) What are the effective strategies for web content writing.

d) Discuss any five techniques for writing effective social media posts.

Q4) Answer any three of the following in about 100 words. [15]

a) Describe the various categories of ad copies with examples of your own.

b) Sum up the strategies for writing effective newspaper ads.

c) Describe the differences between radio and TV. ads.

d) Explain the unique advantages of internet ads over other forms of
advertising

Q5) Attempt any five of the following: [20]

a) Write a blog post on ‘corruption’ in about 100 words.

b) Describe your daily routine

c) Prepare a humorous advertisement on Facebook regarding ‘Road safety’

d) Use humour to convert the following statements into attractive taglines.

i) We offer trouble free wedding planning.

ii) Our dresses will make you stand out every where.

e) Prepare a one line humorous tagline for a sanitizer. Use a personal tone.

f) Prepare an ad copy in 2 to 3 lines for a video game in a personal tone.

g) Design classified newspaper ad for the following situation. You are Mr.
Gaurav Abuja, Assistant Human resources manager at Hotel Lemeridian,
Pune, your hotel needs a female receptionist at its pune branch. Draft an
advertisement for the same in 50-60 words.

h) Deign TV ads for the following

A home bakerg which supplies a wide variety of customised cakes for all
occasions. orders can be placed online and customer preference are taken
care of perfectly.


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P224 [Total No. of Pages : 2
SEAT No. :

Q1) Write short notes on any three of the following. [12]
a) Meaning of book review.
b) Nature and forpose of book review.
c) Characteristics of book review.
d) Types of review.
e) Difference between review and critical analysis.

Q2) Write a book review on the book you have recently read. [8]

Q3) A) Write short notes on any three of the following. [12]
a) Translation as a skill.
b) Need and importance of translation.
c) Characteristics of good translation.
d) Translator as a career.
e) Qualities of good translator.

B) Translate the given news item in English. [8]

P.T.O.
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Q4) A)  Give Marathi/Hindi words for the following words (any five). [5]
a) Observatory b) Principal
c) Vice - Chancellor d) Cashier
e) University f) Dictionary
g) Tender h) Circular
i) Exchange j) Judgement

B) Translate the following passage in Marathi/Hindi we feel very hot in
summer. The sun shines brightly and the temperature is high. And then
suddenly, there are clouds in the sky and it starls raining - not just water
but even small balls of ice we say it has started hailing. The small balls of
ice are called hailstones. Why does it hail in the hot summer season?
As we move up from the land, the temperature begins to fall. Up in the
sky, it is very cold even in the hot season. There fore, the water particles
in the cloud turn into little bits of ice. [5]

Q5) A) write short notes on any three of the following. [12]
a) Short film and documentary
b) Cinematography
c) Elements of short films
d) Dialogues in films
e) Make up and costumes in films

B) Write a short review in about 200 words of any adventure movies that
you have watched. [8]


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[6041]-693
T.Y. B.A. (Semester - VI)

MUSIC
amJ g§JrV Jm¶Z

(2019 Pattern) (CBCS) (36214)
(¶m g§MmVrb amJg§JrV Jm¶Z, V~bm ¶m n¡H$s Vw‘À¶m {df¶mMr H$moUVrhr EH$ àíZn{ÌH$m

gmoS>dm)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) ghmn¡H$s H$moUVohr nmM àíZ gmoS>dm.

2) gd© àíZm§Zm àË¶oH$s 5 ¶mà‘mUo g‘mZ JwU.
3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-3915

àíZ 1) amJolr amJmÀ¶m ‘Ü¶b¶ ~§{XerMo ñdaboIZ H$am AWdm amJolr amJmMr ‘m{hVr {bhm. [5]

àíZ 2) Xa~mar H$mZS>m amJmMr {dñV¥V emómoº$ ‘m{hVr {bhm. [5]

àíZ 3) Imbrbn¡H$s H$moUË¶mhr EH$m VmbmMm ‘m{hVrgh R>oH$m {bhm. [5]
i) Mm¡Vmb

ii) AÕm{ÌVmb

iii) EH$Vmb

àíZ 4) ì¶m»¶m {bhm. [5]
i) Am¡S>dOmVr

ii) fmS>dOmVr

iii) g§nyU©OmVr

iv) Amamoh

v) nH$S>
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àíZ 5) M[aÌ {bhm. (H$moUVohr EH$) [5]
i) CñVmX AãXþb H$ar‘ Im§
ii) n§. {edHw$‘ma e‘m©
iii) ~¡Oy ~mdam

àíZ 6) {Z~§Y {bhm. (H$moUVmhr EH$) [5]
i) ‘¡{’$b gmXarH$aUmMo V§Ì

ii) g§JrVJ«§Wm§Mo ‘hÎd

iii) H§$R>gmYZoMo ‘hÎd





Total No. of Questions : 6]
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T.Y. B.A. (Semester - VI)

MUSIC
 V~bm

(2019 Pattern) (CBCS) (36214)
(¶m g§MmVrb amJg§JrV Jm¶Z, V~bm ¶m n¡H$s Vw‘À¶m {df¶mMr H$moUVrhr EH$ àíZn{ÌH$m

gmoS>dm)

doi : 2 Vmg]                      [EHy$U JwU : 25
gyMZm : 1) ghmn¡H$s H$moUVohr nmM àíZ gmoS>dm.

2) gd© àíZm§Zm àË¶oH$s 5 ¶mà‘mUo g‘mZ JwU.
3) COdrH$S>rb A§H$ JwU Xe©{dVmV.

PA-3915

àíZ 1) MH«$Xma{df¶r {bhm. [5]

àíZ 2) Imbrbn¡H$s H$moUË¶mhr EH$m VmbmMm ‘m{hVrgh R>oH$m {bhm. [5]

i) {ÌVmb

ii) Pw‘am

iii) Mm¡Vmb

àíZ 3) V~ë¶mVrb à‘wI KamÊ¶m~m~V {bhm. [5]

àíZ 4) amJg§JrVm{df¶r {bhm. [5]

3 P.T.O.
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àíZ 5) {Z~§Y {bhm (H$moUVmhr EH$) [5]

i) bmoH$g§JrV

ii) gwJ‘g§JrV

iii) {Xëbr~mO

àíZ 6) OrdZM[aÌ {bhm (H$moUVohr EH$) [5]

i) CñVmX PmH$sa hþg¡Z

ii) Ah‘XOmZ {WaH$dm

iii) CñVmX {~pñ‘„m ImZ


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